KEEXR () —HEI- CeoD
A T K% PRI W% T ST 64E (20044E)
i) oLl i | oose | sz L azes s/as ) 615 ) 176 | 873 | 9714 110719 1128 | 12/9 IRk Sl SRas il
T LW & | & | B M| & | & | & | & | | &
FARE wear 1 9236 | 9:98 | 9:24 [ 9:87 [ 110 9015 [ 9:65 [ 8:34 [ 0:02 [ 9:20 [ 9:39 [ 9:10
Ik m | 3.78]3.65]3.66]3.54]3.50[379/[3.62]3.38]3.64]872]879]3.55
AR m | 0.50 ] 0.50 | 0.50 | 0.50 | 0.50] 0.50 | 0.50 | 0.50 [ 0.50 ] 0.50]0.50 [ 0.50
& M C {56 [ 46 | 72 | 14.5 231 [ 28.6 | 81.5 (31,6275 [ 17.8 | 18.6 | [1.2
K OH © | 6.9 |62 7o |t 4204250 w7883 100788 5.2 |17
L1 B | ROE | B | Y | BIRAE | WEN | kB | IREE | ReE i&m‘éiﬁ‘« WHEE | WEO%
R K (B st | R [oyese] MR | e (gghst] Mt | s [ Jes | feR [wous SR
IR en | 16.8 ] 12.6 12,0 156.4 ] 6.5 [ 14.0] 11,4101 [ 155 | 19.4 [ 24.5 | 14.4
B m [ 0.38]034]0.3370.37]030]0.38[0.32]0.27]0.64]0.62[0.49]0.40]0.64 | 0.27 | 0.40
KB 18 18 117 18 19 18 17 18 18 16 17 17
pH ‘ 767 | .78 | 7.81 | 8.86 | 7.99 | 7.92 | 773 | 7.45 [ 8.10 | 7.64 | 7.63 [ 7.70 [ 8.86 | 7.45 | 7.85
DO me/l [ 10.65|11.59 | 10.48(10.05[10.37]10.17] 7.86 | 7.15 [11.80[ 8.71 [ 10.54 [10.52{ [1.80 | 7.15 | 9.99
BOD wg/l | 1.68 | 1.86 | 1.78 | 3.17 | 3.37 | 4.79 | 2.69 | .56 [ 2.21 [ 10| 2. 04 [ 2. 98 [ 4.79 | 1.10 | 2.42
CODy, me/l | 6.42 | 6.86 | 7.09 | 7.72 | 8.03 | 7.59.] 7.94 | 7.42 [ 8.15 | 6.27 | 5.81 [ 4.72 [ 8.15 [ 4.72 | 7.00
D - CODy, we/l | 3,87 | 4.77 | 3.52 | 4.28 [ 4,91 [ 4.70 | 4.93 | 5.68 [ 6.09 | 4.97 [ 3.54 [ 3.38 [ 6.00 | 3.38 | 4.55
P CODy, ng/l | 2.60 | 209 | 3,57 | 3.44 | 3.12 | 2.89 | 3,01 | 1.74 | 2.06 | 1.30 | 2.27 | 1.34 ] 3.57 | 1.30 | 2.45
CODg, g/ — - - - - - - |- — - - - - — —
" D-CODg, g/} — - — - - — — — — - — — — — —
$S me/l | 25.6 | 26,5 | 37.0 | 26.5 | 42.0 | 25.5 | 48.5 [-46.0 | 27.0 [ 19.0 | 19.5 [ 25.0 | 46.0 | 19.0 | 30.3
KIS B S0 | 3. 3E121 . 3542 | 4. OR¥2] 4. R4 | 1. TB42] 3. 30+3( 7. 9B+2| . 3E+3] 4. BH( L. 7B43] 7. UB42| 2, 3E+3| 3. 3EH3 | 1. T2 | 1. OB+
RUERBEEE | m00a |3, 0810(2. 084 <t |2 omt0|4. 08404, oB+0[ 1. 1EHI] 8. 0B+ [ 7. 0ut0]6. 0E+0| 5, 0B+0] 8. 08+ | <1 | 1.0B+#L
BRg N we/t | 124 ] 1,09 | 105 ] 0.94[0.89 | 1.14]0.84 ] (o1 ] 0.8 | 110 [1.79]1.63]1.79[08,]113
wY 2 (1P) we/1 | 0,072 0. 117 0. 129]0.097[0.127]0.104[0.119]0.127[0.103 {0,085 [0.077 | 0.083[0.129 | 0.072 | 0.103
g (2n) g/ — — — 00037 — [o.007] — Jo.007| = lo.017] — ]0.007{0.017]0.003 | 0.008
T AR (L, -0 | mg/l | 0,02 | 0,02 | 0,03 | 0.020.03]0.04]0.03]0.06]0,02[0.04F 001 |0.02] 006|001 | 003
TR EER (0,0 | ne/1 0,012 (0,000 0,006 0.007[0.009[0.058]0.004]0.006]0,002[0.020]0.030]0.016 0,058 0,002 ]|0.015
TRWER 0,0 | wg/l | 0.65 | 0.46 | 0.41 | 0.08 [ 0.06 [ 0.27 ] 0.18 | 0.53 1 0,00 { 0.66 | L.46 | 1.14 | 1.46 | 0.00 | 0.49
SR Cm) we/t | 0,68 | 0.49 | 0.45 [ 0.11 [ o.10 [ 0.87 [0.20 | 0.60 ] 0.02 | 0.72[1.60 | 1.18] 1.50 | 0.02 | 0,54
AIBRE () ng/l | 0.57 | 0.61 | 0.61 | 0.82 [ 0.80 | 0.77 | 0.62 | 0.44 | 0.78 [ 0.40 | 0.29 | 0.45 | 0.82 | 0.29 | 0,60
W ERmE e 0| me/l | 0.30 | 0,35 | 0.31 | 0.30 ] 0.28 [ 0.36 [ 0.86 | 0.34 | 0.52 | 0.39 | 0.25 | 0.26 | 0.52 ] 0.25 | 0.34
rwammascr-on | me/l | 0.27 | 0.26 | 6.30 [ 0.50 [ 0.52 [ 0.41 ] 0.26 [ 0.10 [ 0.26 | 0.01 [ 0.04 | 6.19] 0.52 | 0.01 | 0.26
wAtkmaen (o™ | g/l | 0,98 | 0.84 | 0.76 | 0.42 [ 0.38 | 0.73 | 0.57 ] 0.94 | 0.54 | 1,11 | 1.76 | 1.44 | 1.75 | 0.48 | 0.87
B (M we/l | LL25 | 110 | 1.06 | 0.93 | 0.90 | 1.14 ] 0.83 | 1.04 [ 0.80 | 1,12 | L.79 | }.63 | 1.79 ) 0.80 | 1.13
AR (00,-P) | ng/1 | 0,063 0.082[0.086[0.05970.082]0.071]0.106]0.113]0,051 |0.054 0,044 (0.066]0,113]0,044 | 0.074
e 00,00 | ng/1 | 0.010]0.012]0.0130.003[0.008|0.006]0.026)0.048 | 0.008 | 0.025[0.005|0.005]0.048 | 0.003 | 0,014
TRy 0 -1 | me/l | 0.009|0.025 | 0.037]0.009]0.025]0.026 | 0.0400.050 [ 0.019]0.083|0.021 [0.016[0.050 | 0.016 | 0.028
WY e ) | me/l 0,053 ]0.002 0,092 ]0.078]0.102]0.078 [0.0790.077[0.084 | 0.052 |0.056 | 0.0670.102 | 0.052 | 0.076
BB (D w/l | 12,8 | 14,9 | 14.8 | 13.9 [ 13.4 [ (5.5 15,0 [ 149 | 18.8 [ 8.1 [ 18.9 [ 12,9 15.5 | 12.8 [ 13.9
ATRSRBE (T00) w/t | 5.1 | 55 | 5.7 | 6.1 | 4.9 ] 6.0 | 6.1 | 6.7 [ 6.8 [ 51 | 45| 42 63| 42 | 54
BB 010 we/l | 17.9 | 19.4 ] 20.0 | 19.0 | 18,3 | 21,5 | 20.1 [ 20.6 [ 19.6 | 18.2 [ 18.4 | 170 [ 21.5 | 17.1 | 19.3
wEAeEo 0] ne/t | 3.3 | 3.9 | 3.0 | .1 | &1 | 4.0 [ 3.9 ] 43 [ 49 40 2.8 | 3.0 49 ] 2.8 | 3.6
wortgagRe 0| ng/) | 1 1.6 | 2.6 | 20 | gl zofla2lal a4 Ll L7 L2 26 [ 11| LT
) we/l | 0.14 1 0.12 | 0.26 | 0.12 | 0.11 | 0.11 [ 0.04 [ 0.17 [ 0.09 | 0.05 [ 0.18 | 0.09 [ 0.26 [ 0.04 | 0.12
Yoy v@-um | we/d | 0.00 | 0.00 | .01 [0.009]0.010(0.005|0.005]0.004]0.0030.0050.008|0.004|0.0100.003(0.010
8 (Fe) w1 | 1.04 | 1,00 | 1.54 | 0.86 | .20 | 1.11 | £.49 [ 1.40 ] 0.32 ] 0.61 | 0.56 | 1.18 | [.54 | 0.82 | 1.03
) ne/l | 0.03 | 0.04 | 0.05 |0,056]0.077[0.059 |0.053[0.062]0.030]0.083]6.034]0.043[0.077 [0.030 | 0. 050
Bl e | 20,31 95.7 | 31.8 | 26.3 | 38,2 [ 2.7 877382 [ 188 | 16.9 | 17.9|26.2]38.2 | 169 | 27.2
HHS (20°C) wS/m | 27,2 | 28.6 | 29.5 | 28.7 | 29.7 | 28.2 | 30.6 [ 27.6 | 29.9 [ 25.3 [ 18.6 | 22.2 | 30.6 | 18.6 | 27.2
) me/1 | 19.1 ] 20.6 | 20.3 | 172 | 2d.7 [ 14,8 [ 172 [ 19.2 | 19.5 | 19.6 | 14.9 | 15.4 | 24.7 [ 14.8 | 18.5
2O ne | ug) | 1,92 1 7.05 | 8.97 | 6.67 | 7.57 | 7.94 | 8.03 | 8.08 | .74 | 6.49 |1 4.20 | 5.00) 8.3 |4.20 | 7.11
t PHASTAAUE | me/l | 41,1 | 53.0 | 53.5 | 62.0 | 53,6 | 53.9 | 53.8 | 54.9 | 62.8 | 47.9 | 48.3 | 48.3 | 62.8 | 4).1 [ 51.9
P HY, 0 w1 | 6.73 | 4.75 | 5,95 | 5.60 | 6.56 | 9.04 | 7.92 | 9.92 | 7.06 | 8.42 | 7.83 [-6.82 | 9.92 | 4.75 | 7. 13
pHLOZ VA UK ng/1 — — — — — — — — — — — - — - -
BT A (0,°7) | me/l | 34,8 | 35.8 | 36.8 | 36.8 [ 98.1 [ 36,4 | 87,0 [ 37,3 | 34.6 [ 30.1 [ 24.2 | 27.9 | 48.1 | 24.2 | 44.1
et 440 | /) | 909 1 35.6 | 49.5 [ 35.5 | 35.1 [ 93.4 1 86.2 | 37.3 | 44.6 | 29.9 | 15,9 | 21,9 | 44.6 | 6.9 | 32.9
F YDA N wg/l | 269 | 23.2 ] 27.7 | 28.9 | 20.( | 27.2 [ 32.2 | 32.5 | 4.9 | 23.2 | 115 | 17.5 | 44.9 | 11.56 | 2.1
AR we/l | 5.32 | 4.91 | 4.99 | 9.48 | 5,85 [ 5.05 | 6.03 | 6.19 | 6.27 | 4.82 | 3.80 | 4.36 [ 9.48 | 3.80 | 6.55
BoUA 510 | ne/l | 318 | 20.7 | 84.8 | 16.8 | 30.1 | 25.7 [ 28.5 [ 30.2 | 16.6 | 18.1 | 22.2 | 24.8 | 34.8 | 18,1 | 24.7
L we/1 |19, 11 19,41 | 16,53 |11.92 [ 10,13 [13.01 [14. 78 [17. 70| 3.41 | 6.04 |12.8210.12[19.41 | .41 |12.92
s @hi-n | /L | 33.9 | 1.1 | 30.5 | 106.8] 83.3 | 26.8 | 42.0 | 21.3 [88.4 | 19.3 [ 35.4 | 74.1 | 106.8 ] 19.3 | 49.4
s @i» | e/l | 3.7 | L9 | 3.0 | 106 5.2 [ 0.0 [ 45 [ 43 94| 1938072 [106] 00| 1.6
amiie @) | e/L | 6.4 | 6.4 | 3.8 | 10.4| h.3 | 41 | 6.6 | 4.0 |80.1 [ 7.3 | 7.4 [27,0]30.1 | 3.8 | 10.0
Sadviry | e/l | 6.1 | 3.6 .6 | 5.9 | 2.0 [ 1.2 [M0.5 | 17.4 | 16,8 5.5 | 890 | 17.0(2al.b | 1.2 | 9.7
o owEEn | se/t | 0,00 1 0,02 | 0.02 ] 0.02 [0.01 [ 06.0110.00]002]002]002]0.62]0.01]0.02]0.01]|002
{ihg"’k:;: EloERROAHN I LD RD &, 3. P-ON=(ON)—(D-ON) 6. P-TP=(TP)~(D-TP)
LP-COD=(COD)—(D-COD) 4LD-TN=({I N)+(D-ON) TLTC=(1C)+(TOC)
2, I N=(NH4A-N)+ (NO2-N) + (NO3-N) § TN=(IN)+(ON) 3. P-OC={({TOC)—(D-0C)




KEAER (1) - (o)

R iR p AR R w4 Byl SEAR 164 (20044F)

TH Boloag e oo | osz2 L azes s/ L e/1s | 176 [ 8/3 L o/14 11019 ) 1179 | 12/8 VORI (R il Syl
2-MIB ng/ | 0 0 0 3 6 .1 0 0 24 4 i} 0 3 24 0 3
SHRI Y ng/ 1 | 0 0 0 1 0 0 1 10 1 | 5 10 0 2

momERe | wg/l | — - — — — - — — — ~ — — — - —

pongbaERRee | we/l | - | — | — | = | = | = | = | = | = | - | - | =1 1] -

~,

ok vy A A R I I A I O I T e e e ) RN st M

yuospnoptaig| me/l |~ | — | = | = | = | = | = | = | = | =] - | =-1]= - | -

<

7 mehpApREE | e/l —

AR (TN) LI mg/l | .24 | 1,09

1.
g (T YUE me/l ] 123 | 110 | L.
BRI FI me/l 119 11,09 ] 1

BY > e LE me/) [0.072]0.1170,129(0.087]0.127[0.104]0.119[0.127}0.103 |0.085)0.077 [0.083]0.129 | 0.072 {0.103

#Y R g we/L ] 0.066]0.103]0.181]0.099 |0.133]0.094(0.123]0.127]0.105]0.100)0.085|0.102]0.133]0.066 |0.106

8P FRE wg/1 [0.066]0,108(0,136]0.103/0.131]0.0910.123]0.127]0.113]0.106|0.089 |0.090|0.136 | 0. 066 | 0. 107

COD.LE me/l | 6.42 [ 6.86 | 7.00]7.72 (803769794742 |815]6.27[56.81 [4.72 3815 )4.72 | 7.00
CODMF me/l | 6.12]6.90 17,50 | 718 | 7.26 ] 6.52 (817 7.56 (819 ]6.92|4.84|6.95] 819 | 4.84 | .82
CODTFH ng/ 5.60 ] 7.21 | 6.84 | 7.17 | 7.42 | 7.38 | 7.48 | 7.01 | 8.35 | 6.61 | 6.07 | 6.28 | 8385 | 5.07 | 6.83
il Kk T - — - — — - — — — — — -
i .C 7.0 5.2 7.9 | 17.4 | 19.6 | 28.1 | 25.8 |-28.5 | 25.6 | 17.8 | 17.6 | 10.7
0. hin T 6.9 5.2 7.9 | 17.4 | 19.6 | 23.0 1 25.7 | 28.3 | 25.5 | 17.83 | 17.0 | 10.7
1.0m T h.7 6.2 7.8 [ 17.4 [ 19.6 | 22.8 | 26.7 | 28.2 | 25,4 | 17.3 | 16.8 | 10.7
2,0m T 6.6 5.2 7.7 117,41 19.6 | 225 | 25.6 | 28.1 ] 2.8 ]17.3]16.7]10.7
3.0m T f. 6 5.2 7.7 [17.4 [ 19.7 | 22.5 | 25.6 | 281 | 2.3 [ 17.83 | 16.7 [ 10.7
4. 0m T — — — — — — — — — — — —
5.0m c | - | - | | =] -1 -1-1T-T-1=-1-1=
6, 0m T — — — — — — — — — — — —
Jidii] T f. b 5.2 7.7 | 174 119.7 [ 22.3 | 25.6 | 28,1 | 25.8 178 | 16.7 | 10.7
*Db0O kb | wg/l — — — — — — — — — — — —
i me/1 | 11,2 10,6 | 11.1 | 9.6 9.4 9.6 7.9 7.0 | 11.6 | 88 [l0.6 [ 10.9
0.hbm me/l | IL3 1006 ] 112 ] 9.6 9.4 9.6 7.9 6.9 | 1.5 | &9 | 10.3] 10.8
1. 0m we/1 | 11,8 ] 10.6 [ 1.1 | 9.6 9.5 8.9 1.7 6.9 | 10.7 | 8.9 | 10.1.] 10.8
2.0m mg/1 | 11.2 ] 10.4 | 10.9 ] 9.5 9.5 8.6 | 7.5 6.9 | 10.5] 89 |10.0 ] 10.7
3. 0m mg/l | 11.2 ] 10.4 [10.9] 9.4 9.6 8.5 7.5 6.9 | 10.6 | 8.8 9.9 .5
4. lm mg/ 1 — — — — — — - — — — = —
5. 0m mg/l | — = — - - — — — — — — — ]
6. 0m g/ | — — —~ - - — — — — — - —
e} e/l | L1 | 10,6 | 10.6 {1 9.1 9. 6§ 8.4 7.4 6.8 | 10,4 ] &7 9.9 10.5
RPUEEE KL Lux | 54600 | 74300 | 23440 | 23830 | 63400 | 91300 | 32500 | 68100 | 58500 | 8550 | 78800 | 11520
il Tux ] 26700 | 9900 | 14580 | 10710 [ 26700 | 58400 | 19010 | 56100 [ 43700 | 4660 | 38800 | 7250
.5m Lux .| 5600 | 5470 | 1333 | 1995 | 3870 | 8850 | 1368 | 3070 | 9780 | 880 10810"| 559
[.0m Lux 672 05 76 231 682 872 140 75 993 258 | 2082 | 143
2.0m Lux 18 ] 0 2 23 10 ] 1 fi2 13 101 5
3.0m Ly | 0 - 0 1 0 0 ] 3 1 f 2
4. (im Lux — — — — — — — — — — — —
5. 0m Lux — - — — — — — — - — — —
6. 0m w | = | = - | - -1 =-1=1=]1-1T=-1T=1=
T | = -] -1 -1 -] -1 -—[=""=-1T=-"T-1+=

KERWLOR P nY 172 | 180 | 140 | 139 | 185 | 198 | 106 | 196 | 142 | 191 13] 243

iz £ DOWD Otz & 2 iR R




KEEE (D) —KEMN-  (Fol)

4 A KA % FEN Uil B i SERRLG4E (20044E)
17 Bo| B | 16 | 2/6 | 3/2 | 4/28 | 5/13 [ 6715 | 7/6 | 8/3 | 9714 [ 10719 | 11/9 | 1270 |doAcqil| st/ | s
KR i i & 4 & | 4 & & ) U B
Bk Mg | 9004 ] 9:19 ] 9:07 | 9:22 | 8:56 | 9:03 | 9:84 | 8:15 | 841 [ 9:04 | 9:16 | 8:52
RKIER m | 6.02)6.00 | 57658 5655925095549 5.75|5.94]5.79]5.99
Ok m 0.50 [ 0.50 | 0.50 | 0.50 ] 0.50 | 0.50 [ 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50
g om i 5.3 | 4.4 | 8.8 [ 14.2 | 231 | 25,9 | 298|289 |21 |19 187 (1.5
KoO#E T 6.3 | 4.8 | 7.6 | 1741 ]19.2 1230|258 286|265 174171 |1L.2] 286 4.8 | 17.1
% i3 HOE | RGEH | SomE| sen | wam | smm | ook | s | moas | s | ReuE | aew
B8 (R0 JESL | MELL | Ml | dell | SR |mowr| SEBL | AER | geEl | 4L [mpun| dng
BT cm 20,2 1 14.2 | 13.8 ] 165.8 | 18,0 | 16.8 ] 10.4 | 11.6 | 19.2 | 17.4 | 26.5 | 15.2
B m 0.45 | 0.36 | 0.36 | 0.39 | 0.42 [ 0.54 | 0.24 | 0.35 ] 0.74 | 0,50 | 0.57 | 0.46 | 0.74 [.0.24 | 0.45
K : 18 18 17 18 18 18 17 17 17 16 17 17
pH 7,73 | 7.75 | 7.82 | 8.83 [ 7.87 | 816 | 7.79 | 7.88 | 8.16 | 7.51 [ 7.59 | 8. 07 ] 8.83 | 7.51 | 7.93
DO mg/l {1105 (12,10 [10.83] 9.52 | 8.63 [10.28| 7.42 | 6,58 |10.23| 8.29 [10.83]10.69]12.11] 6.58 | 9.71
BOD o omg/l | 141 | 143 | 1.44 ) 3.04 | 2.56 | 4.81 | 2.65 [ 1.06 [ 1.6 | 1.40 | 2,13 | 2.72 ] 4.81 | 1.06 | 2.21
CODyy me/t | 5.92 ] 6.90 | 7.09 [ 7.07 [ 6.91 | 7.69 [ 8.0l |679|7.64 (6.7 |5776.8]8.00 |577]6.94
D+ CODy, mg/1 — - — — — — - — — — - — - — —
P CODy, me/1 - - — — — - - - — — — — — - —
CODg, ng/ — — - | = — — — - — — - — — -~ —
D-COD¢, g/ — - - - - — — - - - — — = - -
SS w1 18,6 | 24.5 | 37.5 | 27.0.] 22.0 | 19.0 | 56.0 | 24,5 | 17.5 | 16.5 | 15.5 | 27.0 | 56.0 | 15.5 | 25.5

AU HITRIC w/to0st | 4, 9842 4. 9B+2( 2, 3B42)4. 9B+2| 7. 9B+41| 3. 3B+2| 3. 3B+3| 4. 9E+2| 7. 9E+2[ 1. 3B43| L. TB43| 4. OB+2| 3. 3843 | 7. 9E 11 [ 8. 5E+2
SRR | wam [ [ LIEH L OBHO) LOBS0] <1 4. 0BH0|8. OBH0| 1. 9B+E[ <L |2, 7EH1| 8. OB+0|2. OB+0] 2. 7841 <L | 6. 3R+

BRI TH) ng/l | 0.94.] 1,02 | 1.26 | 0.87 | 0.76 [ 0.84. [ 0.93 | 0.97 ) 0.83 [ 1.28 [ 1.29 | 1.37 ] 1.37 | 0.76 | 1.03
8 ap) e/} [0.066]0.108 |0.131]0.1070.108[0.095|0.142 0. 114 [0.094 [0.108]0.076 0. 108]0.142 ] 0.066 [ 0.105
HES (2n) g/ — - — c— — — — L — — — — — — — —

TAAYMBRER (BH,-N) | mg/) | 0,02 | 0.02 | 0,04 ] 0.04 [ 0.04 ] 0.03]0.04]0.03]0.02]0.06]0.00]0.02]0.05 | 0.00]| 0.08
HOHREBRER (80,8 | mg/1 10,005 |0.007]0.007|0.005[0.002)0.016]0.005)0.006|0.003[0.041]0.016|0.010]0.041 |0.002]0,010
RIRABSER N0 | me/l 7| 0,38 ] 0.38 ] 0.61 [ 0.03 | 0.02]0.07]0.21 | 0.49 ] 0.03 | 0.5 | 0.84 | 0.75 | 0.84 [ 0.02 | 0.37
gk ¢m) mg/L | 0.41 | 0.41 [ 0.66 | 0.08 | 0.06 ] 0.12]0.26(0.53]0.05{0.740.86]0.78] 0.86 | 0.05 | 0.41
TSR o8 ne/t [ 0.64 | 0.61]0.62)0,79|0.71]0.72]0,67]0.45|0.78]0.47 | 0.42 | 0.60 ] 0.79 | 0.42 | 0.61

HAREAIRMRED - )| ng/) — — — — — =
ST REesEr o | ng/l —_ - - -
MRS - ™) | ng/l — — — - — — — — _ _ — _
CEBRR (Y me/l [ 0,94 1.02 ) 1.28 ) 0.87|0.77]0.84]0.93 |0.98 0.8 | 1.21 | 1.28|1.38 [ 1.38 | 0.77 | 1.03
ARMIVRIBY (P0,-P) | mg/l ] 0.045)0.071(0.078 (0,067 ]0.0570.0650.139[0.104[0.0420.074[0.082 5710.138 | 0.032 | 0.068

0. 057
At a0 20,-n | ng/t [0.006 [0.010 0,011 [0.003|0.005[0.006[0.032]0.048 |0.010|0.034 |0.003|0.005]0.048 | 0.003 | 0,014

Ve @) | e/l — — — — — — — — _ _
BTHBY > r-1m | ng/l — — — —

FARIRBGR (D) w/l | 144 [ 145 ) 1405 [ 8.1 [ 14.4 [ 16,0 | 15,2 | [4.6 | 18.6 | 180 [ 138 [ 131 [ 16.2 | 131 | 4.1
ATHBLEGH (T0C) mg/l | 5.4 [ 6.2 | 6.7 | 61 | 47 1 59 | 6.2 |54 60154 ]|4.7|564]62] 4755

BRFR(TO) mg/l | 19.8 [ 20.7 [ 20.2 | 18.2 | 19.1 20,9 21.4120.0 | 19.6 | 185 ] 18.0 | 18.5] 21.4 | 18.0 | 19.6

PHRIEARGE O - 00) | my/) — — = — — —_ - — — — — — _

WEFAT R 00 | ne/l - - - - —- - — - - - = - - - —
wego F) | wh | — | - | = [ = | - | - | =1 =1 -1 -"T-"71+-=1H-= T =
VR 0 M | wg/l | — — — — — — = = = = - — = - -
8 (Fe) m/l [ = - - - - - - ~ - - | = - — — -
N () ng/| — — — — - ~ — — — — — — — — —

S we | 16,2 (92,1 [ 28.8 | 26,3 | 21.2 | 23.2 | 44.0 | 26.4 [ 4.3 | 16.8 | 14.1 | 25,7 ] 44.0 | 14.1 | 23.2

WEH (20T n/m | 28,0 | 28,8 | 29.7 | 28.9 | 29.7 | 28.7 | 30.6 | 27.4 | 80.0 | 24.5 | 22.0-| 22.5 | 80.6 | 22.0 | 27.6
AN L (Ca) ng/1 —_ — - | = — — —_ —_ — —_ —_ —_ — —

RS2 RN ng/1 — — — - - - — —
wHA ¥ L) e mg/t | 54.1 | 53.5 | 84.5 | 53.2 | 52.4 | 61.1 | B3.4 | 56.9 | 59.9 | 46.5 | 47.7 | 42.2 | 59.9 | 42.2 | H2.1
P HY, O e mg/ ) 6.73 ] 3.96 | 6,34 | 4.00 | 5.95 | 8.42 | 8,12 | 9.73 | 4.90 | 5.41 | 6.42 | 4.34 ] 9.78 | 3.96 | 6. 19
pHY0F HY) e ng/) — - - - C = — - —
Rt A2 50,27 | me/l — - — — — )
{1 A2 ) g/l | 411 | 36.0 | 30,5 | 37.0 | 46.0 [ 43,7 38.5 | 38,1 [ 43.6 | 29.4 | 28.8 | 24.4 | 46.0 | 23.8 | 36.8
FhU AN ng/1 — - — — - —

F1) 2 A (K) g/} — — — - - — — — —
BIUHT S0, | m - - - — — — — - -~ — — — — — -
Hta U A ng/1 — - — — — — - - - - - i — -
hurgk-z (Chl-a) w/ L] 83,8 | 34.6 | 46.6 | 98.6 | 52.2 | 24.6 | 34.7 | 26.5 | 71.4 | 18.8 | 39.6 | 8.8 | 98.6 | 18.8 | 45.8
e2bi-b (Chl=b) pe/ L 2.6 3.0 3.9 | 12,3 2.3 0.4 3.6 3.2 1.5 5.7 2.1 4,4 12.2 | 0.4 3.7
snh-¢ (Chl-c) nell 5.9 5.0 5.7 | 16.9 | 21.3 | 2.1 2.4 6.2 | 12,9 | 25,3 | 6.7 [ 12.5] 25.3 2.1 10. 2
TJed 74 F ne/1]-4.9 4,9 7.4 7.7 15,2 3.9 [ 13.2 [ 15.8 ] 6.9 | 12.1 | 8.2 9.6 | 15.8 | 3.9 9.1
B A el | ne/l — — — — - - — — — - - o - - -
R ES HIONMBIREROHTIZ I DR, 3, P-ON=(ON)~ (D-ON) 6. P-TP=(TP)—(D-TP)
ILP-COD=(COD)~(D-COD) 4. D-TN=(IN)+(D-ON) L.TC=(ICy+(TOC)

2. I N={(NH4-N) + (NOZ-N) + {(NO3-N) 5 TN=(IN)4 (ON) 8. P-0OC=(TOC)—(D-0L)




KEAER (D) —KEW— (20D

AT 45 A KEL FUE Pk # o i SRR 1 64 (20044F)

X BB | 16 | a6 | s/2 | 4228 | A/13 | 6215 | 1/6 | 878 | 9/1d | 10719 1179 | 1279 || S| S
2~M1RB ng/ 1 0 0 0 2 5 0 0 [} 4 0 0 5 6 0 2
Uk AT ng/ 1 0 | 0 0 0 0 ] 0 0 3 | 0 3 3 0 1

FUIT PR P2 mg/1 10.04710.041 10,060 (0,063 [0.069]0.074|0.089|0.096]0.070|0.063|0.055|0.055]0.096 | 0.041 | 0.064

yonhAERRRE | me/) | 0.019 [ 0.006 [ 0.025 [0.031 0,032 | 0,049 [0.049 | 0.047 | 0.033 [0.031]0.030]0.027|0.043 | 0.016 | 0.032

v ey doudyoaaak| me/l (0,018 10.015]106.017[0.022(0.024 [0.019]0.028]0.033[0,0%5]0.022]0.018[0.019]0.033 0,015 |0.022
v 7 oepandy sk me/1 10.009 00,009 [0.007]0.009 (0,012 ]0.006|0.011[0.015[0.011[0,009]0.007]0.008]0.015|0.006 | 0.009
7 nERkAAE R AE mg/1 10.00110.001[0.001(0.001(0.001[0.000][0.001)0.00{]06.001]0.00L[0.000]0.0010.001]0,000]0.000
SR g me/l | 0,94 | 1,02 | 1,26 | 0.87 [ 0.76 | 0.84 ] 0.93 | 0.97 ] 0.83 ) 1.23 | 1,29 | 1.37] 1.37 | 0.76 | 1.03
AR (N Y8 ng/1 — - — - — — — — - — — — — - —
BERMNTR mg/l | 0.98 | 1.04 [ 1.22 ] 0.88 [ 0.74 | 0.70. | 0.88 | 0.91 | 0.84 | 1.21 | 1.48 | 1.35 | 1.48 0.7 1.02
By an ks mg/l 0.0660.108]0.131[0.107[0.108[0.005]0.142]0.114(0.094(0,108]0.076[0.108]0.142 |0.066 |0.105
gusangm |wg/l | - | - | — | = [ — [ =T -T-T-T-T=-T-T-1-1T-
BY V(D TR mg/! |0.069(0.110(0,127(0.120(0,107]0.087]0.136|0.116]0.107]0.085|0.077[0.104]0.136 (0,069 |0.106
COD.E® mg/1 | 6.92 [ 6.90 | 7.09 [ 7.07 | 6.91 [ 7.69 | 8.01 | 6.79 | 7.64 | 6,71 | 5,77 | 6.83 | 8.01 | .77 | 6.94
CODYH mg/l | — - - - - - - - - - - - - - -
CODFH | - | - | - | - | - -1 =T -T-T-1T-=-1T=-1T=-T7T=-17T=
K KkE T - - - - - - — - - — — —
#i T - - — - - - - = — - = —
0.5m c — — - — - - - — - — — —
{. 0m T — - - - - - — - - - — —
2.0m Tl -] - I-T'=1T-T-T-1T-T=-1T=T-7T=
3.0m ct |- -1T-T-1T-1-1T-1T=-T=-7T-T-1T=
1.0m T | - | - | - - -1T-1T-T=-T-T=-1T=1T=
5. 4m T — — — — — - - - - — — —
6. 0m T — — — - — - - — — - — —
St T |-l - =-T=-T-1T-T-1T=1T=-7T=7T=1+=
¥DO  KE | mg/l - - - - — - - - - - - -
Fi] ng/1 — - — — — — — — — — — —
0.5m /| - | - | - - -1 =-T-1T-1T=-1T=-1T-=-1T+=
R ng/ ) — - — - - - - — - — — -
2.0m ng/1 — - - — - - — — - - — —
3.0m w/ | - | - [ =] -1 -T-T=-T-1T-1-1-1=
4.0m /1| - | - | =T -T-T=-T-T-1-1-1-1=
5.4m ng/1 — — — - — - — — — - — —
6. Hm wt/ — - — — - — — - — — — .
Judi) ng/1 - — - - - — - - — - — =
RREE KE [t | — | = | = [ = | - | - - =] = —[—1-
P Lux — — — — - - — - - — — —
0.5m wx | - | - | - - -T-1T-7=1T-T-T=-1T=
I, 0m Lux — - — - — - - — — — — -
2.0 x | - [ =T - -T=T-1-T-=-T-1T-1=1=
3.0m Lux — - — - — - - - - - - —~
4. 0m Lux — — - — - - — — - - — —
5. 0m w | - | - [ - [ -1 -1T-T-=-T-1T=T=-1T=7T=
6. 0m Lux — - — — — — — - - — = -
Jiaqis] Lux — — — — — — — — — — — —
GwmLoRe | w | - | — | — [ - [ - [ - T —T—T-T-T-1~-

£ DORD O kB ME




kR ) —4RAM- (20D
R RSN KB4 LRI iE2 B W SR 1647 (20044E)
b | Bibz [ 1/6 | 2/6 | 872 | 4723 | 5/18 | 6/15 | 1/6 | 878 | 9714 | 10719 | 1179 | 12/9 |ReAHl|feoME| TG
K7 Rpgr | 8:49 | 9:05 | 8:52 | 9:09 | 8:42 | 8:42 | 9:19 | 7:58 | 8:25 | 8:52 | 8:58 [ 8:36
Ak m 6.0 | 6.24 | 6.34 | 6.19 | 6.45 | 6.01 | 6.13 | 5.93 | 5.95 | 6,13 | 6.23 | 6.02
AR m_]0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 [ 0.50 | 0.50 | 0.50 | 0.50 | 0.50
E T 5.1 4.4 | 8.8 | 14.0 [ 23.3 | 25.9 | 28.5 | 27.7 ]| 26.8 | 18.0 | 17.2 | 11.1
A o) C |1 6.2 ] 4.8 | 7.4 [17.1)19.4]22.8]26.0 | 284|265 |17.9]|17.0[11.6]28.4] 4.8 [ 11.]
s i BOAA | BOREH | BN | Res | RwRE | RE | e | amE | Ram | e | e | sees
B8 GR) MEBL | fEBL | Bl | B | MERL |mevim| AEBL | AR | MESL | MRS mew) SESL
B em | 20,8 | 16.8 | 14.2 | 14.6 | 20.2 | 16.8 | 12.6 | 20.0 | 19.5 | 16.7 | 28.5 | 13.6
B m [ 0.47 | 0.88 [ 0.40 | 0.36 | 0.46 [ 0.55 | 0.85 | 0.50 | 0,76 | 0.45 | 0.466 | 0.37 ] 0.76 [ 0.85 | 0.48
K8 18 18 17 18 17 18 17 17 17 16 17 17
pH 7.77 [ 7.74 | 7.81 [ 8.68 | 7.85 | 8.22 | 7.79 | 7.66 | 8.14 [ 7.58 | 7.56 | 7.84 | 8.68 | 7.53 | 7.87"
DO ng/l | 1L 11| 11,69[10.93|10.64] 874 | 9.85 | 7.52 | 7.84 |10.30] 891 [10.98| .94 | 11.69| 7.52 | 9.83
BOD we/l [ 1,12 ] 450 | 1,83 | 3.42 | 2.91 [4.62 | 2.87 | 1.84 | 1,90 | 1,48 | 2,82 | 2.82 | A.62 | 1.12 | 2. 85
CODyy ng/ | 6,00 | 6. 01 | 6.93 | 715 | 6.49 | 7.67 | 7.20 [ 6.43 ] 7.90 | 7.50 | 4. 16 | 8.01 [ 8.01 | 4.16 | .79
D+ CODy, g/ — — - — — — — — — — — — — — —
P« CODyy /| - - ~ — — — — - — — - — - - —
COD¢, ng/1 — — — — - — — — — — - — — — —
D-CODg, g/ —_ - - — —_ — - — - - — — — — —_
S5 wg/l | 17,83 | 16,0 | 22,0 | 28.0 | 18.5 | 20.5°| 87.5 | 17.5 | 17.5 | 30.0 | 15.56 | 35.5 | 37.56 | 15.5 | 23.0
A sryniooal | 1. 3B42| 4, GE42[ 2, 3842 |4, 9B+2| 3, 3B+ | 4. 9B+2| 1. 3E+3| 3. 8E+3| 1. TE+3| 2. 3B+3| 4. YE+2) 2. 3E+3] 3. 3E+3| 3. 3B+] | 1. E+3
SEEARERE | maom | < | LoEto| (I <l <l <L [ 2841 <L |6.4EH1[LLOEHD| <1 |6.ABHL| <1 | 8.2BHD
B2 ) ng/l ] 0.90 | 0.9210.93[0.79]0.75]0.83 | 0.84 0.8 | 0.8 |08 |1.22|1.42] 1.42 | 0.75 [ 0.93
8> an ng/} |0.059(0,088(0,133]0.116]0.103]0.101]0.121[0.114]0.099|0.103|0.079)0.142]0.142 0,059 [0.105
i) (2n) /| — — — — — — — — — - — — — — —
TAMRYRWIL-Y | me/d [0.01 [0.02[0.03]0.01 [0.04[0,03|004]0.05]0.02]0.03]0.00]0.020.06-] 0.00]|0.08
TERRARER W0, | mg/t [0, 005 [0.006 | 0.008]0.001 [0.002[0.002 |0.004 0,006 |0.004]0,013]0.010|0.009]0.013|0.001 |0.006
RIRANR G0N | me/l ] 0,36 [ 0.32 10.30[0.00]0.02]0.121]0.23]0.40 | 0.05]0.22 | 0.80 [ 0.68 ] 0.80 | 0.00 | 0.29
s o) ng/) 10.38 [ 0.35(0.34 0.0 |0.06]015/0.27[0.46]0.07]0.26]0.81]0.71]0.80 0.0l |0.32
ARBRET (08 mg/l | 0.53 | 0,58 | 0.58 | 0.77 ] 0.70 | 0,66 | 0.57 | 0.41 [ 0.78 [ 0,55 ] 0.40 | 0,71 | 0,78 | 0.40 | 0.60
WA 0 - 00| g/l — - - — - — — — — — — - — — —
WTErmERCr 00 | ng/l - - - - - - - - - = - - - - -
FRILRSE ™) | e/l — - - - - - - - - - - - - - -
B ) ng/l 0.9 ] 0.93]0.92(0.78 0,76 | 0.8 | 0.84]0.87]0.85 | 0.8 |1.21 | 1.42 [ 1.42 | 0.76 | 0.93
AVHIZREI 0,-P) | w1 [ 0.042|0.053]0.060[0.069 {0,052 |0.0480.112]0.096 [0.051 0,078 10.032]0.072[0.112 |0.032]0.064
st o 2,0 | ng/t [0,008]0,010]0.010(0.003]0.003]0.005(0.032[0.059)0.014]0.026|0.003 |0.005]0.059 | 0.003 | 0.015
RERERY >0 ) | ag/l — - — - — - — - - — — — — - -
HEEBU > | ng/l — — — - — — — — - - - = - —
RERR A0 ng/l | 14,8 | 1400 | 4.4 ] 13,0 [ 1401 [ 144 | 1409 | 6.5 | 141 ) 13,8 | 18.5°] 18,2 | 16.5 | 13.0 | 14.1
AT (100) mg/l | 6.8 | 5.5 | 6.6 [ 5.1 | 4763|567 |'5.716.2 59381638763/ 39|55
B (T0) pg/l | 20,0 ] 196 [ 20.0 [ 18.1 | 18.8 ]| 20.7 | 20.6 | 21.2 | 20.3 | 19.2 | 17.4 | 19.5 [ 21,2 | 17.4 | 14.6
WRTRAKE 0 - 00| ng/) — — — — - - — — = _ = = = —
SETHEArnRt e 00 | me/l - - - - - - - - - - - - - - -
VR O - Fo) wg/l | — — - - - - — - — — - — — — ~
RO 70 M) | mg/) — - - - — — - - - — — — - — -
8 (Fo) ng/| — — — — - - - — — - - - - — —
< (in) ng/1 — - — - - | = — — — -
u U i3 15.2 | 16.3 | 22.7 | 24.7 | 18.9 |.20,3 | 33.0 14.2 [ 22.9 | 13.3 | 28 33.0 | 18.8 | 20.5
Mt (200) nS/m | 28 9.4 [ 29.5 129,91 29.8]29.5 | 30,3 : 30.1 [ 23.0 | 23.6 | 30.3 | 23.0 | 28.5
b A (Ca) ng/] - — - - - — - - - - —
RURVOLND | ng/l — — - - — - — - ~ — - - — - -
pHASZRAUM | g/t [ 53,6 | 54.0 | 53.5 | 52.6 | 52.8 [ 57.3 | 62.6 [ 59.7 | 3.1 | 51.9 | 1.3 | 45.8 | 63.1 | 40.8 | 54.0
D HY. DREE me/t | 7.72 | 4.95 [ 5,55 | 7.60 | 9.33 | 6.78 | 871 | 8.37 | 5.29 | 6,61 | 6.62 [ 6.82 | 9.33 | 4.95 | 7.04
pHIOZNAUEE | g/l — — - - — - — - - - - - - - -
B A 60,2 | ng/l - - - - - - - - - - - - - - -
iAoy | me/l | 95.3 | 37.3 | 41.0 | 89.8 | 35.8 | 36.5 | 86.9 | 40.8 | 44.3 [ 48.8 | 26.5 | 27.9 | 48,8 | 26.5 | 37.5
B (R ng/ ) — — — - — - — = - - - — - - -
T LK) g/ - — — — — — - - - - - — - - -
WA -5i0,) | e/l — - — - — - — - - — - — - — -
A E ng/1 - — - - - - - - - - - - - = -
ywrid-a Chl-w) | g/t | 33.3 | 33.3 | 85.0 | 87,1 [59.7 [ 26.8 | 28.2 | 16,7 | 51.8 | 21.7 | 49.8 | 69.3 | 87.1 | 16.7 | 42.7
yorzdhb hi-w) |/t | 2.2 ] 2.8 24 [ 9 6.5 03] 09 056 | 16| LY 1809178 | 03] 24
yamtie -y | g/t ] 2.8 [ 4.1 [ o6 (07| a1 o5 [ 2400701 3429460117 ] 00 35
gadv 17> | ue/t | 6.4 | 2.7 | &5 [ 11.4]19.2] 5.5 | 80 [12.1]| 2.4 | 2.8 | 88 123|192 2.4 | 7.4
far A R EEER | ng/l — — — — - — - - - - = - - = =
2 D E LR RO G 0 KD Tz, 3. P-ON={ON) —(D-ON) 6.P - TP=(TP)—(D-TP)
A D-TN=(IN)+(D-ON) LTC=(1C)+(TOC)
8.

LP-COD=(COD)—(D-COD)

2. I N=(NH4-N) + (NO2Z-N) + (NO3-NJ

5 TN=(N)+{(ON)

P-QC=(TOC)—(D-0C)




KEHEE B —AW- (o)

(S A=A B KES FERT w4 i SRR LBAE (20044)
iz B| WAL [ 1/6 | 276 | 8/2 | 4/23 | 5/18 | 6/15 | /6 | 8/3 | 9/14 |10/19 | 10/9 | 12/9 |Skokcfil] S| e
2-MIB ng/ 1 — — — - — — — — — — — - — — —
VARRY we/1 [ — - - = - — — - — - — — — = .
el | ng/l | — - - - - - - - - - = - - - -
b | we/l ) — | = | = | = | = | - [ — ] -] -] - =" =1 T ==
vory youtsyteRRg| e/l | — | - | = | — | — | = | = | — | = | =] - [ - - - -
v 7 uthnoayo skt | me/l | — - - - - - - - - - - - - - -
V' nERA R | ng/] — — — — - — — — — — — — — — —
RN L /1 | 0.90 1 0.92 10.93]0.7910.75[0.83]0.84 | 0,86 | 0.85 | 0.8] | 1,22 | 1.42 | 1.42 | 0.75 0.93
A0 (TN) g wg/l — — - — — — - — - — - — - - —
BEGRON TR wg/l 10,94 [0.9710.95 0.8 0.77[0.660.8 ]0.83]09 08 ]1.35]1.45] 1.45 | 0.66 | 0.95
189 > ap) LIg mg/1 | 0.059 0,088 |0.183[0,1160,103[0.101[0,121[0.114{0,099{0.103[0.079]0.1420.1420.059|0.105
8 > (P) i@ g/ = — - — - — — — — — — — — — —
BY I TFE ng/t ]0.072/0.115]0.129]0,118[0.108{0,097]0.125]0.118]0.113]0.110]0.083[0. 138 0.138]0.072 | 0.111
COD L mg/l | 6.00 | 6,11 | 6.93 | 715 | 6,49 | 7.57 | 7.20 | 6.43 | 7.90 [ 7.50 | 4.16 | 8.01 | 8.01 | 4.16 | 6.79 |
CODWR me/ 1 — — — - — — — — — — — — — — —
CODFH ng/l | — - - - - - - - - - - - - - -
KEL Kkt T - — - — — - — - - - - -
E3]] T - - — - - — - = - — — -
0.5m cC|l -] -]l-1T-1=-1=]=1]=-]1=-]1=-1=1=
[.0m T — — - — - — — — — — - -
2.0m cC|l -l -]l-1=-1T=-1=-1-1-]1-]=1=-1=
3.0m T - - - - = - - — - - - -
4. 0m C — - = - - - - - - - - -
5.0m cl|l -] -|-|-1l-1l-1l-1-1=-1=1=13=
6.0m cCl-1l-1l-1l-1=-|=-1-1=-1=1=1=1=
Jizqi] T — - — — - - - - - - - -
*DO KE | ng/l - — = - — - - - - - - -
FH mg/) — — - - - — — - - - - -
0.5m ng/1 - - - - — — - - - - = -
1.0m mg/1 - — — - - - - = - - . -
2.0m mg/1 — - - - — - - — - - - -
3.0m ng/] — — — - - — - - - - - -
4.0m mg/1 — — ~ = - - = - - - - -
5. 0m wg/| - — — — — - - - - - - -
6.0m mg/| — - - = - - - - = - - -
ST mg/1 — — — — - — - - - - - -
KPEE JKE | Lux - - - - - - - - - - - -
i Lux - - -~ - = - - - - - - -
0.5m Lux — — - - — = - - - - - -
1.0m Lux - - - — — - — - - - = -
2. hm Lux - — - - - - - - - = - -
3. 0m Lux — - - - — — - - - - - -
4. 01 Lox — — - — = — - - - - - -
5. 0m Luy - = - — - - - - - - - -
6. i Lux - — - - — - - - - - - -
i) Lux - - - - - - - - - - - -
BERWEORP my - — — — — — — — — — — -

%
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KEHELR @) —Ell—  EaD
WG | KALH FIHEI e 3 37 LR 1621 (200445)
L B[ WL | 176 | 2/6 | 3/2 | 4723 | 5/18 | 6/15 | T/6 | 8/3 | 9/14 | 10/19 | 11/9 | 12/9 |FReAdir| fps | e fifs
K@ ) Ut} i 4t ¢ 4t i & L ge BT O &
$RoK A Beay | 11:23[12:00] (1:06{[1:20]14:08 | 10:00|11:60 |L1:32 11:24(11:08]12:04(10:51
Lk vE m [ 4.10[3.60 ]899 ]83.45]|4.04 4,00 | 3.8 |3.8 [3.91]398]4.21]83.89
Fokok m | 0.50 | 0.507]0.50 0.5 ] 0.5 | 0.50[0.50 |05 [0.50]0.5 |05 | 0,50
& # T 8.1 | 7.0 | 86 [ 5.0 22t | 29.9 | 20.1 | 32.2|30.5]19.121.9]10.9 )
AKOH T 6.8 | 5,8 | 84 | 18.5 | 20.8 | 25.1 | 26.8 | 29,2 | 26.7 | 17.4 | 18.0 | 10.4] 29.2 | 5.8 | 17.8
s R Sk 3&&% wAm | BB | KEH | Ned | R | REE | SRS | rRE | wres | mes
N R JEGL | JESL g9 b B MEEL | JEDL | JESL | MEEL | SELL | AREL |mhus | mevsr| MR
HARRE em 30304l ine]d] e [ao 16200180302 220192
BIE m | 0.60[0.35]0.36[032]0.33|0.66|032]0,80|068]0.88]0.49]|0.52]0.88]|0,327]0.50
K 19 18 17 19 18 19 18 17 17 16 17 17
pH 7.60 [ 7.87] 7.83 | 8.63 | 8.60 | 8.61 | 8.06 | 8.03 | 817 | 7.29 [ 7.39 | 8.06 { 8.63 | 7.29 | 8.01.
DO mg/l | 10,62 [12,62(11,23 (10,10 11.69|14.64( 9.10 | 7.62 |13.11] 9.20 [11.07(11.46{14.64 | 7.62 |11.04
BOD mg/) | 2,76 | 4.12 | 4.30 [ 5.14 | 7.16 | 9.38 [ 5.46 | 3.61 | 3.86 | 2.39 | 4.97 [ 4.56 | 9.38 | 2.39 | 4.8l
CODy, mg/] 5.04 | 8.04 ] 9.65 | 9.51 |13.43[10.45]10.92] 9.31 [10.37[ 5.76 | 7.03 | 6.28 |13.43| 5.04 | 8.82
D CODy, . mg/l 3.01 [ 4,14 | 520 | 4.49 | 4.72 | 5.63 | 4,57 | 6.67 | 6,13 | 3.84 | 3.38 | 3.23 ] 6.67 | 3.0t | 4.58
'P CODy, mg/t | 2,08 | 3.90 | 4.45 [ 5.02 [ 871 [ 4.82 [ 6.35] 2.64 | 4.24]1.92[3.66]8.05]8 71 | 1.92]4.28
CODg, g/} — - — — — - — — — — — — — — —
D:CODg, ny/1 — — — — — — — — — — — — — — -
ss me/1 | 12.0 | 22.5 | 44.5 | 43.5 | 82.0 | 20.0 [ 89.5 | 19.0 | 22.5 | 10.0 | 19.0 [ 20.0 | 82.0 | 10.0 | 29.5
KA wni/ioest | 1, 38+3[ 4, 9B+2| 1, 3B+3( 3. 36+3| 1. 7B+3| 3. 3E42[ 1. 3E+3| 1. 3E+4 |1, 7B+4 |4, 0B43| |. TE+3[3. 3E+3| 1. TE+4 | 3. 3B42 | 4. IE+3
FUHEAmIE | w0 [ 6. 0B40(2, 3B+113. 0B+0( 2. 0B+ <1 |8 OB+0|2.0B40|5. 0B+0| <1 |2, 6E+2|4.0R40[5. 0B+0| 2. 6842 <1 | 2.TR+L
13558 (TN me/t | 2,63 | 2,03 | 1,42 | 1.65 | 1.44 [ 1,31 | 1.38 | 1.07 | 1.04 | 8.30 [ 3.33 | 3.01 | 3.33 | 1.04 | 1.97
$5Y > (1P ng/t | 0.072]0.114]0.205(0.168[0,297]0.135|0.169[0.129(0.130/0.080|0.113[0,117[0.297[0,072|0.144
4 (2n) g/ — — — — — — — — — — - — — — —
PAEMBRR LN | mg/t | 0.00 | 0.02 [ 0.01 [ 0.00]0.04,]0.02]0.05]0.02]0.021]0.06]0.00]0.010.06 | 0.00|0.02
R DR 60, | mg/t 0,021 [0,018[0.009(0,019(0.010(0.034]0.017|0.020(0,009[0,033[0.048]0.034]0.048 |0.009|0.023
TR AR (0, N) g/l | 2,16 | 1,25 10,55 | 0.56 | 0.06[0.27[0.05|0.13[0.05]2.72]291]2.50] 291 ]0.06]1.10
SRR (Y mg/l | 2,18 [ 1,29 ] 0.57 [ 0.67 ] 0.11 ] 0.82|0.12[0.17 [ 0.08 | 2,81 | 2.96 | 2.54 ] 2.96 [ 0.08 | 1.14
ATHUBSERE (OX) ng/1 | 0.44 [ 0.75 ] 0.84 [ 1,09 | 1.32 ] 0.98 [ 1.28 | 0.90 | 0,96 | 0.47 | 0.36 | 0.47 [ 1.32 | 0,36 | 0.82
wEATREERO 00| ng/l [ 0.28 | 0,39 [ 0.40 | 0.38 | 0.29 | 0.53 | 0.39 | 0.52 | 0.54 | 0.31 | 0.25 ] 0.26 ] 0.54 | 0.25 | 0.38
wregriseseskCr o0 | ng/l | 016 0.36 | 0,44 | 0,70 | 1.03 | 0.45 | 0.89 | 0.38 [ 0.42 [ 0.16 | 0.11 ] 0.21 | 1.03 | 0.11 | 0.44
wimtnmgen-m™ | ng/l | 2.46 1 1.68 [ 0.97 | 0.95 [ 0.40 | 0.85 | 0.51 | 0.69 ] 0.62 | 3.12 |3.21 | 2.80 | 3.21 | 0.40 | 1.52
wap (m wg/) | 2,62 | 204 1,41 | 166 ] 1,43 [ 1.30 [ 1.40 | 1,07 | 1.04 | 3.28 [ 8.82 | 8.0t ] 8.32 | 1,04 | 1.97
by eo,-» | e/t [0.037]0.053]0.070 (0,085 0,174 10.051]0.093 |0.054 [0.0810,039]0.036]0.039[0.174 | 0. 036 | 0. 065
wartEEne 1,0 | ng/l | 0.006 | 0.007]0.000[0.005]0.008[0.008]0.010]0.028]0.006]0.018]0.003[0.006]90.028|0.003|0.009
VmiERy >0 | ag/l [0.009]0.025(0.034[0.018|0.024 0,040 |0.035]0.038]0.019[0.038[0.029[0.022]0.040 |0.0180.028
ety > er - | ng/l [0.053 (0,089 (0,171 ]0.150(0,273[0,095]0.134{0,091|0,111[0,042]0.084[0.095)0,273)0.042 |0.116
SHSREGR 00 a/l | 14,0 | 13.3 ] 13.9 12,8 16.3 | 14.2 | 14.2 [ 14.2 | 112|107 [ 1.1 [12.2 | 16.3 | 10.7 | 13.2
AT IBREER (T00) e/l | 4.8 | .4 | 7.8 | 6.1 | 5.2 | 83 | 85 | 7.5 | 8.9 | 4.6 | 5.9 | 5.5 | 8.9 | 4.6 | 6.6
SRBERCTO) ng/y | 18.8 | 19.7 2.7 (189 20.h | 225|227 21,7201 | 1583 [17.0|17.7[22.7[16.3]19.8
BIRBATINBRE 0 - 00| g/l 2 7137 40| 2.9 3.1 44|88 6.2 5.1 | 84| 2782622731
wrmesrr-oo| e/t | 200 | 2.7 [ 038 8.2 21 | 3.9 | 47 2.3 | 8.8 L2 82 34T | 12| 2y
) mg/l {0.10 | 0.1 [0.13[0.04]0.10]0,11]0.04|0.08]0.12]0,05]|0,11]0.09]0.13]0.04 | 0.09
ey 20 - M) | me/1 [ 0,003] 0.01 | 0,01 [0.013[0.011[0.004]0.006(0.004]0.004|0.002]0.002|0.004 0,013 0,002 |0.010
& (Fe) we/l | 0.33 ] 0,53 ] 1.38 [ 1,00 ] 2.27 [ 0.65 | 1.14 | 0.40 | 0.30 | 0.22 | 0.28 | 0.62 | 2.27 [ 0.22 | 0.75
< 2o 2 Gn) mg/) | 0.02 ] 0.05 ] 0.09 [0.096]0.135]0.050]0.095] 0,056 [0.044]0.030|0.033|0.045]0.135 [ 0.020 | 0. 060
B B T 20.7]33.9]37.9 612220 (42167179 9.3 |18 7] 19.8[61.2 ] 9.3 | 25.9
WK (200) wS/m | 21,6 [ 23.5 | 26.0 | 23.2 | 24.9 | 23. 0| 26.6 | 24.1 | 24.6 | 16,7 [ 16,9 ] 18.4 | 26.6 | 16.7 | 22.4
FiNerp A () meZl {150 [t o225 196170160 (19,7 16,5 [12.9]12.7]23.5 | 12.7] 16.4
72 () ne/1 | 6.19 | 5.27 ] 5.43 | 8.84 ] 6.23 | 6.28 [ 6.51 | 7.19 | 6.85 | 4.36 | 3.96 | 5.12 | 7.19 | 8.84 | 5.56
pHASZ AV | ne) | 44.6 | 46.5 | 51.0 | 46.2 | 46,2 | 49,1 | 46.4 | 69.3 | 58.1 | 31.5 [ 87.7 | 40.0 [ 59.3 | 31.5 | 46.4
P HY. 0 pg/l | 5.94 | 2.97 | 4,96 [ 4.40 | 4.76 | 3.29 ] 7.72 ] 9.14 | 5.10 | 6.81 | 7.22 | 6.62 | 9.14 | 2.97 | b.74
p HI. 07 W) jig mg/1 — - — - - — — — — — - - — — —
B A 60,2 | me/t | 21,9 [ 3004 (83,6 | 81,0 | 83.7 | 28.8 [80.9 [ 31.1 | 20.5 | 21.6 ] 19.6 2256337196 28.0
HbsatA @ | we/l | 18.7 ] 23.8 [ 30.7 [ 26.1 | 27.3 [ 32.0 [ 27.1 [ 33.1 | 32.5 [ 12.3 | 12.4 | 14.2] 83.1 | 12.3 | 24.2
F 1 U A Ha) wg/l | 17.1 | 18.0 ] 22.8 | 206 | 23.4 ]| 21,7 | 24.8 | 27.2 | 26.9 | 15,5 | 8.07 | 15.4 1 27.2 | 807 [ 20.1
IEINT) we/) | 3.86 [ 3.75 | 5.03 | 5.86 | 4.62 1 3.97 | 4.90 | 5,16 | 5. 16| 2.97 [ 3.31 | 2.83 | 5.86 | 2.83 | 4.12
83U AT Si0,) ne/V | 22.9 | 217 | 24.2 | 15.6 ] 28.6 | 17.9 | 26.6 | 23.1 | 15,2 | 22.9 4,2 | 23.1 | 28.6 | 15.2 | 22.2
TRl me/l | 20,15 ]18.3212.70(10.44] 9.50 [ 10.61|42.86 [ 11.37 | 1.81 |[15.97]14,10/15.90}21.15 | 1. 81 |12.89
youyiha ©-w | pe/t | 43.8 | 67.1 [120.4]190.01208. 8| 83.4 [140.1] 69.6 |137.9| 24,2 | 70.7 | £4.4 [208.8 | 24.2 | 101.7
poorehn v | ae/t | 2.9 | 3.8 | 9.1 [ 154184 7.6 | 147 4.5 | 7.0 | 3.6 | 43| 4.2 | 154] 2.9 | 1.5
yomaic Whtc) | pg/t | 3.4 | 7.0 [ 144 [ 188 [0 [ 181 [18.6 | 6.7 [21.1 1 12.7}12.9 10.8] 21.1 | 3.4 | 13.7
T AT AT et | 46 | 2.0 (129 28 l44a.8 (2032070 87 [ 10.9] 6.1 | 4.8 |11, 2[44.8 ] 2.0 | 12.5
B A BTt | me/l | 0,02 | 0,02 | 0.02 [ 0.02 | 0.02 ] 0.01 [0.0210.040.04]0.04[004]06038]0.094]00l)003
e QR LKROFR I L D Rw ), 3. P-ON={ON)— (D-ON) 6. P-TP={TP)—(D-TP)
ILP-COD=(COD)—(D-COD) 4 D-TN=(IN)+(D-ON) T.TC=(1C)H(TOC)
2.1 N=(NHA&-N) + (NO2-N) + (NO3-N) 5. TN=(] N)+(QN) 8. P-0C=(TOC)—(D-0C)
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b H | WO | 1/6 | 2/6 | 3/2 | 4728 | 6/18 | 6715 | /6 | 8/8 | 9714 [ 10719 | 11/9 | 12/9 | GeA i) s | %y i
2-M1B ng/1 | 0 ] 0 82 | 20 1 0 1 14 1 2 10 | 32 0 7
UAAERY ng/1] 2 3 0 0 0 0 0 0 2 2 2 5 b 0 !

By sdekiz | g/ - - — - — - - - - - — - - - —

pomphdeptty | we/l | — | — | — | — | — | = | = | = | = | =] ~ ] — - - -

Zuty gt 0/l |~ | = | — | — | - | - | = | = | — ] =1 -] -] -7 - —
yyumpgaggl g/l | — | — | = | —= | ~ | — | = | =] = =] =1 - - - —

Ry A I I A A I A A = I e e e

gekmobl | mg/l | 2,63 (2,03 [1.42{1.65 ] 1.44 ] 1.3 1.38 ] 1.07 | 1.04 | 3.30 | 3.33 [ 8. 01 | 3.38 | 1.04 | 1,97

g | we/l [ — | — | — - - - - - il i R - - -

BN FE | we/) | 2.63 | 198 | 1,39 ] 1,69 [ 140 [ 1,10 | 1,07 | 0.93 [ 1.17 [3.55 [3.19 [ 3.04 [ 3.55 [0.93] 1.02

BUSREE | wg/l [0,072]0.114]0.205 0. 1680.297 0,135 0. 169 | 0.1290.180 {0,080 0. 113]0.117]0.297]0.0720.144

guzangl | wg/l | — — - | -1 - - - | - — - — — — — —

BY>GNTFH | wg/l [0.0840,131[0,195]0.175 [0.264 [0.101 [0.159 | 0.125[0.130[0.071[0.087[0.110]0.264 [0.0710.136
COD LR mg/l [ 5.04 ]8.04 9,65 9.5 [15.43]10.45/10.92 | 9.81 [10.37] 5.76 | 7.03 | 6.28 | 13.43[ 5.04 | 8. 82
CODE g/l | — — - - -] - - - - - - — —

CODTI® ng/l | — — — — - - — — = — — — — — —

KM KL T - - - — - — — = - - — —

K C | 68 58] 84 [185]20.2]25.826.9[29.3[267]17.4]18.1]10.4
0. 5m € [6.8 5884 [1856]20.2[25.1/26.8/[29.2] 267174180 10.4
L.Om C [ 6.8 58 | 88 [185|20.2]22.8(26.7]29.1]26.7]|17.4]17.4]10.4
2. 0m C | 6.7 [ 5.8 ] 83 [185|20.2]22.6[2:.3]2%.0]26.5/[17.2[17.1]710.4
3.0m C | 6.6 ] 59] 82 |185]20.8[22,4)26.2]28.5([261]17.0] 16,9 [10.4
4, 0m T - | - - - 203 ]21.7] — - -~ 16,9 —
5.0m T - | - - - | -1 =-1-=-1- - - | =1 =
6. 0m T — — - | - - - - - - il R s

2T C [ 6.7 [ 59| 81 [184]20.8{20.7[26.1]283]26.0]16.9]16.9]10.3
¥*D0O  kE | m/l — - - - - - - - -
ATl we/l 10,9101 | 11.6]10.0 14.8 | 8.6 | 9.7 9.0 | 18.6 | 11.6
h.5m mg/l [ 10.9]10.1 [ 11.5 ] 10.9 14.2 | 8.4 | 9.6 8.9 |13.6 | 11.6
[.0m ng/1 | 10.9 1.5 | 9.9 8.9 | 8.1 [ 8.0 8.8 | 8.1 ]1L§
2.0m mg/1 | 10.9 114 9.7 |1 8.3 [ 6.7 | 8.0 8.6 | 12.5 | 11,6
3.0m wg/l [t0.8]10.2[11.4] 9.6 8] 7.5 [ 6.6 | 7.8 20 81 [I11.9]11.6
4.0m g/l | — — — — [10.8] 45 | — | — - (U4 =
5. 0m ng/1 - — - - — - - | - - — — —
6. 0m mg/! — — - — — — — - | — — — —
I me/l [0 7]t 1] a1 110.8] 45 | 6.6 | 6.8 | 9.8 [ 7.1 [11.1]1L3
g Ak | Lux [ 4210068800 | 22840 [ 16830 | 28200 | 100100 | 42700 | 107800 | 28300 | 11840 | 80500 | 8800
# | Lnx [ 35400 [ 51400 | 19390 | 7470 [ 8730 | 59800 | 22330 | 51200 [ 16720 | 7770 [ 47500 | 680
g.5m - | Lux_[27900 | 12330 | 1600 | 1255 | 497 [ 12870 | 2076 | 13990 | 3650 | 3810 | 13450 | 2275
L om Lux. [ 7200 [ 3340 | 70 [ 86 311994 | 161 | 3240 | 657 | 1911 | 4130 | 536
2. 0m lux [ 1054 | 210 | ) 2 — [ 170 ] 1 [ 280 | 89 | 396 | 488 | 48

~ 3.0m lux | 136 | 15 0 0 - | 15 D 22 3 92 | 19 3
4.0m Lux 13 - - — — 0 — — — - 15 -
h. 0m Lux — — _ - - - - - - - — —
6. 0m Lux = — — = - - - - - — - -
KW Lux | — - - - - - il - - =1 -

R EORP my 145 | 171 | 174 | 129 | 1b} 166 68 174 | 130 | 207 | 144 | 204
e + DOWDOEHZ X A HIESE




KEdEk  (B)  —E@EMm—-  (FOD \

P4 Eiipp KB FARJ JIIIES B i B 64F (200445)

1 AL WAL /6 |26 | 872 ) 4728 | 5/18 | 6706 | /6 | 8/8 | 914 [10/18 | 11/9 | 12/9 | SRk ] K| LS4k
Rk EA sy | 10:58 | 11:15(10:40]10:58 | 10:50 | 10:33 [ 11:18|10:38 | 10:38|10:40|11:28|10;24
SR m | h.H8 | 6.8 | 6.32 | 6.59 | 6,4h | 6.50 | 6,21 | 6,42 | 6.62 | 6.55 | 6.65 | 6.13
$EAKEE m | 0.50]0.50]0.50] 0.5 |0.50] 050 |0.50|0.50]0.50(0.50|0.50 | 0.50
& OB C 7.9 6.5 8.8 | 14.0 ] 23.1]27.9]32.2|33.6|380.0/(180]220] 1.0
KW T .7 5,2 8.0 [ 181 [19.8 | 24.1 | 26,1 | 28.8 [ 27.4 | 18.0 | 17.2 | 11.5] 28,8 | 5.2 17,6
il SRS | PR | YOI | ROE | KR | NEE | B | KD | Wil | SONE | RERNE | W% :
RO&E (B MEEL | MEBL |99-b | MEBL | MER |wous| 8L | dERL | SRR |mvun| g mex
PEARE em | 22,2 | (5.4 [ 15.4 [ 14.2 | 14.6 | 16.4 ] 16.4 [ 19.0] 19.4 | 23.3 | 26.6 | 17.5
HRIFAHE m 0,60 | 0,37 ] 0.42 | 0.34]0.29] 0,52 | 0.40 | 0.48 | 0.75 | 0.63 | 0.69 | 0.48 | 0.75 | 0.29 | 0.49
KB 18 17 17 18 19 18 17 17 17 15 17 17
pH 7.64 17,70 | 7.86 | 8.94 | 8.02 {882 {801 (843 7.8 | 7.38]|7.44 {8,081 894! 7.38 | 802
DO mg/l 10,26 11,66 (11,08 9.11 |10.13(18.03| 8.04 [10.28 [12.03] 9.32 |11.86]10,90]13.03| 8.04 | 10.64
BOD “wmg/1 | 218218 1.32 ] 3.99 | 3.71 | 4.96 | 3.13 | 4.48 | 3.07 | 3.6 | 2.88 | 3.46 | 4.96 | 1.32 | 3.25
CODy, mg/l | 6,14 | 6.98 | 7.81 | 8.87 | 8.15 | 8.23 | 7.58 [ 8.30 | 8.07 | 7.22 | 6.46 | 7.15 | 8.87 | 6.14 | 7.5h
D - CODy, m/ | — — — — — — — — - — - — -~ — —
P+ CODy, mg/1 - - - - — - — — - - -~ - - - -
COD¢: g/ — — — — — — — — — — — — — — —
D CODg, e/l | — - - - | = - — — - - - - - - —
Ss me/t | 13.8 [ 18.5 ] 20.5 | 31,5 | 32.5 ] 20.5.| 28.0 | 22.0 [ 18.5 | 14.5 | 135 | 24.0 | 82.5 [ 13.3 | 21.4

RIBHIAHK wei/tooat | L, TRH3| 4. OB42| 7. 9B+2) 4. OB+31 1. TE+3| 4. B+2| 1. 3B+3|4. OE+2| 1. 7E+3| |. 3E+3| 7. 9E+3| 3. 3B+3| 7. 9E43 |4, 9B+4 | 2. 2843
Mordekmare | mawa ] {1 [2.0B10{3. 0B+0[3.0B+0] <t [8.0B+0|2.0B+0| <1 |6.0B+1)2. OB+l |5. 0E40|6. 0B+0[6. 0B+ <t |9, 2B+

YR mg/l | 1,88 | 1,18 | 1.06 | 0.92 ) 0.88 | 0.756 | 0.77 | 1.00 | 0.78 | 1.93 | 2.40 | 2,20 | 2,40 | 0.76 | 1.27
Y ) mg/l |0.072[0.091]0.146]0.130(0.130/0,104]0.113]0.115]0.0970.110]0.072]0.130]0.146]0.0720.109
il (Z0) ng/1 — - — 0,004 — 10.010] — ]0.008] — 10.020] — ]0.005]0.020]0.004 0,009
PO Gl | mg/1 0,02 | 0,02 [ 0,02 [0.02]0.04[0.02]0,04]003]0,04]0.06]0.00])0.0f]0.06]|000]|0.03
WRRRERSE 60,-N) | mg/)l [0.010[0.006 0,006 |0.006 |0,006]0,002]0,016|0.010|0.003]0.0450.046|0.026({0.046 |0.002 | 0.015

WRRER N0, | wg/t ] 0.80 ] 0.47 10,35 ) 0.05(0.0410.24)0.07]0.12)0,0011.29)1.91|1,86]1.91)0.00]0.58
sigmaes me/t [0.83]0.50]0.38]0.08]0.09]0.26]0.183]0.16]0.04{1.40]1.96 | 1.60 ] 1.96 | 0.04 | 0.62
0. 60

AR N we/) | 0.55 | 0,65 | 0.69 (0.8 | 0.81 | 0.50 [ 0.65 | 0.85 | 0.73 | 0.53 | 0.44 0.85 | 0.44 | 0,65
WA RMER0 - 0| /] - — — — — — — _ _ — _ - —
Yereriaskrw | ng/l - - - — — — — - — — -
WHRBEE -0 | ng/l — — — - — — —

gaR () ng/d | 188 | 1.15 | 1.07 [ 0.93 | 0.90 | 0,76 | 0,78 [ 1.01 | 0.77 | 1.93 | 2.40 | 2.20 | 2.40 | 0.76 | 1.27
gy @01 | ng/) [0.034]0.0531(0.051(0.070]0.076 (0,051 [0.071[0.046[0.051|0,062]0.028[0.049]0.076|0.028 | 0,054
pmuaseo- 2000 | e/l 0,006 ]0.0070.008[0.003]0.005|0.006 0,024 {0.012]0.014[0.031[0.003|0.005]0.031]0,003 |0.010
WRIEEY  0 19 | ng/l — — — — — — — — - = — [ =
KPRy 1) | ng/l — - — — = — —

REBPER 00 ng/l | 14,5 7 .5
AR I (100) ng/1 56 | 5.9 [ 6.1 5.5 | 4.9 | T

LR ('T0) ng/) 20.0 6 20.0
WEMEATIRIGR O - 00 | ag/l — — — — — — —_ — —
ot or - 00 | ne/l — —_ — — — — — —

YRR (D « Fe) mg/) . — — — — - - s - — - — —

120 | 11,9 | 18.4 [ 16,6 | 11.9 | 14.0

=
&2
.

yamtEer s My | g/l — — — — — - — - — — - - - — -
2 (Fe) ng/! — — — — — — — — — - - — — — -
T2 H () mg/1 — — — — - — - — — — - — — - —

y HE 13.0 | 17.9 | 24.83 | 28.8 | 28.3 | 2 24,9 118.2 | 16 13 13.2 | 22.8 | 28.8 | 13.0 | 20.1

# R Q0T) aS/m | 26.0 | 27.9 | 28.5 | 28.6 | 27,9 { 29.1 { 30.3 | 30.0 1 18.5 [ 21,8 | 31.0 | 185 | 26.7
ANV ng/l — — — — — - — — — —

RUFRIUAGD | mg/l — — - — — — — — —
pHARZAAUE | me/l | 50,1 | 51,5 | 53.0 | 61.8 [ 49,4 | 52,1 | 52.8 [ 61.7 | 60.1 | 40.1 [ 44.1 | 42.0 ] 61.7 | 40.1 | 50.7
pHS, Ol we/t | 6,59 1 3.96 [ 4.96 [6.00 595 | 2.26 | 7.5 ]9.58 | 7.84 | 6.41 | 7.02 | 4,76 | 9.53 | 2.26 | 6.06
pHIOZVDUE | me/l — — — — — — — — — —
BT AT 6027 | m/l — — ,
it Az @™y | me/t | 2907 [ 847 99.0 37,0 | 32,9 | 36.1 | 36.9 1 43,0 | 46.1 | 22.8 | 17.5 | 24.2 | 46.1 | 17.5 | 33.3
1A (M) e/ — - — — — -

HYULR wi/ | — — — — — — — — — — —
BIUAT-Si0) | ng/l — — — — — — — — - — — — — — -
fuins ) m/l | — — — — — — — — — — — — — = -
ymtha Chl-a) | na/t | 46.6 | 44.8 | 72.6 | 115.4[112,9]40.7 | 38.9 | 79.9 | 62.3 | 28.8 | 46.6 | 90.9 [115.4| 28,8 | 65.0
ompiib Cnlw | pe/l | 8.8 | 4.7 | 6.0 | 4.8 1.2 2.4 | 5.8 [ 60 | 2.5 |2 |83 | 7.6 |143 | 2.4 | 57
sothe o | 21| 7.5 | 7.2 | 8.4 | 26.8 [ 10.6 [ 5.7 | 4.4 [13.4 188 | 2.4 | 7.5 | 142|268 | 2.4 | 10.6
sad1Fy 1 agl | 6.1 | 4.3 | 6.3 |24 0.7 [19.4]12.8] 1.1 | 45 |94 [19.8]21.2]0.7]|10.3
B A YR | s/l — — — — — — — — — — — — — — —
IHES AHIOEENLRAOFHE T X 0 Rz, 3 P-ON=(ON) ~ (D-ON) 6, P-TP=(TP)~(D-TP)
LP-COD=(COD)~(D-COD) 4 D-TN=(IN)+(D-ON) LTG=(1CY+(TOC)
2, 1 N=(NH4-N)+ (NO2-N)+ (NO3-N) 5. TN=(1N)+(GN) 4. P-0C=(TOC)—(D-0C)




KEH& (5 —Elh— (0D

S BRI K%EH I FOIIED 2 i JJEi 64 (200442)

I B B | 1/6 | 2/6 | 872 | 4723 | 5/13 | 6/05 | 1/6 | 8/3 | 9/14 [ 10719 | 11/9 | 12/9 [SAc| fs iG] S
2-MIB ng/ 1 0 | 0 0 7 8 0 0 0 3 0 2 11 11 0 3
THAR ng/ 1 0 0 0 0 0 0 0 0 I 2 2 5 5 0 1

$EMIN0F 4 RS me/1 0,043 0.047|0.051 [0.064)0.076|0.084]0.001 [0.065|0.084[0.0690]0.051[0.050]0.091 [0.043 [ 0. 065

snngbad: EHE mg/1 10.0230.024]0.026 [0.0340.040]0.055]0.050 | 0.0300.044 [ 0.048 | 0.0320.026]0.055 | 0. 023 0,036

7ty sunbopiie| me/l 10,015 ]0.006]0.017]0.021]0.024[0,022(0.028{0.022{0.028]0.017]0.015[0.017]0.0287]0.015|0.020
¥ 7 oppomsgst sl | we/1 [ 0.005 | 0.006 | 0.007]0.008|0.0010.007]0.012]0.012[0.0110.004]0.004]0.007]0.012]0.004 0. 008
7" nEAA AR Ak ng/1 10,000 (0,001 [0.00L|0.00L[0.001[0.000/0.001]0,00}|0,001]0.000]0.000]0.000]0.001{0.000]0.001
BRERAW L) mg/1 [ .88 | 113 | 1.O6 | 0,92 [ 0.88 [ 0.75(0.77 | 1.00 | 0.78 | 1.93 | 2.40 | z.20 [ 2.40 [ 0.75 | 1.37
AL (M) o wg/1 | 1.34 | 1.16 [ 1.07 | 0.85 1 0.88 [ 0.80 | 0.73 | 0.78 | 0.82 | 1.72 [ z.04 [ 2.27 [ 2.97 1 0.73 | 1.91
FRREH (TN FI mg/} | LLI8 | 114 | 1.14 | 0.85 ] 0.85 | 0.84 | 0.8 | 0.85 | 1.18 [ 1.63 1.8 | 220 220081121
BY>OP) kB mg/l ]0.072[0.091|0.146|0.130[0.130[0.104|0.113]0.115]0.097[0.110]0.072/0.130]0.146]0.072 0. 109
BU > ap)hig wg/1 0,073 (0.107[0.148[0.128[0.139[0.091 [0.1150.122(0.107[0.105]0.076[0.136[0.148[0.073 0. 117
BY >0 TR mg/1 {0,076 0.098|0,148]0.137 (0,152 ]0.1420.123[0.122|0.117[0.116(0.103]0.129(0.152|0.076]0.122
COD_L# mg/l | 6.14 | 6.98 | 7.81 | 8.87 [ 8.15 | 8.23 | 7.58 | 830 | 8.07 | 7.22 [ 6.15 | 7.15| 8.87 | 6.14 | 7.55
CODE mg/l | 6.12 | 7.29 | 7.67 | 7.90 | 8.03 | 7,24 | 7.24 | 6.95 | 7.68 | 7.04 | 5.89 | 7.35 | 8.03 | 5.89 7.2
CODFIg mg/) | 6,08 | 7.256 | 7.74 | 7.98 | 7.66 | 7.06 | 7.74 | 7.82 | 7.95 | 6.87 [ 6.19 | 7.29 | 7.98 | 6.08 | 7.96

A AKE T — — - - - - - - = - — -

Eq] T - - — — — — — — - - - —

0.5m tc |l -] -1T-1T-1-1-1-]-1T-1T-1-1=

L. )m T — — - - - - - - - — - -

2. ¢m' T — — — - — — - - - - - -

3.0m c|~-l-l-1-1-l-]T-T-[T-1]T-17-1+=

4.0m c|l-l-|l-]=-]=-]=-1=-1=-]=-1=1=1=

5.0m cC|l-|-|-1-l=-1-=-]—-|=-1=1=1=1=

6. 0m T — ~ - - - - - - - - - -

JEET jo — — — — - - - - - - - -

*DO kb | mg/l | — - = |- - - - - - — - -

H we/l - - - = - - - - - - - -

0.5m ng/1 - — — - - - — — - - - -

1. 0m g/ — = - - - — - - - = - -

2.0m mg/ 1 - - — — = - - — - - = -

3, 0m me/l | = - - - - - - - - - - -

4, 0m g/ 1 — — - - — - — - - - _ -

5.0m wg/ 1 - - - - - - 1 - - - - - -

6. 0m mg/l | — — — — - - = _ _ — — —

it we/1 | — — - — — — Z = _ — _ -

AoebdE kb | Lux — - — — — — — _ _ _ — —

i Lux — — = - - - - - - ” _ —

fl.5m Lux — - - — - — — _ - - - -

l.0m Ly — - - - - - - — - - - -

2. 0 Lux — - - — _ — — — _ - - -

3.0m Lux — = - - — - - - - - - -

4, )m Lux — - - - - - - - - - - -

5.0m - Lux - — - - — - - - - - - -

6. 0m Lnx — - - =, - — — - - - - -

JET Lux — - | = - - - - - - - - -

HERMi.LORP my — — — — — — —

lik= ¥ DOWED OFH & 2 MlEME




KEEK 6 W - (FOD

WA WD KEs R % e i S5 1 64E (20044E)
i} Bl B | 1/6 | 2/6 | 872 | 4728 | /13 | 6/15 | /6 | 8/8 | 9/14 | 10719 | 11/9 | 12/9 |IRCAH| /M| SER K
7 i i & | 4 4t K & & & ok I A4
1Rk % W5y | B:15) 8019 ) 8:22 | 844 | 9:40 | B:12 | 8:30 | 7:04 | 7:56 ) 8:07 | 7.50 | 8:00
SR m 6.15 | 5.98 | 5.98 | 6.05 | 5.82 | 5.96 | 5.79 | 5. 65 | 65.79 | 6,29 | 6.01 | 6.01
KR m [0.50]050]0.50]0,50 [ 0.50]0.50 ] 0,350 |0.50]0.50]0.50 ] 0.50 | 0.50
SOM T 50 | 4.2 | 82 [ 14.0 | 22.4 | 26.0 | 28.4 | 28.3-| 26.5 [ 18.0 | 14.5 | 11.1
K H T fi. 3 4,8 7.8 | 17.0 | 19.0 | 21,7 | 25.3 | 28.2 | 25.3 | 17.5 | 16.2 | 11.5 | 28.2 | 4.8 16.7
A skiekas | ponem | wevmm | sem | sacen | B | s | HEE | RES | 300 | IRRE | AR
L) SEEL | AREL g h AR | IREL | MEEL | MR | R | MR | mhur | seur) SRR
BRI en 2.8 [ 196 | 18.0 | 17.6 | 13,0 | 22.6 | 17.6 | 28.0 | 19.2 | 17.0 ] 26.5 | 12.8
B m 0.53 10,45 0.40 | 0.43 | 0.43 | 0.65 | 0.45 | 0.55 | 0.76 | 0.48 | 0.58 | 0,40 | 0.76 | 0.40 | 0.51
AR 18 18 17 18 19 18 18 16 17 16 | 17 17 )
pH 7.7 | 778 (777 | 8.76 | 7.96 | 8. 18 | 7.81 | 7.60 | 8.00 | 7.56 | 7.45 | 7.81 [ 8.76 | 7.45 | .87
DO ng/l (10,74 [12.4810.60 [ 9.71 | 8.9219.93|6.79 | 7.59 [10.02] 9.41 |10.24] 9.98 | 12.48 | 6.79 | 9.70
BOD me/l- | L5t 2,20 [ 180 | 3.66 | 3.00 | 2.87 | 2.46 | 1.54 | 1,73 | 1.64 | 1.9 | 2.77 ] 3.66 | 1.51 | 2.26
CODyy e 5,08 | 7.14 | 7.67 | 7.43 | 6.67 | 6.96 | 7.14 | 6.55 | 7.22 | 8.52 | 6.33 | 7.59 | 852 | 6.08 [ 7.11
D CODy, we/l [ 4.30 | 4,93 | 4.56 | 4.08 | 4.89 | 4.40 | 5.56 | 5.14 | 6.27 | 5.31 [ 4.22 | 4.14 | 6.27 | 4.08 | 4.82
‘P CODy, e/l | 178|220 3. 113,35 1,78 2.56 | 1.69 ] 1.41 1 0.95 | 3.21 | 2,11 | 3.45 | 3.45 | 0.95 | 2.29
CODyg, ng/1 — — — - — — — — — — — — — — —
DCODg, ng/l — —_ — — — — — — — — —_ — — — —
$S ag/l | 15.0 | 14.5 | 27.0 | 27.5 [ 24.0 | 14.0 [ 19,0 | [1.5 | 16.0 | 28.5 [ 18.5 | 44.5 ] 44.5 | 11.5 | 21.7
KRB ww/wonal | 7, 9842 [ 1, TB42| 2. 3532 | 1. SE+2| 2. 3E+2| 4. 9542 L TB+3| 1, TE+3 4. 9B+3| 2. 3E43| 7. 9B+42|4. 9C42) 4. 9B43 | 1. 3B+2| [ 2B43
FupAmmm | mowa | A A [LoB0| <L |2.0BH0] <1 [4.0B4D| 2. 08433, 0B40| <1 | 0BE3| <1 | LLTE42
BERO) ag/l | 0.95 ] 0.88 | 0.97 70,73 0.76] 0.60 | 0.8 |1.02 ] 0.80 | 0.95 [ 1.01 | 1.26 ] 1.26 | 0.60 | D.80
18 > (TP) ng/1 [ 0,075 (0,088 (0,140 (0,105 (0. 116]0.068|0.111.[0.108]0.097[0.104 [0.095)0.154[0.154 | 0.0680.105
264 (Zn) ng/| — — — Jo.003] — [0.015] — [0.008] — [0.014] — [0.005[0.0150.003|0.009
TAIMBERGL-Y | ng/l [ 0,02 [ 0.02]0.04[0.01 [0.02[0.00]0.09]0.06]0.02]0.02]0.01]003]009]0.01]0.03
THRIEBER B0,-0 | ng/l [0.005]0.006 |0.0050.002|0.002|0.002]0.008|0.004 [0.004|0.026]0.002|0.006]0.026 | 0.002 [ 0,006
TR (N0 41 m/t | 0.40 ] 0.24 ] 0.25 ] 0.00 170.02 | 0.09 ] 0,19 ] 0.32.)0.05)0.31]0.49)0.50) 0.50 | 0.00 ) 0,24
BRmER O wg/l | 0.43 1 0.27]0.30 [ 0.01 | 0.04[0.10]0.29]0.38[0.07]0.36[0.50|0.54]0.54 | 0,01 0.27
ABRR (OK) me/) | 0.54 | 0.60]0.67 [0.70 [0.70]0.50 0,56 |0.64)|0.72[0.60]0.50]073]0.73 | 0.50 | 0.62
w0 | ne/t [0.9510.3910.3710.28[0.32 10,42 ]0.35]0.40[0.53[0.89]0.31]0.33]0.53]0.28 | 0.37
et mmescr o0 | meg/l | 0010 10,220,830 ]0.43 ] 0.39 [ 0.08]0.21 | 0.24]0.19]0.20]0.19]0.40] 0.43 | 0.08 | 0.2
wmbasescu-m | ag/l [ 0,78 [0.66 10.6710.29 [0.361(0.52]0.640.78|0.60(0.750.810.87/0.8710.29 /064
wah (M ng/] | 0,97 10.8]0.97]0.72]0.75]0.60 | 0.8 [ 1.02] 0,79 |0.96 | 1.00|1.27]1.27 | 0.60 | 0.90
AR 0, P | mg/) {0,044 [0.046]0.060 (0,057 [0.060|0.034|0.088 |0.074|0.048 0,077 |0.0320.0830.088 | 0.032]0.059
im0, | ng/l | 0,008 [0.007]0.010 | 0,008 | 0.005]0.005|0.043 | 0.056 {0.019 0.025 [ 0.005|0.006]0.056 | 0.003 |0.015
wEiEsu o | s/l [0.01910.020]0.082(0,0160.021]0.017]0.062|0.058]0.035|0.0360.007]0.016]0.0620.016|0.029
sy -1 | me/l | 0,056 (0,068 (0.108[0.089 [0.095[0.051]0.049[0.045 0,062 [0.068]0.078 |0.138{0.138|0.045|0.076
SEBEREER (10) wg/) | 145 14|19 [ 140|184 | 14.9 [ 15.8 [ 16.1 | 13.8 | (3.0 [ 12.9 [ 13.6] 16.1 | 12.9 | 14.2
AR HER (T00) ng/1 .1 f.4 f.2 5.3 4.8 .1 5.8 5.9 5.3 f. 6 b.1 6.6 6.6 4.8 5.8
SBIRRCTO) we/t | 19,6 [ 206 [ 2t 0 [ 1.4 (182210200 [ 220 19.6]19.6[18.0]20.1] 220180 20.0
wittnasrero 00| me/l | 3.9 | 3.9 | 3.4 [ 8.2 | 3.0 | 3.9 | 44 | 44 [ 61 |43 33 ] 386561 3.0 3.9
serrremser -0 | ne | 1.2 | 2.6 | 2.8 | 2.1 | 8| a2 | L4 s |28 188030 L2 ] 20
YAERHEEL (D - Fe) me/) | 0.08]0.20]0.22]0.07]0.10]0.06 ] 0.06|0,08]0.10]0.056]014]013]0.22]005]0.11
BT (D - ¥n) mg/l 10,005( 0,01 | 0,01 |0.009]0,012[0.004|0.006]|0.005{0.003|0.005|0.004[0.004]0.012]0.003]0.010
P mel | 0.29]0.56] 1,18 0.43 [ 0.60 | 0.34[0.89]0.45 | 0.24 [0.43[0.18 [ 1.10 [ 1.18 | 0.18 | 0.56
I H > (M) mg/l | 0,03 0.03 ] 0.05 [ 0,068 ]0.060|0.053|0.039|0.028]0.023]0.053|0.037]0.063]0.068 |0.023 | 0.040
Bl g 1.9 14.8 226 | 94.1]20.8|14.8 20,3} 9.9 [ 12.1]2.9|13.6]34.0] 3401 9.9 | 187
MR (20C) wS/m | 28.65 | 30.7 | 98.7 | 30.2 | 30.4 | 30.6 | 91.4 | 30.2 ] 29.6 | 20.1 | 25.0 | 24.0 ] 31.4 | 24.0 | 29.2
I N we/l | 17,8 0.7 168 [ 15.6 [ 181 [ 14.2 [17.2 14,9 [20.2 ] 16.8 [ 18.7]13.6)20.2 [ 13.6 | 16.5
QYT K NY ne/l | 7.56 ] 7,26 7.68 | 6.67 | 7.74 | 7.49 | 8.14 |'7.83 | 7.58 [ 6.54 | 5,44 | 5,80 | 8.14 | 5.44 | 7. 14
pHAEFNHULE | me/l | 54,1 | 55.5 | 54.5 | 53.2 [ 52.2 | 54.1 | H7.5 [ 60.3 | 60.1 | 53.1 | 49.7 | 46,0 ] 60.3 | 46.0 | 54.2
 H, O we/l | 8.71 [ 3.96 [ 5,95 | 6.00 | 5.56 | 5.34 | 8.82 | 7.98 | .47 | 6.81 [ 5.02 | 6,62 | 8.71 | 3.96 | 6.48
PHEOZWH YR | np/l — — - — - — — - - - — - - — —
BT (50,7 | mg/l | §1.6 | 36,7 [ 36.4 [ 87.0 | 8.2 | 38.4 [ 37.2 | 38.0 | 34.9 [ 32.6 | 28.5 | 27.4 | 38.4 | 27.4 | 34.7
et t Ay | me/t | 35.6 | 38.6 | 42.3 [ 40.6 | 37.5 | 38.9 | 42.0 | 41.6 | 48.8 | 38.1 | 32.1 | 28.9 | 48.8 | 28.9 | J8.8
9 b U A () me/t | 30,9 | 26.9 | 20.7 [32.3 [ 31.3[31.8 [ 32.8 | 84.4|834.7|26.8 | 241 | 24.4[34.7] 24.1 | 30.0
MO LK me/l | 5.02 | 6.36 | 4,25 | 8.59 | 5.10 | 4.86 [ 5.80 | 6.03 | 6.46 | 5.06 [ 4.73 | 5.12 | 8.59 | 4.26 | 5.53
wouna-siy | me/t | 22.8 [ 27.0 | 41,4 [ 18.0 [ 2.6 [ 186 [26.9 (274 [ 18.7(21.9120.6 | 189131.4]187]| 227
[ me/l | 18.88 ] 18.2 [15.54 ] 9.80 | 9.40 [12.01 [14.98[17.81 ) 5.21 | 2,16 | 2.88 | 3.82 | 18.88 | 2.16 | 10.85
yowsaa Chia) | g/l | d4.1 | 42.1 | 38.3 [ 90.7]59.2 [ 32.0 [ 17.0 ) 10.0]66.9|24,040.2]62.5])90.7 | 10.0 | 43.1
b G- | e/l | 1.8 | 3.2 ] 3 [e4 ] o 07 |38 07| 17T 06| 00Y 15| 9.4 ] 0.6 | 2.4
yoaie o |zl | 4.2 | 6.4 | 0.1 | 7.8 | 1,7 [ 4.2 [ 9t | 06|57 ] 24]39]40] 91 01 )40
TaA Tt F Y 2ol | 5.5 | 1.6 6.8 | 85 | 88 | 39 [ 6.1 | 6.2 ]85 |61 |49 |120]120] t.6 | 6.8
By T RmEER | we/l | 0.00 | 0,02 | 0.02 | .02 [ 0.00 | 0.01 [0.01 [0.02[002]001]001]001]0.02]0.01]00l
T SHID AR KRR OFHE L 0 R, 3. P-ON=(ON)—(D-ON) B. P~T P =(TP)—(D-TP)
. P-COD=(COD)—(D-COD) 4, D-TN=(I N)+(D-ON) LITC=(IC)+(TOC)
2. I N=(NH4-N) + (NO2-N) + (NO3-N) 5PN =(IN)-H(ON) 8. P-OC=(TOC)—(D-0C)




KEGEE 6 W - (Fow)
R4 Wil KR R H #3523 SEfR 1 64E (200445)

1 H e | L/ 2/6 3/2 | 4728 | 9/18 | 6/15 | 1/ 8/3 | 9/14 | 10/19 | 11/9 | 12/9 |k il e rnils] T4 41
2-MIB ng/ | 0 0 0 2 4 0 0 0 3 0 0 3 4 0 l
UFAE > ng/ | 0 0 0 0 0 0 0 0 0 0 0 P P 0 0

AB VIOV RS R g/ | — — — — — — — — — — — - — — —

pomiphipife | we/l | — | = | = | = | =] = | = | - | - [ =1 -1 - 1= T =1=

7 OES punMsd RhE | 1g/] — - - - — — — — — — — - — — —
v 7 uihuosb ket | mg/l | — — - - - — - — — — — — — = =
yehgEReE lwe/l | — | — [T — 1 — T — T [ = -] = [ = =1 =1 =T <

BRI L me/) §0.95 ) 0.88 [ 0.97 [0.73]0.76 [ 0.60 ] 0.84 | 1,02 [0.80 | 0.95 | 1.01 | 1.26 | 1.26 | 0.60 | 0.90

CSBEER (I R mg/l | 0.98]0.88)0.99|0.74 077 [0.58[ 07108 |1.02]09 |[1.00]1.29]71.29]0.5810.90

Bask (TR mg/1 ] 0.98 [ 0.91 1097 ]0.74]0.75]0.70 | 0.72 | 0.80 | 0.91 [ 0.94 | 1.04 | 1.34 [ 1.34 | 0.70 | 0.90

18U > D LE mg/1 10.075|0.088{0.140]0.105[0.116[0.068]0.1110.108]0.097]0.104]0.095]0.154]0.154]0.068]0. 105

18U > (10 b mg/1 10.075/0.09310.138]0.103 |0.148]0.0770.145[0.105[0.105]0.118]0.0820.135|0. (48 ]0.075 | 0. 108

YEL R mg/t [0.07810.093/0.143(0.105[0.120]0.087]0.115]0.107[0.107(0,427]0.105]0.14270,143]0.073[0.110
COD .M mg/l | 6,08 | 7.14 | 7.67 | 7.43 | 6.67 | 6.96 [ 7.14 | 6.55 | 7.22 | 8.52 | 6.33 | 7.59 | 8. 52 | 6.08 | 7. 11
CODPg wg/l | 6.26 | 6.86 | 7.75 | 7.41 | 6.91 | 6.32 | 6.34 | 599 | 7.58 | 7.89 | 6.07 [ 7.27 | 7.89 | 5.99 | 6.9
CODTR mg/1 | 6.26 | 6.96 | 751 | 7.29 | 6,77 | 6.94 [6.34 | 6.43 [ 7.99 [ 7.89 | 6.83 ] 7.57 | 7.99 [ 6.26 | 7.07

Kl KkE T — - — — - — — - — — — —

Hiti T 6.8 | 4.8 | 7.8 | 17.0 [ 18.0 | 21.7 [ 25.3 | 28,2 | 258|176 ] 16.2 ]| 11,5
0. 5 C [ 6.3 [ A8 | 7.8 [17.0]180]21,7]20.3]98.2]9.3]17.6[16.2]11.5
l.0m C .3 | 48 | 7.8 | 17.0 ] 18.0 | 21.6 | 25.2 [ 28.2 | 25.3 | 17.5 [ 16.2 | 11.5
2.0m C [ 6.3 ] 48| 7.8 [17.0]180]21.4 25,2 282 2.3 17.6]16.2]11.5
3.0m T 6.3 | 4.8 | 7.8 17,0180 | 21,3 | 25,1 [28.2 ] 25.3 [ 176 | 16.2 | [L.5
4.0m C 6.9 | 4.8 | 7.8 | 16.9 | 18.0 | 2.3 | 25.1 | 28. 2] 2.8 17.5]16.2 ] 11.6
5. 0m T [ 6.3 ] 48] 7.8 [16.8 17,9 21.3 251282 2.3 |1t7.65/[16.2]1L6
6. 0m C — — — {168 - - — - — 16162 11,7
| KM T | 63 ] 4.8 2.8 [ 168 |17.9]21.2 251|989/ 25.3[17.6]16.2]11.7

*DO kb | mg/l | — - - - - - - — - | = - -
XM me/V [ 17120108 9.6 [ 9.6 9.4] 73| 78] 97]88]10.3]09.5%
0.5m mg/l [ 1L6 102 | 1.0 9.6 [ 9.6 | 9.4 72 77]987]88]10.3] 9.5
1. 0m me/l [ LG tL2 1L 9.6 97|91 | n2|77]97] 88 [10.3] 9.5
2. 0m mg/1 [1L6 [ 101 [ 1L0] 9.5 | 9.8 | 87| 72| 7.1 97] 88 10.1] 9.5
3.0m wg/l [ 1L5 [ 12,0 [ 10.9( 9.3 | 9.7 | 84 | 7.1 | 7.7 ] 9.5 | 88 |10.1] 9.5
4. 0m me/l [ 1L 1.o]10.8] 9298|8371 72]94]88] 10094
5. 0m me/L {1410 10.8] 91 | 9.6 83|71 7.6 094]88]69] 93
6. 0m mg/| — — — 8.9 — — — — — 8.7 | 9.8 | 9.4
Jisq ] wg/l | 1.2 1106105 89 | 9.6 | 6.2 | 6.8 7.9 9.4 87| 9.8] 93

sk Ak | Lux ] 94200 [ 52400 [ 50100 | 17440 | 89500 | 56200 | 46000 | 67400 | 29410 | 6560 | 50400 | 6440

Edi] Lux | 22000 | 29610 | 37500 | 12660 [ 47800 | 46600 | 30100 | 49500 | 15970 | 3930 | 26250 | 3550
0.5m Lux | 5150 | 2300 | 3890 | 2600 | 9670 | 22110 | 7480 | 16860 | 2990 | 1264 | 8540 | 267
L.0m Jax. | 1400 | 1488 | 452 | 568 | 2003 | 7680 | 1521 | 4840 | 1122 | 150 | 3530 | &7
2. 0m Lux | 267 | 133 8 26 | 319 | 785 | 72 | 505 | 160 | 10 | 494 P
3.0m Lx | 31 5 0 1 12 | 159 3 53 23 1 105 0
4.0m Lux 6 [ — 0 4 23 0 6 4 0 20 -
5, 0m Lux 0 — — — — 4 0 1 0 — 3 —
6.0m Lux - — — - — - - — - - 0 —
i) Lux - — - — - - — — — - — -

R EORP nY 159 [ 199 | 180 | 121 [ 182 | 164 | 206 | 198 | 106 | 77 89 | 234

=
=F

i

+ DOWDOFHc kA Mk




KEFEE (D —HOMp—  (Fol)

BT PO K% Fydeu iilES) el PR | 648 (200448)
5 H Bz | 1/6 26 | 8/2 | 4/23 | 5/13 | 6/15 | 1/6 8/3 | 9/14 110719 | 11/9 | 12/9 |FAME| e il SE 4
X & i g 4t a | & I & %) & & 5 4t !
AR Moy | 7:65 | 7:68 | 8:03 [ 8:28 | 7:50 | 7:52 | 8:05 | 6:839 | 7:32 | 7:25 | 7:82 | 7:40
KR m 5,73 | 5.83 | 6.67 | 5.68 | .75 | 5.88 | .51 | 5.15 | 5.60 | 5.65 | 6.56 | 5.61
FRIR IR m 0.50 ] 0.50 | 0.50 | 0.50 | 0.50 | 0.50 [ 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50
R T 4.8 4.0 4.7 1140 1 22,5 | 24,8 | 28,3 | 28.0 | 26.4 | 16.9 | 138.2 | 11,0
KO T 6.0 1.4 7.4 | 16.9 | 18.8 | 22.1 | 26.7 [ 28.0 [ 25.6 | 17.8 [ 16.6 | 11,91 28.0 | 4.4 | 16.8
i) HOURA | WD | AR | em | RONBIE| RS | onm | RRE | wesE | o | e | e
O (AL MERL | MR (§g-b B MRSl | RS |spvor| SRR | AREL [ AR | RN |sheus| fELL
YERAREE em 23.4 [ 18.2 [ 18.2 | 17.6 [ 21.0 | 22.8 | 17.6 [ 22.6 [ 21.0 | 16.4 | 28.5 | 16.4
B m 0.58 [ 0.40 | 0.40 | 0.42 | 0.51 | 0.68 | 0.45 | 0.53 | 0.82 | 0.46 | 0.65 | 0.48 | 0.82 | 0.40 | 0.53
K4 18 18 17 18 18 18 17 16 17 16 17 17
pH .75 [ 1.79 [ 7.88 | 873 | 7.88 | 8,48 | 7.86 | .73 | .26 | 7.62 | 7.52 | 1.94 | 8.73 | 7.26 | 7.85
DO ng/1 | 10,89 11,79 (10,48 [10.04 [ 10,17 [10.17 ] 7.76 | 7.71 | 10.06 | 8.35 [10.04]J0.26 | 11.79 | 7.71 | 9.80
BOD ng/| 1,05 | 1.62 | 1.56 | 3.96 | 2.74 | 3.13 [ 1.55 | 1.01 | 2.93 | 1.35 | L.87 | 2.71 | 3.96 | 1.01 | 2.12
CODy, mg/i | 5.96 | 6.84 [ 6.99 | 7,90 | 7.17 | 7.24 | 7.34 | 8.77 | 7.24 | 8.29 | 6.090 | 7.33 ] 8.77 | 5.96 | 7.26
D CODy, ng/| - — — — — — — - — — — — - .= -
'P - CODyy ng/| — - — e — - — - - - - - - - -
cope, w) | - | - | = - -] -T-[=T=-1T-=-1T-T=-17T=17T=-1=
D-COD¢, ng/1 — - — — — — — — - - - - - — —
s ag/l | 13.0 | 19.0 | 25.0 | 28.0 | 16.0 | 13.0 | 18.0 | 15.0 | 15.0 | 23.0 | [7.0 | 28.5 | 28,5 | 13.0 | 19.2

KIS R upy/100at |4, OE+2| 7. 90 L[ 2. 3E42 |4, 9E+2| 1. TE+2| 1. 3B+42| 7. 9B+2| 4. OE+2( 7, 9643 1. 3E+3[ 1. 3E+3[4. YB42[ 7. OB43 | 7. OB+1| 1. 2E+3
uExpm | sum | <L d <i L |6.0E+0] <4 [ LLOG+D| L IEHL] <1 |2.GEH0[L.OE+0[ <t [ IBHL| <) [1.8EHD

B (D ng/1 | 0.89 | 0.94 [ 0,92 [0.75 [0.72 | 0.65 [ 0.78 [ 1.19 ] 0.71 [ 0.88 | 1.07 | 1.31 | 1.81 | 0.65 | 0.90
1Y (1) ng/1_|0.0610.097 [0.146.[0,103[0.095]0.075 [0.107]0.116[0. 101 [0,107]0.069 |0.108]0.146 | 0.061 | 0.099
a0 ¢in) g | - [ - [T -T-1T-T=-1=-1-1-1=-1=1=-1=1=

TAZDMEXROL-D [ ng/t 0,02 ] 0.03 | 0.03 | 0.00 | 0.03 | 0.03 {0.09]0,05]0.03]0.03]0.01]002]0,09]0.00| 0.03
THRIRABLER (0,0 | mg/1 [0.004 | 0.005]0.005{0.004 |0.002[0.002|0.006|0.005]0,003]0.017]0,002|0.007}0.017 0,002 |0.005
TRRZERW0,-N) | ng/1 [ 0.33 10,27 1 0.28 | 0.01 | 0.03 | 0.15 | 0.15 | 0.34 ) 0.02 | 0.18 ] 0.59 | 0.59 ] 0.59 | 0.0} | 0.25
im0 ag/l | 0.35 | 0.81]0.32]0.01 |0.06[0.18]0.26[0.40]0.05]0.23]0.60]0.62]0.620.01)0.28
RS N ue/t | 0.64 | 0.64 | 0.60 | 0.74 | 0.66 | 0.48 | 0,52 | 0.80 | 0.66 | 0,66 | 0.46 | 0.68 | 0.80 | 0.46 | 0.62
BHRETRRAE O - o) | ng/l - — — - — - — - — — '
R e o0 | ng/l - - - - - - - -

MHREBSER0 - ™) | ng/l - - - — - - — —
SRR (CT8) ng/1 0.89 [ 0,95 |0.920.76]0.72| 0,66 |0.77 ] 1.20]0.71 ] 0.8 ] 1.06 | 1,30} 1.30 | 0.66 | 0.90

AR e0,-P [ g/t [0.037[0.053]0.041 |0.062 (0,040 [ 0,034 10,101 |0.082[0.059|0,070]0.033)0.055]0.101 | 0,033 | 0. 056
mmezimano-roon | g/l | 0.008]0.010]0.008 ]0.003|0.003 [0.006]0.048 | 0.059 | 0.026 | 0,025 | 0.003 | 0. 005 | 0.059 | 0.003 | 0.017
wwggucoom | w) | - | - | - |~ | = | =] =] =
WYy rem | wg) | — | — | = | = | = | = | = | —

HIAREGHR (10) ng/l | 14.3 [ 13.0 ] 18.5 [ 13.4 | 14.3 | 15.0 | 16.4 | 16,0 | 13,7 | 18.0 [ 13.8 [ 13.0f 15.4 | 13.0 | 13.8
AohesesRo0 | me/t [ 5.3 | 5.6 | A6 | 5.1 | 4.7 [ 6.0 | 6.0 | 7.1 |6 6,6 | 5.3 | 6.4 [ 7.1 | 4.7 | 5.
BB CTO ng/t | 19.6 ] 18,5 | 10,1 | 18,6 [ 19.0 | 21.0 | 21.4]22.1 |19 19.6 | 18.6 | 19.4f 22.1 | 18.5 | 8.7
BIHRAATRBEGR O - 00| mg/l - — - - - - - - - - — - —
sFEs e 0 | ng/l | — - = = = - = - - - - - - - -
RS 0 P | w1 [ — - - - - - - - — — — - - — -
RO 70 - | mg/l | — - - - - - - - - - — - - - -
#% (Fe) g/ | - - - - - - - e - | = ~ - - -
2 i) e/l | = - | = - - | - - - - — - -
Hom e | 12.6 | 17.0.) 17.4 | 28.8 | 16,4 | 14.2 | 18.5 | 12.5 | 14.6 | 20.8 | 13.4 | 24,8 12,5 | 1
e 0T) a/m | 2001 | 20.8 (80,3 | 29.4 [ 82,1 | 81.7[31.8[29.¢ |31.3)30.8)24.8 240/ 321 | 24.0 | 29.°

AN L L) ng/1 — — - - -
A S2rFNCT] g/} — — — — — — - - - -
PHA ST LAY we/l | 64.1 | 64.0 [ 55.0 [ 51.4 | 53.0 | 55.9 | 63.9 | 58.9 [ 61.1 | 55.3 | B8.5 | 46.2 | 63.9 | 46.2 | 55.2

D HY, 0L we/t | 7.83 | 4.16 | 5.85 15.60 | 5.76 [ 4.93 | 871 | 9.73 | 6,67 | 7.82 | 6.62 | 6.20 ] 9.73 4,16 | 6.57

p HI. 07 LA U i ng/ — — — — -

Biftt A2 ($0,27) | ng/! — — — — _ —
ittt o) | ne/l | 89.0 | 891 | 525 | 38.4 [ 4L.2 | 41.2 | 39.3 | 49.8 | 47.4 [ 47.3 [ 29.7 | 20.0 | 52.5 [ 2.0 | 41.2

211 4 (a) g/ — — — — — — — —~
Fe v s () g/ — — - — = — — — — - — — — — -
BPUHT 30, | ng/) — — — - — — — — — — — = — — -
AL my/| — — — — - — - | = - — — — — — ~
e ©m-o | xg/t | 468 | 36.7 | 43.3 [102. 4] 54.8 [ 301 ] 4L 7.1 1478 | 28.7 ) 44,31 66,9 1102.4) 11.1 | 42,5
b O | pe/1 | LY | 8.9 | 2.7 |12 48 | 2.4 06 | 20| 2881|3321l [11.2] 06| 34
b @t | pz/1 | 5.8 | 2.7 | 7.0 [UL.s] 7.9 [ 2.6 | (.6 3.7 8783 109} 03| (l.5] 03|59
Sed 747y | pwt] 6.3 | %2 | 29 [18.7]19.8] 76 | 87 [ 1.2 59 |61 |10.2(166]198 | 2.9 | 9.9
i A — — — — — — — | = — - - = — — -
RES sHIO TR K ROZHNUC L O RWE, 3. P-ON=(ON) — (D-ON) 5. P-TP=(TP)—(D-TP)
LP-COD=(COD)~(D-COD) 4L D-TN= (1 N)+(D-ON) LTC=(1C)+(TOC)

2. 1 N=(NH4=N) + (NO2-N) + (NO3-N) 5. TN=(N)+{ON) B P-OC=(TOL)-(D-0C)




—PE W —

4 FEOMU B SERELG4E (200442)
brst Bl onisr 8/3 | 9/14 1/9 | 12/9 [ Bkl oM
2-MIB ng/ 1 — — — — — _
UARI g/ 1 — — = — — —
$ENND AT LR mg/1 — — — — -~ —
yooaphAcERRE | e/l - - - — - —
7 uey yun v R | we/l - - - — — -
v 7 mepnmy v e | me/l - - - - - -
7 DEbAERREE | mg/l — — — ~ — —
RSN LB ng/ | 0.78 | 1.19 | 0.71 1,07 [ 1.31 ] 1.31 | 0.65
FEREHE (TN b ma/1 : — — — — — —
BREKO TR wg/1 0.85 | 0,81 | 1.04 LO5 [ 1.29 ] 1.29 ] 0.70
S5V > (P) kIH mg/1 0,107 [0.1{6[0.101 0,069 0,108 [ 0,146 | 0,061
wy>anam | pe/l - - - - — —
BUANTR mg/ | 0,411 (0,111 (0.109 0.07910.123]0.123 | 0.060
CODPLE ng/1 7.94 | 8,77 | 1.24 5.09 | 7.33 | 8.77 | 5.96
CODHEF ng/1 - - L= - — =
CODTFR ng/| — - — — — —
K Kk T - — - -
i C - — — -
f.bm T - — - -
1.0m T — — — —
2.0m T —- — — -
3.0m C — - = -
4. 0m C — - - -
5. 0m T - — - -
6. 0m T — — — —
K T — — . _
*DO kE | mg/l — - - -
i wg/ | — - — -
0.5m me/ 1 - - - -
L0m ng/ 1 - — = =
2.0m g/ 1 — — = —
3.0m wg/ | — - = -
4.0m mg/l - - - -
5. 0m mg/1 - = = —
§.0m wg/ | - — - -
Jisdifi] ng/| — - — -
AhlEE gkl | Lux - -~ — -
HE Lux — — _ _
.5m Lux - - — —
1.0m Lux - - — -
2. 0m Lux — - - -
3.0m Lux — - — -
4. 0m Lux - - - -
5. 0m Lux — - — —
6. fm l.ux — - - -
Jisdj] Lux = - - -
PERTL.EORP wy — — - -

s

D OFHZ LA MELS

v




AREHEKR B —ppdkdw- (FOD
IS e eau KBt T T4 B or SEREBAE (20044E)
TH B| BLGE | /6 | o/6 | 8/2 | 4728 | 5/13 | 6/15 | T/6 | 8/3 | 9/14 | 10719 | 11/9 | 12/9 | TR | fes it | SES
KR a8 i 4 gt g % I & 4t i) g £
AR For [12:18 11308 [10:66 [ 12:12 | 13:26 [ 11:67 (1601 [12:43[12:2912:01 ) 13:13|11:40
KREE m | 1.82 | 1,82 | 1.90 | 1.68 [ 1.72 | 175 | 161 | 1,69 ) 1.71 | 1,78 | 1,81 | 1.82
FkokgE m | 0.50 {0.50 | 0.50 [ 0.50 | 0.50 | 0.50 | 0.50 | 0.50 [ 0.50 { 0.50 | 0.50 | 0.50
S C 8.0 8.2 8.4 | 4.5 [ 24,2 | 30.7 ] 31.9 | 31.6 | 31.3 | 17.9] 226 | I1.0
K OH T 6.9 | 5.8 | 7.8 | 18.0]20.1 | 25.0 | 27.2 | 29.6 | 27.0 | 17.9 [ 19.0 | 11.2] 29.6 | 5.8 | 18.0
il ST | WO | OSHN | B | W | RRE | UOREE | RENE | RHDR | MO | WA | e
BOR (&0 MELL | AEEL Y-Sl MESL | fiest B9l JENR | SR | AR |simom| MEEL | JESL
W e 23,6 | 13.4 1 18,0 | 13.0 [ 18.5 | 17.0 | 18.8 | 21.4 | 15.9 | 15.8 | 25.6 | 14.0
B m | 0.580.36]0.36[0.30[0.27]0.56[0.38]0.48]0.65]0.38]0.53[0.88]0.65]0.271]0.44
i ‘ 18 18 17 18 18 18 18 16 17 16 17 17
nH. §.06 | 7.86 [ 8.18 [8.92 1842 | 8.22 | 7.99 | 8.13 | 7.52 | 7.64 | 7.39 [8.23 | 8.92 | 7.39 | 805
DO mg/l | 12,75 (12,59 11.52] 9.88 | 11.88 | 13.41 | 8. 14 | 7.23 [12.82] 9.55 [ 12,08 11.16]13.41| 7.23 |11.04
BOD mg/l | 1,84 | 2.42 | 2.87 [ 4.10 | 4.34 | 5.15 [ 2.02 |2.14 | 2.91 | 1.82 | 2.29 | 3.46 1 5.15 | 1.82 | 2.95
COD, mg/t | 6.66 | 7.67 [ 8.59 [ 8.95 | 8.92 9,00 7.50 | 7.66 | 8.59 | 7.42 | 6.43 | 8.19 ] 9.00 | 6. 7,97
D« CODy, ag/1 — — —_ — — - — — — — — — — —
P CODyn ng/1 — — - - — - - — - — — —~ — — —
CODg, g/ — — — — - — — — — — — — — — —
D-CODg, ne/} — - — —_ - — - — — - — —_ — — —
Ss ng/| 17,6 | 32,0 | 33.5 | 85.0 | 34.5 | 16.5 [ 15.0 | 14.5 | 20.5 | 28.0 | 14,5 [ 32,0 | 35.0 | 14.5 | 24.4
KIPHTER wen/100m | 1, TE42| 1. 3B+2] 2. 3E+2| 1. 7E+3| 1. 3E+3| 1. 3B+3| 7. 4B+2| 4. 0R+a| L. 3043|4. 9B+3| 2. 3B42| 1. 35+3| 4. 9B+3| L. 3E+2| 1. 3E43
AT | /00 | 2, 0B+0| 2. 0B+0| 3. 0B+0| 2. 0B+0 2. 0B+0| 7. 0B40| {1 |2.0B40| <1 [2.0B+1| 1. 0E+0[4. 0B40) 2. 0B+1| <1 |3.8E+0
RN me/l | 0.78 [ 0,87 [ 0.80 | 0.82 | 0.84 | 0.88 [ 0.67]0.92 | 0.64 | 0.73 | 0.88 | 1.19 | 1.19 | 0.64 | 0.84
1BV > (ap) mg/l | 0,066 ]0.1050.150]0.115.10.129 0,095 (0,084 |0.099 |0.084 [ 0.091 |0.066 0, 126]0,150]0.066 | 0.101
TEHH () ng/1 — — — | 0,005 — [0.015] — 10.008] — |0.027] ~—. |0.004]0.0627]0.004]0.012
TAZSMBRER (i -N) | me/1 | 0,02 [ 0,02 | 0,02 0.01 [ 0.030.03|0.03]0.02|0.03]0.02]0.01]0.01]003] 0.0l |0.02
TR B 00,0 | wmg/l [ 0.005 | 0.006 0,005 |0.000|0.002|0.003|0.005|0.007 |0.002|0.009|0.003 0,007 0,009 | 0.000] 0.005
THREARSESE (K050 we/l | 0,170,141 0.03 0,00 0.03]0,09]|0.03]|0.43/0.00]|0.10]|0.32]0,35]0.,35]0.00]0.12
Higmak (m wg/l ] 0.20 ] 0.17 ] 0.05 | 0.01 | 0.06 | 0,12 | 0.07 | 0,16 | 0,03 | 0.13 | .33 | 0.37 0.37 | 0.01 | 0,14
AT ISR (ON) me/1 | 0.69 | 0.72(0.74 [ 0.810.780.76 | 0.59 0,76 | 0.61 | 0.60[0.54 0.8 [ 0.8 |0.54]0.69
FEATRMNE D 00| /) — — — — — — — — — - - — — — —
SerErRmes e o) | g/ - - - - - — — - - - - — — - -
FAEBERCD ) | my/l - — - - - = - — - - — - - i
Bk (1) we/1 | 0,79 | 0.89 ] 0.80 | 0.82 [-0.84 | 0,8 | 0.66|0.92|0.64)0.73[087 | 1:18]1.18 | 0.64 | 0.84
IR (00, - | me/l | 0.042]0.061]0.051(0.070{0.069]0.053|0.059)0.049 [0.050 | 0. 064 |0.028|0,05470,070 | 0.028 ] 0. 054
wistamo-pe» | ng/l | 0,006 | 0.010(0.008|0.003[0.003[0.006|0.01%]0.031]0.018]0.016[0.002|0.006)0,031 |0,002 0,011
VRERY > @ - | ng/) — — — — — — — — — — — — — — —
B ERY > | ne/ - - - — — — - — — — — — - — —
FUBIRER 10 we/) [ 14.9 [ 18.4 | 14.0 | 18.2 | 15.4 | 14.4 [ 14.9 | 16,7 [ 13.0 | 12.5 | 13.1 | 18.5 | 15.7 | 12.6 | 14.0
TR0 | ng/l | 5.6 | 6.2 | 6.9 | 6.4 | 5.1 | 7.5 | 6.3 | 6.7 | 7.0 | 6.0 | 54 | 6.6 | 7.5 | 6.1 | 6.2 |
BHR(TO wg/l 12004 119,61 20,9 0 18,5 20,5 | 21.9 | 21.2 122,41 20.,0) 18,5 (1851 20,11 22.4 | 18.5 | 20,2
WRIERELGE @ - 00 | ng/l — — — — — — — — — — — — — — —
WTHEIRERET 00| ne/l | — - — - - - - - - - - - - - -
WA O - Fe) ng/ - - - — — — — — — — — — — — —
Y v M) | g/ — — — — — — — — — — — — — — —
% (Fe) /| — — - — — — — — - — — — — — —
R 2 ) g/l - - - - — - - - - - - - -
¥R s | 16.3 22,8 27.7]50.3 ] 28.5 | 18.3 | 16.8 | 13.4 22, 2.5 | 28.8 [ 30.3 | 12.5 | 2.0
B (20C) p$/m | 34.4 32,3 132.5133.4139.639.5133.3]32.2 91,9 | 25,9 1 26.3 1 39.6 [ 2.9 [ 30.7
AL Ca) ' — — — — — — — — — — — — —
TURVOAND | wg/l — — —~ — — — — - - — - — — — .
pHASTAHUE | s/l | 59.7 | 56,0 | 55.5 | 66.2 | 57.6 | 72.8 | 46.6 | 63.3 | 63.3 | 54.1 | 53.7 [ 50.9 | 748 | 46.6 | 57.4
» HY, O ag/l | 6.14 | 4.36 | 4.56 [ 4.80 [ 6,95 | 3.49 [ 7,92 [10.6) [ 5.49 | 6.61 | 6.62 | 6,00 | 10.5] [ 3.49 | 6.07
PHYLOZ KUK | m/l — — — — — — — — - — — - - - -
BN A 60,7 | ng/ — — — - — -1 - — — — -~ - - - —
Hubaga A (1) we/t 1 48.5 | 44.9 | 50.1 [ 48.2 | 59.0 [ 69.6 | 43.2 | 51.0 ] 49.1 | 43.0 | 32.9 | 34.4 | 59.6 | 32.9 | 47.0
2 U 94 () it/ 1 — — — — — — - - — — - - = - -
EPEING) ng/1 — - — — — — — — - - - - - - -
BIUHT 810 | ne/) — — — — ~ — — — - - - — — — —
] ng/1 — — ~ — — — — = — — ~ - — — —
p0974%-a (Chi-a) we/t [ 51,0 [ a8 76.0 [ 76.5 | B4.1 [ 0.4 | 22.3 | 34.9 | 44.1 | 22.7 35.0 | 105.8[105.8 | 22.3 | 51.8
yonzii-b (Chi-b) pe/V | 4.2 5.0 | 0.0 | 12.1] 6.0 2.7 0.9 0.9 5.4 2,0 | 0.0 3.6 1 12.1 1 0.0 4.1
yanriie o) | e/l | 8.7 | 7.4 | 80 [ 186 18] 5.1 | 1.4 [10.7 (108 2.2 | 6.6 [21.8]21.8 | 1.4 | 9.8
Zad 7 FY e/t ] 2.7 | 5.7 | 4.9 | 169 [ 171 | 23 [ 6.0 [12.9]13.9] 6.9 [ 3.1 | V7.6 | 176 | 2.3 | 8.1
Rar A st | me/t — — - - = - - - = — - - - — —
g sHIOWHILKROFRIZ L O RDE, 3, P-ON=(ON)—(D-ON) 6P -TR=(TP)-(D-TP)
LP-COD=(COD)~(D-COD) - 4. D-TN=(1N)+(D-ON) L.TC=(1C)+(TOC)
2. L N=(NH4-N)+ (NO2-N) + (NO3-N) 5. TN={1N)+(ON) 8. P OC=(TOC)~(D-0C)




KEGE& (B =M - (Fo)
P4 SR Kt FIHYI Gl o i SEAY 1645 (20044F)

Bi5| "H BLGE | 1/6 2/6 3/2 | 4/23 | 5/13 | 8/15 | /6 873 | 9/14 [ 10719 | 1179 | 12/9 [ AR A% | /M| b fi
2-MIH ng/ | () 0 0 3 9 4 0 0 7 0 0 b 9 ] 2 -
YRR ng/ 1 0 0 1 0 1 2 0 0 0 0 0 2 2 0 |

FRMIN Y : B mg/1 [ 0.051]0.053[0,056]0.065]0.086 0,121 0.094[0,102]0.073[0.074[0.057[0.054]0.121[0.051]0.074

ynodlhh it e mg/1 | 0.0019[0.023]0.027]0.080]0.035(0.069]0.044 |0.044 | 0.034[0.032(0.026[0.024]0.068{0.019 0. 034

7 0¥ domig sk | me/1 10,020 [0.01910.020(0.023 [0.030(0.037(0.032|0.036|0.026|0.0270.020(0.020(0.087(0.019|0.026
¥ 7 ughoniyvdpkgl| we/1 [0.011]0.010[0.008|0.011[0.019[0.014]0.016|0.0200.012[0.014(0.010[0.009]0.020(0.0080.013

7" DEHkAAE BR B me/1 10,001 [0.001 [0.001[0.001[0.002]0.001{0.002]0.002[0.001|0.001]0.001]0.001][0.0062]0.00t]0.00{

AR (TN LR wg/1 | 0.78 | 0.87 | 0.80 | 0.82 | 0.84 | 0.88 | 0.67 | 0.92 | 0.64 | 0.73 | 0.88 | 1.19 ] 1.19 | 0.64 | 0.84
BRI R mg/1 { 0.8 ]0.86]0.79]0.82]0.8 |0.80 |06/ [1.11]0.80]0,70/087]|1.15}) 1.15]0.61 |0.85
BYERONTE mg/l | 0.88 [ 0.99 | 0.79 [ 0.81 [ 0.84 | 0.86 | 0.58 | 1.24 | 0.99 [ 0,72 [ 0.90 | 1.13 | 1.24 | 0.58 | 0.89
Y > (P L we/l 10.066]0,106(0,150|0.115]0.129(0.096 |0.084 |0.009|0,084|0.0841|0.066]0,125(0.150 0,066 (0,101
Y 2 ap) g mg/l 10.072(0,110[0.434]0.114(0.121]0.101[0.088|0.103|0.096|0.089|0.065|0.119]0.134|0.065]0.101
BUAPTHE mg/1 | 0,069 [0, 113]0.136]0.119]0.124 (0,130 |0.086|0,111]0,115(0.102(0,073[0.121]0.136]0.069 |0, 108
CODLE mg/l | 6.66 | 7.67 | 8.59 | 8,95 | 8.92 | 9.00 | 7.50 | 7.66 | 8.59 | 7.42 [ 6:43 | 8.19 | 9.00 | 6.43 | 7.97
CODHE g/l | 7.08 | 7.69 | 8.45 | 8.85 [ 8.84 | 9.06 | 7.38 | 7.56 | 8.39 | 7.26 | 6.31 [ 8.01 | 9.06 | 6.31 | 7.90
CODFR meg/l | 7.19 ] 9.27 | 8.37 | 8.74 | 8.80 | 9.58 | 7.94 | 8.97 | 8.83 | 7.54 | 6.4 | 7.865 ]| 9.8 | 6.45 | 8. 29
K| Akl T — - - — — - — — - | - - -
il COR I T e e I I N I A e e
0.5m T | -1 - =-T-1=-1T-T=-1T=-T=-T=T=1-=
I.om T |- - -T=-1T-T=-T=-1T=7T-T=T=-1T=
2.0m c |l -l -|l-]l=-1l-1l=-lT=-1l=1=-1=-1=1=
3.0m c |l -l -l=-1-|=-1-1l=-1=1=-1=-1-1]+=
4,0m T — — - — — - - - - - - -
5.0m < | - [ -1 -1T-1T-1T=-1-1-1-1T-1-1=
6.0m c |l -]l-1-1-1=1l=-1=-1=-1=1=-1=1=
il T — - — — -~ — - — — — — —
*D0 Kk w1 | = | = [ = [ =[] -] -]T-1T~=1-1~
Exyii] ng/1 - - - - - - - — - - - =
0. 5m g/ — - - = - - — - - - - -
[, 0m mg/1 - = - - — = - - - - - -
2. (mn ng/| - - - - — - — - - - -~ -~
3.0m - g/ | — — - - - - - - - - - -
"4, 0m g/ | — — — - - — — — — - - -
5. 0m g/ — — — — — - - - - - - -
6. hm ng/ | — — — — - - = - - - - -
JEETT [ I I R I I ) I B I I
JRpREE sk | Lux - - - - - - - - - - - -
E3] Lux — - — - - — - - - — - -
0.5m e | - [ - [ -] -]1-]=-1=-1-1-1=1=1 -
l.0m Lux - — — - = - - - - — - -
2.0m wy | - [ -] -] =-1=-1l-1-1=-|=-1=1=1=
3.0m Lux — — — - - — - - - - - -
4.0m w | - [ -1 ~-T-1T-]T=-1-1=-1-"1T-1-1-
5. 0m Lux — - - — - - = - - - — —
6. 0m Lux — —- — - - - —_ — — — _ _
Q) Lux — — — — - = = = _ _ - -
BERWLORP Y - - - — - - - . - - - -

¥ DOWD ORI L2 s




NEFEEZR (O —HEH- (FDD
g SRk R Kpt FIHI GHIES ol SRR 164 (20044F)
e - H BT | 1/6 2/6 3/2 ) 4/28 | /13 | 6/15 | 7/6 8/3 | 9/14 | 10719 | 11/9 | 12/9 |FEAR{E| I/ il | P4
E ) I & B i % 5 ey P P
BRI WS | 9:56 [10:19 ] 9:46 | 9:56 [10:09] 9:38 | 10:1971 9:14 | 9:24 | 9:39 | 10:24 | 9:2¢
SR m 3,15 [ 3,05 3.00 | 6.18 | 2.8 | .14 | 2.05 | 2,01 | 2.8 | 2.91 | 3.14 | 3,23
Rk m 0,50 | 0.50 | 0.50 | 0.50 | 0,50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50
8 T 5.8 5.1 7.2 | 14,7 23.5 | 28.0 | 27.9 | 32,0 | 28.2 | 17.7| 20.5 | 11.4
K OH T 7.0 0.0 8.0 | 17.8 ] 20.8 | 24.0 ] 26.9]29.0]27.2]17.4]18.0]10.6] 20.0 5.6 17.7
A B wem | e | sormm | wees | Aen | wew | 2nE |sxem | s | wees | weans | soses ‘
B (R L | desL [gg-bn| est | MeSl [ggba] Mest | Mest | gest | MR [meus| S5
BRI []1] 15.0 | 10.8 | 12.0 | 1.0 | 6,8 | 13.6 [ 10,2 | 11,0 | 15,9 | 17.6 | 23.0 | 20.8
BB m 0.36 | 0.32 | 0.35 | 0.30|0.31]0.40]0.23]0.32|0.67]0.51|0.50 ]| 0.54] 0.67 | 0.23 | 0.40
K& 19 18 | 17 19 19 18 17 18 17 16 17 17
pH 7.65 | 71.68 | 7.78 | 8.90 | 7.85 | 8.43 | 7.86 | 7.62 | 7.43 | 7.44 | 7.69 | 1.77 | 8.80 | 7.43 | 7.84
‘Do mg/l 10.55|11.40010.27] 9.68 | 8.28 | 10.28] 7.82 | 9.29 |12.96| 7.35 |10.3610.38}12,96] 7.35 | 9.89
BOD ng/| 1,47 1 2.30 | 1.41 | 8.42.| 3.55 | 6.06 | 4.59 | 1.98 | 2.82 | 1,41 | 2,956 | 2.36 [ 6.06 | 1.41 | 2.86
CODy, we/l | 6,10 | 6.23 | 7.17 | 8.28 | 9.00 | 8.65 | 9.33 | 7.18 | 889 | 5,13 [ 6.29 | H.44 ] 9.33 | 5. 13 | 1.22
D - CODyy e/t | 4,02 | 4,833 | 5.00 [ 4.26 | 5.07 [ 6.39 | 5,35 | 65.26 | 5.32 | 4.18 [ 8.40 | 3.21 ] 5.89 | 3.21 | 4.57
'P . CODy, ng/ 1 2.08 [ 1.90 [ 2,17 4.02)3.98(38.26)3.98 | 1.92 | 3.57]0.95|1.89|2.23]4.02 | 0.95 | 2.66
CODg, ng/1 — — — — — — — — — — — — — — —
D CODg, - — -~ - - — — — — — — — - — —~ —
5SS mg/l | 26.6 [ 32.5 | 31.0 | 44.5 | 84.5 1 25.0 | 50.5 | 28.5 | 26.5 | 19.5 | 23.0 | 18.0 ] 84.5 | 18.0 | 34.2
RIS WP/ (00l | — — — - — - _ — = _ — — _ - —
FOGERMMRN | #1000 | — - - - - — - - - - - - - - -
SRR ng/| 2.00 | 2.25 1.82 1 0.96 | 1.14 | 1.60 | 1.47 | 1.09 | 1.25 | 2.34 | 2,06 | 2.17 ]| 2.84 ] 0.96 | 1.68
wy>ar) mg/) [ 0.079(0.115/0.138(0.122(0.192[0,126|0.159[0.127]0.088 0,126 (0,092[0.087[0.192]0.079]0.121
S () ng/| - — — — — — — — ~ — — — — — —
TATIMBSER (G, | mg/ | 0.11 | 0.13 0,04 | 0.01 | 0.05 | 0.02 | 0.06 | 0.03 [ 0.04 | 0,14 [ 0.00 | 0.01 [ 0.14 | 0.00 | 0.05
TR 00,9 | me/1 [0.014 0,018 (0.013]0..008(0.012|0.084]0:075[0.008[0.010|0.031 [0.037]0.021(0.084)0.008 |0.028
HRAREEH (R0 5-N) ng/| 1.84 [ 1.56 [ 1.17]0.09 | 0.13.] 0.76 | 0.51 | 0.50 | 0.38 | 1.72 | 1.74 | 1.81 | 1.81 | 0.08 [ 0.98
iR (I ng/1 1.46 [ 1,71 ] 1.92 [ 0.11 | 0.19 | 0.86 | 0.65 | 0.63 | 0,43 | 1.89 [ 1.78 | 1.84 ] 1.89 | 0.11 | 1,06
SRR (0N mg/l | 0.55 [ 0.54]0.61 (0.8 ]0.96 073082047 0.8 |0.45|0.28|0.34] 0.9 | 0,28 | 0.62
WIRBATIRARMR B 00| ng/l 0.36 10,36 |0.40 | 0,38 0.33] 0,87 | 0.36 | 0.39 | 0.45 | 0.35 | 0.24 | 0,27 | 0.45 | 0.24 | 0.35
sepsgrmemencr oo | we/l [ 0,20 0,18 [ 0.21 1 0.47 | 0.63 | 0.86 | 0.46 [ 0.08 | 0.36 [ 0.10 | 0.04 | 0.07 | 0.63 | 0.04 [ 0.26
BRESRERC - | ng/] 1.81 | 2.07 | 1.62 | 0,49 | 0.52 | 1.28 | 1.01 | 1,02 | 0.88 | 2.24 | 2,02 | 2.11 ] 2.24 | 0.4 | 1. 42
BER (m ng/) 2.00 [ 2.25 1 1.83 10,96 | 1.16 | 1.59 | 147 | 1.10 | 1.24 [ 2.34 | 2,06 [ 2.18 | 2.34 | 0.96 | 1.68
ARMIRY Y (P04 ~7) mg/1 [ 0,077]0,087|0.105{0,094[0.188[0.069|0.106 [0.116[0.035[0.088|0.054|0.047]0.188]0.035 |0.090
w20, | ng/t [0.010]0.016 |0, 018 [ 0,005 0.005[0,008|0.021|0.048|0,0050.047 |0.008 0,006 [0.048|0.005|0.016
PRy >0 | ng/t 0,028 10.029(0.097(0.019]0.021(0.038|0.039[0.053]0.017]0.041]0.032[0.016]0.053 [0.016 0,031
BTHRY P9 | s/l | 0.051)0.086|0,101]0,103]0.171(0.088|0.120/0.074|0.071]0.085|0.060]0.071]0.171 | 0.051 | 0. 090
EABROGR (10) ng/1 14.7 | 14,1 | 14.4 | 13,4 | 14.7 | 14.3 | 15,0 | 15,5 | 13.7 | 185 | 3.1 | 18,3 [ 16.6 [ 13.1 | 14.]
AT RN (T00) ng/! 5.5 h. 6 0.4 5.1 5.1 6.9 7.4 6.6 7.4 4.5 4.9 4.9 7.4 4,5 5.9
BHEO ng/1 202 1 19.7 1 20.8 ] 18.5 | 19.8 | 21.2 | 22,4 | 22.1 | 21.1 | 18.0 | 18.0 | 18.2°| 22.4:-| 18.0 | 20.0
VESERETIAE O - 00 | ng/l 3.8 3.7 4,0 3.0 2.9 1.1 4,2 4.6 4.1 3.6 |-3.1 3.5 4,7 2.9 3.8
WTEARBRRCE 00 | n/l 1.7 1.9 2.4 2.1 2.2 2.2 3.2 2.0 2.7 1.0 1.8 1.4 3.2 1.0 2.1
WEERE D  Fo) ng/ — — — - | - — — — — — — — -~ — —
WSRO ¥ (0 - Hn) ng/1 — — — — — — — - — — — — — - —
8% (Fo) A/ | — — — — — - — — — — — — — — —
72N M) ng/ — — — — — — — — — — — — —
» K i 31,2 [ 821 1377 | 60.4 | 25.6 | 48.2 "98.5 | 1.7 19.0 | 18.4 ] 60.4 | 17.7 | 30.3
PTAL20C) ns/n 30.6 | 31.0 ] 28.5 | 29.9 | 26,5 | 31.4 | 26.6 | 27.8 20.4 1 23.2 ] 31.4 | 20,4 | 27.1
N i (Ca) /| — — — — — - | - — C— — — — —
TYROLUD | a/l — — — — - — — — - — — — — — —
PHASP NIV | ng/l — — - — — — — — - — — — o — -
 HY, OR:Ee pe/l - — — - — — — — — — — — — — -
PHIOP A UE | g/l — — — — — — - — - — — — — — —
B 480,77 | g/ — — — — — — — - — = =z - — — _
Mk A - (1) g/l 20.5 | 34.9 [ 39.8 [ 85.5 | 4.9 [ 28.2 | 36,7 | 36,5 | 38.8 | 19.1 | 16.7 | 20.8 ] 39.8 | 16.7 [ 31,0
1 A g/ — — — — — — — — - - - — — - -
PPN g/ — — — — — — — — — — - — - - -
BN 80, | me/l — — — — — — — — — — - — — — —
EmsuH w1 — — — — — — - — — - — — — — -
smygh-a (Chi-a) e/ 1 | 95.9 ] 26,81 46.7 [107.0] 39.6 | 54.1 | 75.4 | 17.7 [102.8] 5.5 | 43.6 | 44.7 [107.0 5.5 49,1
yongzb-h (Chi-b) ng/l 1.7 0.8 2.7 | 10.8 | 5.6 2.8 6. 6 1.9 4.1 0.8 3.9 ). 6 10. 8 0.6 3.6
yemtie e | /1] 3.5 | 0.1 | 1.9 | 11,9 326 2.3 ] 0.8 | 8.5 |23.6] 0.4 | 5.8 | 2.5 | 23.65] 0.1 | 67
TwATLFY g/l 5.2 1.6 0.8 | 13.5 | 1.8 8.5 8.4 10,8 | 7.5 3.9 6.6 | 13.91 13.9 0.8 5.9
A7 o v ER | ng/) — — — — - = - - = - = - - = -
% - EHIOWB AR O L oRde, 3 P-ON=(ON)~ (D-ON) 6. P-TP=(TP)~ (D-TP)
1.LP-COD=(COD)—(D-COD) 4, D-TN= (I N)-+(D-ON) 7.1 C=(1C)+(TOC)
2, I N=(NHA-N)+ (NO2-N) + (NO3-N) 5. TN=(1N)+{ON) 3, P-QC={TOC)--(D-OC)




KEES ) —FIR— (R0

HRAP B LML KB H FURI i HES] 733 ESE R4 (200445)

i} Ho| BpE | 1/6 | 2/6 | 3/2 | 4/28 | 5/18 | 6/16 | 7/6 | 8/3 | 9/14 [ 10/19| 11/9 | 12/9 |FAfi| s/l | et
2-MIB ng/ | — - -— - — — —_ — — — — — — — —
PHRI > ng/ 1 — — — — — — — — — — — — — — —
shhesv i | mg/l [ — - — - - - - - - — - - - - -

poudphdipipe | me/l | — — — — - - - — — — — -1 - — —

7 oty songhvkseng| me/l | — — - - — - — — - — - - — — —
vy oponshydpkag me/l | — — - - - -~ - - — — - - - — —

7 EERRE | e/l | — — — — — — — — — — — — = — =

R (TN LS me/l 2,00 [ 2.25 | 1,82 [ 0.96 | L14 | 160 | 147 [ 1,09 | 1.25 | 2.34 [ 2.06 | 2.17 | 2.34 | 0.96 | 1.58

SR (TH) I e/l | — — — — — — — — — | =1 = — - — —

ok (0 FIg e/l | — — — — — — — — — — — — — — =

£ 2 an LR mg/1 [0.079]0.115]0.138[0.122]0.192]0.126 [0.159 [0.127]0.088]0.126 [0.092 | 0.087]0.192 [ 0.079 [0.121

wUonwE | ng/l | — — — - — — — — — — — — — — —

YPROR) e/l | — — — — - — — — — — — — — — -
COD LB wg/l | 6.10 | 6.23 ] 7.17 [ 8.28[9.00]8.65]9.33]7.18]889[5.13[5.29[5.44]9.33]5.13]7.22
CoDH wg/l | — - | = - - - — — - - - - - - -
CODFR m/l | — — — — | - — — — — — — — — — —

AE kb T — — - - — — - — — — - -

F T — — - - - — - - - — - —
0.5m T - - - - - - - - - - - -
1.0m c — - - - - — - - - — — -
2. 0m T — — — - — - — — — — — —
3. 0m T — — — - - — — — — — - —
4.011’1 DC - - - - - - - — - - — -
5.0m DC - b - - — - - — - — - —
6. 0m T — — — — — — — — — — — —
€T c |l -] -1-1-1=-]1-1-1-1-7T=-0]1=-=1=
*DO kb | me/l | — — — - - — — — - - - -
e me/l | — - - — — - — - — - - -
0.5m mg/l — - - —_ - — — — - - _ -
1.0m mg/l | — - - — - — - - — — — -
2.0m mg/l - - —_ - - - - —_ - — — -
3. 0m g/ 1 - - - - - - - - - - - -
4,0m wg/l | — — - — — — — - - - — —
5.0m we/l | — — — - — — — - - | - - —
6. 0m we/l | — | .- — - — — - - - — - -
T wg/l |~ - - — - - — - - - — —
ACblgEE Al | Lux - — — — — — - — — — - —
& by | - [~ | - - -1 -1 -] =1 =1=1=1=
0, 5m Lux — — — — — - — — — - - -
1.0m Lux — — ~ - - — - — — — — —
2, 0m Lux -~ - - - - - - — - - - -
3.0m Lux - — - ~ - - — — — — - —
4,0m Lux — - - - - - — — — - — -
5. 0m Lux — — — —- - — - - - — — —
G, 0m Lux — — - - — — - — — - — =
ST Lux — - — - — — - - - - - —

EERmELEORP W | - - - - — | = — - - — — —

k=S $ DORDOZHZ & A illEER




KEfEXR Q0 —@HMm-  (FoD
TP 44 B KRB BRI e BiR YRR B4R (200445)
I H LR | 1/6 2/6 3/2 | 4/23 | /13 | 6/15| /6 8/8 | 9714 |10/19 | L1/9 | 12/9 [ BA0T) Fr il | Y fif

K i i 8 | & I & L] £ | hH| B £
okl Wy | 11:R9 | 1008 [ 1ed6 | 9:42 | 9:83 | 11:32 12022 [10:44 | 11:0911:04 | 10:46| 8:12

KB m | 6.76 | 6.64 6.8 | 7.57 6.8 6.8 7.08]56.79] 700712 7.18]6.92
AR m ]0.50 ] 0.50 ) 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50

& M C 7.5 | 6.9 | 5.8 | 10.6]24.3]27.7]30.5]31.8[31.4|17.8] 21.2]11.0

K H T 7.7 | 6.8 | 82 [18.2 (186 256 28.0 (20,5 | 27.1 [ 17.6[18.0[12.1]29.5] 6.8 | 18.1

724w B | B0 | RS | RN | JOURE| KOS | B&EH | BReE| REE | RS | RS | ks

L& (hE WO | i | e [k Ment | RS | [soui| HEEL | MOR | ESL | AL

BERAE em | 23,0 230185 [13.0] 2.5} 18.5 | 18.5 | 25,56 | 21.5 | 33.0 | 42.6 | 33.0

PAOARE m 0.62]0.64]0.5 |05 051 ]0.52]|0.43] 0.5 |0.60]0.8 | 1.19]0.92(1.19]0.43 | 0,66

K& ' 171 18 18 19 18 17 17 18 18 18 18 17

pH 8.31 | 807|856 859 840|9.30|9.51 |9.08]749[802]805]|800]951 748 ]8.45

DO pe/l 11,73 )12,36 (11,58 (11,29 (10.13[15,29|14.44 11,01 5.71 | 9. 67 |10.90|10. 68 15.29 | 6.71 | 11.22

BOD we/l | 2.77 | 4.02 ] 3.95 | 4.65 | 3.63 | 5.99 | 7.77 [ 5.98 | 2.76 | 8.42 | 1.82 | 3.10 | 7.77 | 1.82 | 4.16

CODy, pe/l | 5.49 | 6.81 | 6.90 [ 9.66 | 7.41 | 9.88 [18.11 (12,09 8,77 | 6.41 | 5.35 | 5.61 | 13. 11| 5.36 | 8.12
D - CODy, ng/| —_ — — v - — —_ —_ — —_ _ — — —_ — —
P CODy, ng/1 — — — — — — — — — — — — — —_ —_

CODg, ng/| — — — — — — — - — — — — — — —
D CODg, rg/| — — — — — — — — — — —_ — — —_ —

58 we/) | 13.0 | 14.0 | 16,5 | 16,2 | 18.5 | 16.7 | 25.2 | 14.7[10.2 | 6.2 | 9.4 | 11.8]26.2 | 6.2 | 14.0
KNP wrnioost | 4. 9R+1[ 7. 9B+11 1. 342 ] 2, 7R41] 7. 0msa [ 1L 4E4 L] 4. 0B+0] 1, 1B42] 2. 3R+3(7. OR42[ 2. 2B43| 7. 9E42) 2. 3E+3) 4. OB} ] 6. 6E4D
FOEAMETER | w/wom | 5, 0B10| 6. 0B+0[ 9. 0R+0] <1 [4.08+0[4. 0B+0] <L [1.OBH0[4. 2B+L|7.0B+2) 2. OF+2] 1. 0C+2[7 0B+2) <L [8.9EH
$REER (TX) me/1 | 0.97 | 0.98 | 1,00 | 1.16 ] 0.77 | 1,42 | 2.32 [ 1.88 | [.9L | 1.96 | 2.70 |-3.17 ] 8.17 | 0.77 | 1.69
(U] ng/d 10,072 0.066]0,074|0,111|0.088|0.130(0.257|0.5400.299)0.104)0.051]0,067]0.540 ) 0. 05! 0. 15%

g (2n) ng/) — — — — — — — — — — — — - — —

TETNERRER (i, | mg/1 ] 0,00 | 010 [ 0.11 [ 0,02 ] 0.00]0.01 0.05]0.16]0.20 0,01 |0.01]0.02|0.20)0.00 | 0.06
TR (0,0 | ne/1 |0, 003 ] 0,003 | 0.003]0.002]0.003]0,000]0.002]0.022|0.023]0.030]0.0566)|0.041 | 0. 056 | 0.000 0,016
THRGBRAER: (10, -0 me/1 | 0.16 [0.21 0,100,001 0.00[0.00]0.00[0.11]0.91]1.23]1.95|2.44]2.44]0.00 | 0. 59
SREEE O s/l | 0.17 ] 0.92 | 0.28 | 0.02 | 0.00] 0,00 [0.05[0.29[1,18]1,27]202]250)2.5010.00] 0.67
FEBRR (0R) wg/) | 0,73 [ 0.76 [ 070 [ 1.16 | 0.83 | 1.40 | 2,31 | 1.66 | 0,90 | 0,79 ) 0.7f | 0.70 2.31 1 0.70 | 1.06
VSRPEA RANER D - 0 | mg/] — - — — — — — — — — = — — — —
S sk o | mg/l — — - — - — — — — — _ _ — — —
FFEBER D ™) | ne/l — — - — - — — — — — — - - = —
B8R (M) w1 10.90 ] 1.08 ] 0.92 ] 1.18 ] 0.83 | 1.41 | 2.36 | 1.95 [ 2.03 | 2.06 | 2.78 | 3.20 | 3.20 | 0.83 | 1.72
ANORE 0P | me/t | 0.0060.004(0.003(0.019(0.025(0.036(0.110(0.413[0.24510.046(0.013 (0,028 0.41310.003 | 0, 079
w0 20,0 | me/l | 0,000 0,001 [0.000(0.001 [0.004|0.004 |0.084|0.388|0.220|0.036 | 0.008 0.010]0.388|0.000|0.063
BRIEEY S0 | ng/l — — — — — ~ — - — — — — — — —
WTREY L m | ng/) — — — - - — — — — — — - — —
RIS (10) werl | 188 [ 186 124|114 [ 1.4 11,5 [15.2 | 165|128 ] 87 | 9.5 | 165 | 87 | 12,6
A7 (100) we/1 | 8.3 | 3.6 | 6.2 | &7 | 6.1 | 7.9 [12.5[30.3 | 7.1 | 57 | 4.0 | 4.2 |12.5] 8.3 | 6.6
SRR ne/l | 16.6 | 17.2 | 18.6 ) 20.6 [ 20.2 [ 19.8 | 24.0 ] 25.6 1 23.6 | 18,0 12.7 | 1.7 2.5 | V2.7 | 19.2
HIEMAT SR 0 00 | /) — — — — — -~ — — — — — — — — —
HErRieRr - 00 | ng/l — - — - - - — — — - - — — — -
HRERD RO g/ — — — ~ -~ — — — — — — — - — —
YRR Y0 M) | mesl — — — — ~ — — — — ~ — - -~ — -

) ng/) - — — — — — — — - — — — — — —
< 29 Y () mg/1 - - — — - — - - — — — —

W o il 15,8 | 15,1 | 208 | 28.5 | 19.1 36, 20,6 | 19.6 | 13.6 | 6.6 36.1 6.6 19. 6
WA (200) wS/m | 28,0 | 29.7 (34,5 | 3.6 [80.7 |2 29.1 | 81.9 | 36.0 | 26.7 | 23.6 36.0 | 23.6 f
A3 A (D) g/ — — — — — — — — — — — —

CRY AL A M) ne/) — — — — — — — — — — — — — — —
A STARIE | mel | 57.5 | 62.7 | 57.5 | 59.0 | 58.1 [ 65.9 | 71.0 | 79.6 | 76.5 | 51.4 | 40.9 | 46.4 | 79.6 | 40.9 | 60.5
P Y. ORI me/l | <€2.53 (<058 (<2, 53 1.60 | 1.0 | — —~ — 1210 6.25 [ 8.26 | 6,04 | 12.10] 1.50 | 6,01
pHLOFAANE | ng/) — — — — — | 600 490|200 — — — — | 6.00] 2.00 | 4.30
Wt A (50,27 | mg/l — — — — — - — - — - - — — - —
Wit A > | we/t | 26.8 | 26.3 | 28.3 | 28.7 | 35.5 | 3%.5 | 6.7 | 43.7 [ 42.2 | 20.8 | 21.3|25.4 [ 43.7 ) 2.3 | 31.4
EM Ly FNGEY) ng/1 — — - — - — — — — — — — — - —
A AR g/ | — — — — — — — — — — — — - - —
123 H (T 5i0,) ng/1 - — — — - - — — — - - . _ _ -

[ ng/| -~ — — — — — — — — — — - — - -
e Chh-ay | pg/t | 62.7 1 58.8 |100.4]160.0) 37.8 | 149.31281.2138.7 20.4 | 41,0 130,10 ] 34,2 128,20 20.4 | 91.9
yewbb Chiw | ze/i | 0.5 ] 1.6 | 0.0 | 2.3 [ 1.8 11 |08 |28 |20 07|04]03] 24 00]L12
yomibe G- | e/t | 8.3 | 8.2 | (5.6 21.8] 9.2 [10.9[ 3.2 ] 04| 03] 08| 16|08 |278] 03|72
LT we | | 49.9 1 29.0( 24.9 | 3.5 | 148 | 17.41 4.4 [ 0.9 | 11,9 28.7]12.8]230)494}| 0.9 20. 3

Bt gt | ne/] — = - -1 =T -1 =1= - = - - =
ON=(ON) — {D-ON) 6. D-TP=(TP)— (D-TP)

SEIOXENGARO S I L 0R&D V.

LP-CQD=(COD)~(D-COD)
2, 1 N=(NH4-N) + (NO2-N) -+ (NO3I-N)

3
A D=-TN=(IN)+(D-ON)
5

JIN= (N EON)

.TC=(ICY+(TQC)

8. P-0C=(TOC)~(D-0C)




KEER U0 — - o)
ik EFF REH FHEDI % it S 64T (20044F)

I B A [ L/6 | 2/6 | 8/2 [ 4/23 | 53| 6/L5 | /6 | 8/8 | 9214 | 10718 | 10/9 | 1279 | R SR M| S
2-M11 ng/ | 3 5 23 210 21 13 8 3 0 3 3 10 210 0 25
FAAI L ng/ 15 {6 29 48 38 35 13 | 4 3 5 18 48 1 19

MBI ng/ 1 — — — - — — - — — — — - — — —

JoosphtEskie | me/l - - — - - - - — - - - - — — —

7 ey duopdy k| mg/l - - - - - ~ - — — — — — — — —
¥ 7 usyuiy Ak skt | g/ — - - - - - - - - - - - - — —

7 o RE e | we/l — — — - - — — — — — — — — — —

SRESR TN kI8 mg/l [ 0.97 1 0.98 | 1,00 1,16 0,77 | (.42 | 2.32 [ 1.88 | 1.9L | 1.6 | 2.70 | 3. 17| 8.17 | 0.77 | 1.69
JEBH(TN) e mg/1 — o - - — — — — — — — - —
BRI TH wg/1 | 0.89 | 1,02 ] 0.99 | 1.20 ] 0.81 [ 0.77 | 1.6l | 1.61 | 1.93 | 2.00 | 2.73{ 3.03] 3.03 | 0.77 | 1.54
BgULOM g mg/l [0.072]0.066(0.074]0.111[0.088(0.130[0.257]0.540(0.299]0.104{0.051|0.067(0.540[0.051 | 0.155
BUPDE | mg/l | — _ _ _ _ — _ N — — - = =
YU SO TR mg/1 ]0.0707]0.066(0.075(0.124(0,107]0.108]0.173|0.526|0.295|0.095|0.052(0.066]0.526|0.052 |0.146
CODLB mg/l | 5.49 | 6.81 | 6.90 | 9.65 | 7.41 | 9.88 | 13.11[12.09| 8.77 | 6.41 | 5.35 | 5.0) [18. 11| 5.85 | 812
CODYi ng/| - e — — - — — — — - — — —
CODFH e/l | — — — — — - — — — - - - | = — —
K AKE | T — — — - - - — — -~ - - —
pagii] T — — — — = — - - - - - -
0. 5 T - -l =-11-1T-=-1=-T-1-1-1-1-1=
1. 0m T - - - = - — - — — — — -
2. OIU t i b —_ - - hand — — — — _ —
3.0m c | -T-1T-1T-1T=-1T-T-1T-1T-T=1=1T=
1.0m T — — — — — — — - - - - -
5.0m C -1 = -1l =-1-T-1-1-=-T-1=1=1 -
6.0m c |l -]l -=-1T-1T=-1=-1=1=-1="1=1-1=1=
fidi] T — — — — - - — - — - - -
*D0O kit | ng/l - — — - - - — — - — — -
Fi ng/} - — — — — — — - - - - -
0.5m w/l | - [ - - -l -] -1T=-1T=-1=-1-1-=1=
L.0m e/l | — [ -1 -T-T-T-=-1-1T=-1=1-1T=
2.0m e/l | — | -1 -1 -7 ~-] -] =-]-[~=-1=-1=1*=
3. 0m g/ 1 — - — — - — - - — — — —
4.0m e/l | — [ - -1 -1 -] -] -1 -1=-1=-1=1=
5, fin ng/1 - — — - - = = - — - = -
6.0m ng/| — — — — — — — — - - — —
JEim ng/| — - — — — -~ - — - - - —
AePgE kE | Lux — - - — - — - - - = - —
Kifl Lux —~ — — — -~ — — - - - — -
0.5m Lux = — — — - — — - - - - -
[.0m Lux — — — — - - - - = - - -
2.0m Lux — - - = - - - - - - - -
3.0m Lux — - - - - — - - - - - -
4. 0m Lux — - s - — - — — - - - - '
5. 0m Lux — — - — — = — - - - - -
6.0m Lux — - — - — - - - - - - -
st} Lux — - — — - — - - - - - -
BRNEORP | wV — — — — _ = — _ — — = —
fili % £ DOVED Oz ko llER R




e (1) —&BW- (FoD
WS S REH FLEII GIIE2 L AR LBAE (20044E)
T B By | 1/6 | 2/6 | 8/2 | 4728 | 5/13 [ 6715 | /6 | 8/8 ) 9/14 | 10/19 ] 11/9 | 12/9 |kl il SEdg fd
K R Wolom | & & | & [T & & | /ANE| W | &
] My U018 9:dt [10:02] 9:02 | 8:30 [10:58 | 11:14] 9:46 | 10:28]10:36 | 10:00] 8:42
SOKBE m | 6.54 [ 6.24 | 6.38[6.4816.20 [ 6701 [6.88[6.28|6.746.44(6.48]6.28
koK m | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 [ 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50
a # | 84 ] 6.0 5.9 [ 12.1]24.6]28.5[35.831.2]88.8]17.5]19.3][10.9
kR < |7t Peg oo lgs]odg]oei oo l2s7onobine 12,8290 5.3 117.6
7 1 WhEH | REOA | WHET | SN | SO | R0E | BROE | RIGEH | REE | RRE | MEAE | MigkkE
RS (BR0 mell | g | dmEL | dmE | SERL | B |matr| MUV BEBL | MEEL | GvUR|BhUR
BRI en | 29.0 ] 26.5 1 21,0 16.0] 21,0 18.0 ] 15.0 | 15.0] 22.0 | 26.5 | 82.5 | 30.5
HAUHE m | 0.85[0.79 | 0.567 ] 0.60 | 0.51 ] 0.52]0.46 ] 0.38 ] 0.60 [0.73]0.99 | 0.78] 0.99 | 0.38 | 0.65
KB L7 18 18 18 18 17 17 18 18 18 17 17
pH 7.79 | 7.78 | 8.01 | 8.07 | 8.21 | 9.25 | 9.34 | 9.26 [ 7.77 [ 8.12 ] 8.87 | 8.64 ] 9.34 | 7.77 | 8.43
Y mg/t | 10.60 | 11.93]11.45] 9.98 110.07[14.81 [12.15[11.83 6.09 | 9.57 [ 12,45 [10.78[ 14,81 | 6.09 | 10.93
ROD we/t | 212 1805 [ 8,77 366 3,53 [ 3.78 [ 4.85 | 6.96] 2,94 ) 2,55 ] 2.81 | 2.59 ] 6,96 | 2.12 | 3.51
CODyy wg/) | 5.95 | 6.46 | 7.40 | 9.36 | 7.29 | 8.28 [12.91{14.06] 9.21 ] 7.41 | 7.01 | 6.42 | 14.06| 5.95 | 8.48
D CODy, we/l | 3,93 | 4.67 | 4.97 | 4.97 | 4.45 | 4.60 | 5.40 [ 7.41 | 7.68 | 5.93 | 6.43 | 4.92 [ 7.68 | 3.93 | 5.44
‘P CODy, w/l | 2,02 | 1.79 | 2.43 | 4.39 | 2.84 | 3.68 | 7.51 | 6.65 | 1.58 | 1.48 | 0.58 | 1.50 | 7.51 | 0.58 | 3.04
CODg¢, ng/1 — - — = — — — - — —_ — - — — -
D-CODg, wg/1 — — — — — — — — - — — — — — . —
55 we/l | 10.5 | 1.0 | 15.0 | 24.7 | 12.7 | 12.4] 23.6 [ 23.5 [ 12.2 | 10,5 | 6.6 | 9.8 | 24.7 | .6 | 14.4
KIGHTER wenrooat | 3. 31| 7. 91| 7. SE+1| 6. 8E+0] 1. (B+t] 1. IE+1]4. 9B+1[1. 40+1[ 1. 38+3] 1. 3B+3| L. 3E+3| 4. 6B+2) 1. 3E+3| 6. 8E+) | 3. 9B+2
RIERMEIEE | m/00sl |4, 0B+0]5. 0B+0] 4, 0B0] 1 |8.0R+0]9. DE£0)3. 4B+1) <1 1. 6E49|9. 8B12)4.6B+2)9. 68419, 8042 <1 |1, 6842
B me/l | 0.61 | 0.59 | 0.67 | 0.88 | 0.72 [1.10 ] 2.86 | 2,07 1.65 | 1,65 1.78 | 1.58 | 2.36 | 0.59 | 1.31
AU > () we/l | 0,053 0,048 0,060 0.088 0,079 [0.08L [0.214]0.422]0.291|0.106[0.07]]0.0590.422|0.048 | 0. 131
i (2n) /| — — —~ J0.008] — Jo.000] — Jo.008] — Jo.00l| — 0.000]0.003]0.000]0.001
TrA-hhREE (LN | s/t | 0,00 ] 0.01 | 0.03 | 0.01 | 0,00 ] 0.001 §0.02]0.06 | 0.16|002]0.020.02]0.16 | 0.00 | 0.03
HRRE AR (0,0 | g/l | 0.000 | 0.000 [ 0.000 0,002 [0.003[0.001[0.,003(0,002]0,018(0.016{0,0356(0.033}0.035 |0.000 | 0.004
RmEeR (0,0 | me/1 | 0.00 | 0.00 | 0.00 | 0.01 | 0.00 | 0.00 [ 0.00 [ 0.08 [ 0.65]0.93]0.84 0920930001029
wREER Cm) we/) ] 0.00 | 0.01 | 0.03 ] 0.020.00]0.01]002]0.14[0.88[0.97]0.900.97(0.97]0.00]0.33
ATBIBEEH (O8) we/1 1 0.57 1 0.52 | 0.62 | 0.88 | 0.79 | 1.16 | 2.85 | 1.98 | 0.89 | 0.73 | 0,90 ) 0.63 | 2.85 | 0.52 | 1.00
TR @ - 00| me/t | 0.38 | 0.30 | 0.36| 0.30 [ 0.27 [ 0.55 [ 0.51 [ 0.45 | 0.77 | 0.50 | 0.67 | 0.47 | 0.77 | 0.27 | 0.4§
sorr e cr o | me/l | 0.19 | 0.22 [ 0.26 | 0.58 [ 0.52 [ 0.61 | 1.84 | 1.53 | 0.12 [ 0.28 | 0.23 | 0.16 | .84 | 0.12 | 0.54
gt (o1 | we/l | 0.38 [ 0,31 | 0.89 [0.32]0.27 [ 0.56 | 0.53 | 0.59 | (.60 ] 1.47 | [.57 | 1.44] 1.60[0.27 | 0.79
TR we/l | 0.57 | 0.53 | 0.65 ] 0.90 [ 079 | 117 | 2,37 2,12 | 1.72 | 1,70 [ 1.80 | 1.60 } 2.837 | 0.53 | 1.33
MBI 0,0 | e/t 10,004 0,002 | 0,002 |0.015(0.015(0.029]0,0780.2777]0.233(0.059{0.01110,017}0.277 10,002 | 9.062
w010, | ng/L | 0,000 0,000 |0.000]0.003]0.007[0.003]0.033]0.266|0.212]0.043|0.004|0.002]| 0. 266 | 0.000 | 0. 048
TR > 010 | me/L | 0,011 |0.0070.005(0.019]0.020 0,025 |0.040]0,292|0.253 |0.062)0.019|0.025|0.2920.005 | 0. 065
sy > r -1 | nw/l | 0,042 | 0,041 | 0.055 | 0,069 | 0.059 | 0. 056 |0.174]0.130|0.038]0.044]0.0520.034] 0,174 | 0.034 | 0. 06
SRR (O we/l | 13.6 1 15.1 | 12,0 (3.0 (4.0 11,8100 15.2]15.4]13.8] 9.0 [10.6] 154 | 9.0 | 12.7
T B (100) v/l | 4.4 | 4.0 | 6.9 | 84 | 66 | 7.0 [12.0[12.6] 9.0 | 6.1 | 6.6 | 6.1 |12.56] 4.0 | 7.4
SRR (10 m/) | 18.0 | 17.1 | 18.9 ] 20.8 | 20.7 | 18.9 | 24.0 [ 27.7 | 24.4 [ 19.9 | 15.6 | 167 | 27.7 | 16.6 | 20.1
AR 00| e/l | 3.0 | 3.1 | 4.5 | 4.3 | 41 [ 3.6 | 45| 548 | 40| 49 |50 ] 31155 |40 41
Grreneeentr | ne/t ) L4 1 09 [ 244026 8517870560 1.2 ) 1.6] 20 175 09 44
VARHELE (D) - Fo) w/1 | 0.00 ] 0.00 | 0.00 | 0.00]0.00]0.01]004][007]0.13[008]002]0.04]0.13]0.00]0.03
TIRTEN v - | me/t | 0.00 | 0.00 | 0.00 |0.013]0,007]0,005[0.006 0,037 |0.020]0.017]0.003]0.017)0.037|0.000 |0.010
) me/l ] 0.00 ] 0.08]0.08)0.12]0.09]0.08]0.18]0.298]0.54]0.34 018023054 ]20.01]0.19
T3 A 2 M) we/l | 0.00 | 0.00 | 0.02 |0.108]0,092[0.0450.0480.197[0.130]0.10%|0.083|0.057]0.197 | 0.000 | 0,070
B g | 10,3 [10.3 [17.4 [33.6 [19.1 [19.4 [ 351 281 | 186 | 16.0 | 9.0 |12.6] 361 | 9.0 | 19.1
3 (20T) ws/m | 29.4 | 312 | 31.5 | 33.9 | 93.0 [ 80.8 | 30.8 [ 84.2 | 37.6 | 80.8 | 27.9 | 28.0 | 37.6 | 27.9 | $1.6
HIT 5 € we/l | 11,0 ] 14.5 | 12.4 [ 16.8 | 16.2 | 14.2 [ 15.6 | 15.8 | 19.0 | (5.0 | 4.8 ]6 4190 o 151
2ot | ne/l | 5.34 1 8,00 [ 5.28 [ 8.46 [ 5,30 [ 8,38 [ 8.3719.26]9.48 | 7.7319.84 | 7.97)9.84 | 6.28 | 7.78
SIASTABUE | wg/l | 60,1 | 65.3 | 62.7 | 58.1 | 61.0 | 63.7 [ 70.5 ] 76.5 | 77.3 [ 59.4 | 51.8 [ 51.9 | 77.8 | 6.3 | 63.2
D HY. OR2E we/) [<2.53(<2.53 <268 2.70 | 1.20 | — — ~ T10.28]8.87 [ 6.84 | 5.24 [10.28] 1.20 | 5.77
pHLOZ LAY wg/ | — — — — — 7.50 | 4.00 | 5.90 - — — - 7.50 | 4.00 | 5.80
WA 60,7) | me/l | 22.3 | 25.4 | 26.5 | 1.4 | 30.6 [ 26.6 | 23.7 | 22.0 | 21.6 | 22.5 | 18.8|20.0 | 31.4|188 | 24.3
Wt Aoy | ue/) | 28.4 | 30.9 | 31.3 | 31.3 | 88.2 [ 36.7 [ 36.7 [ 47.8 [ 45.7 | 36.3 | 20.8 | 20.8 | 47.8 | 28.4 | 35.1
PRI ae/) | 20,9 | 3.9 | 31.6 | 27.0 | 29.2 [ 27.8 | 28.3 | 83.2 | 33.8 | 26.4 | 22.1 | 25.7 [ 33.8 | 20.9 | 28.1
EPEIYS) we/l | 4.06 | 5.40 | 5.1 | 3,94 | 4.86 [ 4.42 [ 5.09 | 5.33 | 5.36 | 3.61 | 4.99 [ 529540 | 3.61 | 4.76
BT A G800 | met | 16,6 | 18.1 | 16,1 | 24.5 [ 7.80 [ 8,21 [ 11.4]17.6 ) 18,2 | 16,8 1 37.5 | 12.04 47.5 | 7.81 | 16.9
k) w1 101,35 | 15.38 [13.91 | 8.85 | 5.87 | 4.82 | 9.37 | 9.69 [16.90]12.40) 9.79 | 9. 87 [16.90 | 4.82 | 10. 60
Sevsii-a - | e/t | 24.0 | 21,6 | 41,1 | 65.6 | 33.5 | 90.6 |282.3[208.0) 23.9 | 41.5 | 551 | 41.0 |282.4] 21.6 | 77.4
yeo7iib (v | e/l | 0.7 ] 0.3 ] 0.4 | 45| 2.6 | 0.6 | 03| 256 ) 13]05|08]09)45 |03 |13
e @0 | et | 3.4 1 .8 | .2 | 15.9] 9.0 | 2.0 | Lo [ 1.l |01 07|28 [07]l50]01 40
Jed74Fr | pe/t | 2.9 [ 1.7 ] 25.6 [ 21 J ol 47 [16.7 19.216.6 [ 15.4 [ 17.8 21,9 25,6 | 4.7 | 17.0
Wt o S | mg/t | 0.00 | 0.00 | 0.00 [ 0.01 [0.02 {003 [007]004]0.01]002]002002]0.07]0.00 0.02
% IO E AR oIz L D‘Mbh, 3 P-ON=(ON)~ (D-QON) 6. P-TP=(TP)~(D-TP)

I.P-COD=

=(COD) - (D-COD)
2.1 N={NH4-N) + (NO2-N) + (NO$-N)

4, D-TN=(IN)+(D-ON)
5. TN=(IN)+(ON)

LTC=(ICY+(TOC)

8, F-0C=(TOC)-(D-0C)




KEEER (1) —Faw— (0
NS R ARAE KEH FURI HHES BA SEREL64E (20044E)

1§ EU| B [ /6 | 2/6 | 8/2 | 4728 | B/13 | 6/15 | /6 | &/3 | 9714 [10/19| 1179 | 12/9 | Sehctls| s | it
2-M1B ng/ 1 [} 7 18 130 21 |1 12 4 0 4 5 fif 130 0 24
AR ng/ 1 32 22 25 52 43 48 13 2 11 5 16 30 52 2 25

P P ne/t — — — — - — - = — — — _ _ _ -

youibhdl RR G ng/1 - - — - - — — — — — — - — — -

7 ey pnopy it sRik| mg/l — - - — — — — — — — — - = = _
¥ 7 oy pe| ny/l | — - - - - — — — — — — — ~ — -

7 nEhERREE | mg/] — — — — — — — — — — —- — — — =

e (N L8 mg/l | 0.61 ] 0.59 | 0.67 0.8 [ 0,72 1.10 2,36 | 2.07|1.65| 1.656 | 1.78 | 1.58 | 2.36 | 0.59 | 1.31

FALER (TN e Y wg/l ] 0.60 | 0.58 | 0.67 { 0.81 | 0.75 | 0.76 | 1.62 | £.83 | 1,54 | 1.58 | 1.69 | 1.58 | 1.83 | 0.58 | (.17

BRH TN T mg/l | 0,62 | 0.57 | 0.68 [ 0.91 | 0.8 | 0.77]1.60 | 1.65 | 1.52 | t.56 [ L.70 | 1.56 | 1.70 | 0.57 | L.16

By L mg/1 ]0.053 |0.048]0.060[0.088[0.079]0.081[0.214]0.422]0.291]0.106[0.071]0.0590.4220.048 0. 131

B TP g wg/1 [0.052)0,047/0,060]0,082]0.074)0.070)0.175/0.410]0,29910.106/0.053[0.065]0.4100.047]0.124

BY (TR TR mg/t 0,055 (0,048]0.062 (0,109 |0.118]0.072]0.196 |0.406[0.290(0.109(0.058|0.059(0.406 [0.048 [ 0.132
COD_Lk# mg/l | 5.95 | 6.46 | 7.40 ['9.36 | 7.29 | 8.28 [12.91 | 14.06| 9.21 | 7.41 | 7.01 | 6.42 [ 14.06 [ 5.95 | 8.48
CODYIg me/l | 5.53 [ 6.18 | 6.76 | 8.64 | 7.43 | 7.09 | 9,72 | 11.53] 8.63 | 6.97 | 6.55 | 6.40 | 11.53 | 5.53 | 7.62
CODTFR me/1 | 5.29 | 5.93 | 6.63 | 9.43 | 8.30 | 6.61 [10,33[10.48} 8,91 | 7.29 | 6.51 | 6.25 | 10.48] 5.29 | 7.66

A AKE T — — — — — — — -, - — — —

K T 7.1 5.3 8.0 [ 17.1 | 18.6 | 25,0 | 27.2 | 29.1 | 26.7 | 17.9 | 17.6 | 12,38
0.hm T 1.1 5.3 8.0 | 17.1 | 18.6 | 24.8 | 26.1 | 29.1 | 26,7 | 1.9 | 17.6 | 12.3
1.0m T 7.1 b, 2 8.0 | 17.1 | 18.6 | 23.6 | 26,9 [ 29,0 } 26,4 | 17,9 [ 17.5 ]| 12,3
2.0m T 7.1 5,2 80 | 17.0 ] 18.2 | 21.9 | 25.5 | 28.8 | 26,1 | 17.9 | 17,5 | 12.8
3. 0m T 7.1 h.2 80 [17.0] 18,2 | 21.6 | 20.4 | 28.7| 25,9 | 17.8 | 17.4] 12,3
4, (lm T 7.0 5.2 7.9 | 16.9 17,8 21.6 | 26,3 | 28,7 | 25, 7| 17.8 | 17.2 | 12,3
5. 0m C 1.0 0,2 7.9 16,7 | 17.8 ] 20,9 | 26.3 | 28.7 | 2h.6 | 17.7 | 17.2 | 12.3
6. 0m C 7.0 5.2 7.9 | 16,6 | 17.8 | 20,8 | 25.2 | 28.6 | 26.5 | 17.7 | 17.2 | 12.3
JETH C 7.0 5.2 7.9 [ 16.6 1 17.8 | 20,8 | 2.2 | 28.6 | 25.5 | 17.7 ) 7.2 | 12.3
*D0O skl | mg/l — — — — — — — — — — - —
Fm mg/l | 11,2 | 8.2 11,4 ] 10.0 10,0 | 12.1 | 14.5 | 11.9 | 4.8 9.0 | 11,7 ] 11.4
0.5m mg/l | 111 83 [ 11,5 10.0) 10,012,211 |11.7] 4.9 9.0 [ 11.6 | 11.4
1. 0m mg/] | 11,0 83 | 11,5 9.9 [ 10,0 9.7 0.9 | 11.4] 4.7 9.0 | 11,5 ] 11.4
2.0m mg/l | 11.] 8.3 | Il.4] 9.9 9.9 8.4 8.7 9.0 4.4 8.9 [11.3] 10,5
3. 0m mg/1 | 11,1 8.3 | 11.21 9.8 9.9 1.6 8.3 7.8 4,5 8.6 | 11.2 | 10,5
4.0m mg/1 | 1.0 | 80 | I1.1 9.9 9.9 6.0 7.8 1.3 4.6 8.5 [ 11.1 | 10.6
5.0m mg/1 | 10.8 | 7.9 | 1.1 | 9.6 9.8 2.3 1.3 7.0 4.1 856 | 11,1 | 10,6
6. im mg/l | 10.5 | 7.8 | 10.9 ] 9.1 9.8 1.9 1.1 6.3 4.6 8.4 10.8 | 10,6
ST mg/} | 10,3 .76 | 10.9 | 8.8 9,8 1.2 6.9 6.3 4.5 | 8.4 | 10.8 | 10.6
AKEPEE K E Lux |62100 | 66900 | 20410 | 23520 | 20800 | 82600 | 2400 | 93800 | 73800 | 9640 ( 74900 | 6500
v Lux | 44600 [ 53100 | 12470 | 11060 | 16500 | 55600 | 26500 | 62400 | 66500 | 5760 | 54800 | 3980
. b Lux | 28900 |- 33600 | 6510 | 4020 | 9210 | 15840 | 3670 | 9780 | 27410 | 1400 | 27900 | 2019
I, 0m  Lux {17900 | 10180 | 2630 | 1582 | 5080 | 2130 | 471 564 | 6600 | 388 |[10920 | 1001
J.0m Lux 4290 | 1210 | 773 983 1131 218 16 111 811 52 2610 | 220
3. 0m Lux 1802 | 455 163 211 324 21 0 2 67 11 674 50)
4. im Lux 584 71 63 26 103 3 0 0 6 2 159 11
5. im Lux 178 15 22 0 10 0 0 — 0 — 62 1
§.0m L.ux o3 8 — 3 — 0 — — — 15 ]
jiaqiit) Lux — — — — — - — — — — — —
JEJRM.LORP ik 218 149 153 121 22 160 135 (] 218 198 214 201

%
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KEEHE (12 —WEE-  (FoD
B ME KRH FURIY RIS il SRR 64T (20044F)
i} B[ Wbz [ L/6 | 2/6 | 3/2 | 4/28 | 9/13 [ 6/15 | T/6 | 8/3 | 9/14 | 10718 | L1/9 | 12/9 |BeAA | M| Je85 fi
X &% WE | mE | B ] & | & | RY | & | B | o4 [ om | &
Fokbgl Mgd> {10:56 | 9:07 |10:52[ 8:41 | 8:00 [10:35[10:39| 9:10 |10:03|10:14] 9:43 | 8:21
Ak m 2.47 | 2.61 | 2.45 ] 2.48 | 2.42 | 2.50 | 2,25 | 2.38 [ 2.58 | 2,34 | 2.54 | 2.43
BT m 0.50 | 0.50 [ 0.50 ] 0.50-] 0.50 | 0.50 | 0.50 | 0.50 | 0.50 [ 0.50 [ 0.50 | 0.560
A T .9 3.9 5.2 | 11.6 | 23,7 [ 26.7 [ 30.0 | 31.5 | 28.9 [ 17.6 ] 16.0 [ 10.5
xR C 7.2 [ 6.5 | 8.3 | 19.8 [ 18.7 | 24.8 [ 27.8[30.0 | 26.5 [ 17.2 | 17.8 ]| 11.7] 30.0 | 6.5 | 18.0
i RO | BO%H | 05| KO8 | Sous | wss | sueE | sooks | ssn | S8 | sort | o,
B (&) IS | B | B |mhus weur| JER | JEBL |shuiR| JERL | MERL | Bl | whos
RN L 20,5 | 16.0 [ 156.2 [ 15.0 | 16.5 | 14.5 ) 13,0 | 10.0 | 17.5 | 16.0 | 23.0 | 18.0
e m 0.52 | 0.42 [ 0.45 ] 0.56 [ 0.37 1 0.38]10.37[0.29 0,52 |0.48|0.74]0.62[0.74]0.29 | 0.48
K4 11 18 18 18 18 18 17 18 17 18 18 17
pH ) 7.94 | 8,07 [ 8,34 |8.00 815 |88 [9.15]9.19 895 [852]9.28 (8.8 | 9.28 | 7.94] 8.6l
DO m/V [ 11.32012.28 111,59 9.81 | 9.48 112,69 [ 11.44 [10.63 [ 11.61[11,04|12.85]11.07[12.85] 9.48 | LL.31
BOD mg/l b 2,27 | 4.27 | 4.87 [ 3.69 ] 3.68 ) 2.8 [3.11 [4,03]38.83 237274 |2.74]|4.87 227337
CODy, ng/] | 5.89 | 6.30 | 8.21 | 9.38 | 8.30 | 8.46 [10.71 [11.32]10.62| 8.35 [ 7.21 | 7.26 |11.32] 5.89 | 8.50
D« CODy, ng/1 — — — — - — - - — — — — — - —
'P - CODy, g/ — - - — — — — - — — - - — — —
COD¢, we/t | = | = = - — - | = - — — = — - — —
D:COD¢, ng/1 —_ — - - — - - — — — — — — — —
S8 mg/l | 14.0 | 18.0 | 24.0 | 18.7 | 26.7 | 20,5 ] 30.0 [ 33.0 | 21,7 | 17.0 [ 11.2 | 16.6 [ 33.0 | 11.2 | 21.0
S went00al (4, 9B+ [ 7. 9B+1 | 1. 3B+2| 7. 9B+1| 7. 9E+1| 3, 4B+1| 1. TE+3| 2. 8B42| L. 443 | 4. 9B+3] 7. 9E+1| 2. 8E+2) 4. 9E+3 | 3. 4B+1 | 7. 6E+
FOEKBNEE | w1000 |6, 0B+0| 8. OB40| L OB+1{ L, 2841 | L. 6B+1| 2, TE#1 | L 1B+1| 1, OB+2| 1, IB+2| 1, 2B+3| 6. OB+1[ 1. 2E42[ 1. 2E+3| 6. OB+0 | 1. 5E+2
LESEY ng/l | 0,62 | 0.67 | 0.81 ] 0.93 [ 0,83 ]0.95 | 1.43 | 1.62 | 1.12 {1.48 | 1,30 ) 1.29 | 1.52 | 0.62 | [.08
31 > (TP) mg/1 [ 0.062[0.069]0.092[0,119]0.117[0.092(0,174[0.324)0.224|0.074[0.066]0.075]0.324 | 0.062 | 0. 124
4 (2n) g/ — — — [0.001| — [0.001 — ]0.004f — ]0.003] — |0.001]0.004]0.001]0.002
TURPARERER (N,-N) | mg/l [ 0,00 | 0,01 | 0.01 | 0.02 ] 0.02]0.02[0.03]0.02]0.00]0.02|0.00]0.03]0.03|0.00|0.02
WG ®0,-Y) | sg/t [0.000]0.000 | 0.000|0,001|0,002]0.002|0.003]0,003|0.003]0,015]0.036[0,027(0.027 |0.000]0.007
WRRGR M0,-N) | ng/t [ 0,00 [ 0,00 [ 0,00 | 0.01 | 0.00 | 0.00 | 0.00 | 0.00 | 0.04 | 0.60.[ 0,33 | 0.42 ] 0.60 | 0.00 | 0.12
FISmaEg (W me/l | 0.00 1 0.01 ] 0.00]0.03]0.02]0.02]0.08]0.02]0.04]0.64]0.36]0.48]0,64 000 9.14
frRmEER (00 me/l | 0.61 ] 0,57 | 0.72]0.93]0.85 | 1.01 [ (.42 | 1.48 [ 1.10 | 0.93 | 0.97 | 0.84 [ 1,48 | 0.57 | 0.95
WREATRARR Q- )| ng/l - — — - — - — — - — — — — — -
SFEATINE (P - on) | g/l - - - - - - - — — — - - — — —
MREARR D ) | ne/l - — — - = — - - - - - - — — -
wER () mg/1 | 0.60 ] 0.58 | 0.73 [ 0.96 | 0.88 | 1.03 | 1.45 | 1.50 | 1.14 | 1,57 | 1.33 | 1.32 ] 1.57 | 0.58 | 1,09
AR 07 | mg/l | 0.006 | 0.004]0.004]0.019[0.047]0.0310.031]0.202)0.132/0.034]0.012]0.029]0.202)0.004 |0.043
dmisiRn 020, | ngsl | 0,000 [ 0,001 |0.000]0.003 |0.006)0.003]0.007[0.189[0,105|0.024|0,006)0.0020.189 |0.000 | 0.029
SRERY X0 | g/l - - - — - - - - — — — — - — —
BRI (P | g/l - — ~ - — - - - - — - = — - —
FBRBBGR (10 e/l | 156 | 16,1 | 14.4 | 15.8 | 18.2 | 12,8 | 14.56 | 16.6 | 15.4 [ 14.9 | 11,6 | 10,8 ] 18.2 | 10.9 | 14.6
AT REEER (T00) wg/t | 4.4 | 44 | 74| 82 | .1 |66 86| 91 |9s | 73|61 )68 96 | 4471
$8 5 (10) me/l | 20.0 | 20.5 ] 21,8 24,0 26,3 | 19.4 [ 23.1 | 24.7 | 25,0 | 22,2 | 17.6 | 17.2 [ 25,3 | I7.2 | 21.7
W EATIRERAE 0 00| e/l — — — - - — - - — — — - - - —
WA 00 | ng/] - - - - - - - - - - - - -~ - -
waERO -t | wg) | — | — - -1 =-1-= - - - =1 -=-1= - - -
YR 209 | ng/) — — — — — — — — — — — — — — —
# (Fo) g/ — — — - — — — — — — — — — — —
7 2 2 () g/} — - — — — — — - - - - — - -
LIS g 139 21253 |31.3]33.8]26.043.8[40.2 | 24.7(27.0]13.1]20.9-]43.8 [ 13. 26.5
A (0C) n$/m 37 1.1 | 44.9 | 43,9 51,9 | 33.4 | 41.1 | 47.8 | 49,1 [ 38.3 | 35.6 | 31.0 ] 51.9 | 31,0 ] 40.8
o) ng/1 — — — — — — — — — - — — — — -
¢ Y 30 A M) g/ — — — — — — — — — — — — — —
WHO PR | ng/l | 67.9 | 67.9 | 65.8 | 61.2 | 66.1 | 63.0 [ 64.4 | 83.1 | 86.3 | 66.5 | 62.6 | 67.7 | 86.8 | 87.7 | 67.4
p OO | | mg/) | <2.53[<2.53|<2.53[2.20 [ 1.80 | 210 | — — | 5.34 [ 7.56 ] 2,00 [2.82] 7.56|1.80 | 3.40
pHIO7NAIE | g/l - — - - - — 200|410 - - — — | 4.10 [ 2.00 | 3.05
B A (504°70) | g/l - = — - - - - - - - - - - - -
gt~ @) | ng/l | 44.6 [ 52.1 [ 6.8 [ 53.8 [ 78,2 [ 41.9 | 58.6 | 78.5 | 78.6 | 41.0 | 41.8 | 87,3 | 78.5 | 37.3 | 55,3
RO () ng/1 — — - — — — - - - - — — - = -
A1V D a(K) g/ — - - - - - - - = - - - - - -
BU R (1 8i0y) ng/ — — — - — — — - - - - - — - -
63 3 ng/} - - — - - - — - - - - — - - -
yuarih-a (Chl-a) a0 | 207 27.6 | 45.7 | 506 [ 43.9 ] 70,8 |152.2[108.7]100.9| 73,9 | 86.6 | 53.6 | 162.2{ 21.7 | 69.4
46 (Chl-b) g/ L | 0.7 0.7 1.2 | 3.1 4.0 0.9 0.1 1.4 0.4 2.7 1 0.2 0.7 1.0 0.1 1.4
sy id-c (Chi-c) re/t | 3.0 3.3 | 1.5 [ 13.2 | &0 1.5 6.8 | 0.6 4.2 2.5 h. 4 1Lh | 18.2 | 0.6 4.8
PxA 74T pe/l | 1671127204180 1551 3.8 | 26,6 | 11.2 | 32,8 | 17.1 ] 18.§ 1.1 [ 311 3.3 [ 17.0
Ear A& REREEN | me/L — — — - = - - - - - — - — - -
RS 1 OHEARROFE L oked ), 3. P-ON=(ON) - (D-ON) 6.P-TP=(TP)~(D-TP)
L.LP-COD=(COD)—(D-COD) 4. D-TN={(1N)+(D-ON) LTC=({1LC)+(TOC)
2. I N=(NH4-N) + (NO2-N) + (NO3-N) 5. TN=(1N)+(ON) 8. P-0C=(TOC)~(D-0C)




KERER (1) —WER (£m0)
TR A S KA FR I % A e 1 645 (200448)

7 Blo| BUL | 1/6 | 2/6 | 872 | /28 | /18 | /15 | T/6 | 8/3 | 9/14 | 1019 | 1179 | 12/9 |fRokcfis| fohs M| Pt
2-M1B ng/ 1 4 3 8 79 18 9 25 6 0 3 3 170 170 0 | 27
VAREY ng/ 1 43 11 17 54 39 45 16 3 4 8 38 36 54 3 26

FRMINDLY Y LR mg/1 ]0,048 {0,043 [0.077 [ 0.103 |0.193[0.246 |0.408|0.430]0.380|0.211[0.259|0.168]0.430]0.0430.213

Junihh 2k R G wg/l 10,014 10.017[0.025[0.089]0.067]0.140]0.258 |0.265 0. 185 0. 116/0.150]6.003]0.265]0.014]0.114

7 oy yumiyvaakig| we/l 1 0.018]0.016(0.029 [0.031 [0.061[0.064{0,003[0.101[0.112[0.059(0.0690,042]0.112]0.016 |0.058
y 7 pvooryvsakit| e/l 0,014 10,009 |0.020 [0.097 0,052 10.036]0.049 | 0.054 0. 065 ]0.031[0.035 |0.025]0.065]0.009[0.035 |

7 neibAdesliE | mg/l | 0.002 (0,001 0.008|0.006|0,013[0,006|0,008]0.010[0.018[0.005[0.005]0.003]0.018 | 0.001 | 0.007

B L me/l ] 0.62 ] 0.67 | 0.81.]0.93 0.8 ]0.95 | 1.43 | 1.52[1.12]1.48]1.30]1.29] 1.52 | 0.62 | 1.08

58 (T mg/l | 0,62 [ 0.67 | 0.78 | 0.87 | 0.91 | 0.88 | 1.41 | 1,A7 [ L.16 | 147 | L2 | L2l | 1.47 ] 0.62 | 1.08

BER(N T mg/1 [ 0.62 | 0.65 ] 0.77 ] 0.96 | 0.85 | 0.92 | 1.35 | 1,65 | 1.27 | 1.49 | +.88 | 1,20} 1.55 | 0.62 | .08

BY N LR me/l [0.062]0.069]0.09200.009]0.117]0.092]0.174]0.824]0,224]0.074]0.066 | 0.075]0.324 [ 0.062]0. 124

20 > (1) g mg/1 ]0.061]0.070]0.090 |0, 116 [0, 117]0.106|0.160|0.337]0.247]0.073[0.073|0.076]0.337[0.061 [0.127

8 >0 FR ng/1 [0.063)0.069]0.091]0.120]0,114/0.124/0,190(0.332]0.262[0.0820.080|0.074{0.332|0.063|0.133
CODLE wg/l | 5.89 | 6,30 | 821 | 9,38 | 8.30 | 8.46 [10.71 |11.32]10.67 | 835 | 7.21 | 7.26 111.32| 5.89 | 8.50
CODYIE mg/l | 5.45 ] 6.04 | 7.48 | .76 | 8.85 | 7.65 | 9.82 [11.49[10.18] 8.71 | 7.4]1 | 7.40 | 11.49| 5.45 | 8. 35
CODTFHR mg/l | 5.00 | 5.8 | 7.24 [10.61] 8.42 | 8.52 [10.73|11,51[10.78| 8.43 | 7.57 | 7.56 | 11.51 | 5.09 | 8.53

K KLk T — — - - - — — — = — — -

adif] T — — — — — - — — — — — —
0.5m c| -] -T-1T-1T-1=1-1-1-1=1~-=171 =
1. dm 5 — — — — - - - — — — — —
2. 0m T - - = — — - — — — - - -
3.0m c |l -l1l-1-]l-1-1=-1-1=1=-1=-1=1=
4. )m T -l -1=-1=-1T-1=-1=-1=1=71=1=1 =
5. 0m C — = — - — — - — — — - -
6. 0m T - — - - — - — — - - - -
e C - - - — — — - - - - - -
*DO Kbk | ng/l — — - — - - — - - - - -
Fi mg/1 — — — - - — — — - — - -
0.5m mg/ | — — — - — — — — = — — -
I.0m ng/1 — — — — — - - - — — - —
2.0m ng/| — — — — — — — - = = - -
3. 0m ng/| — — - — - — — — - - - -
4.0m ng/1 — - — — - — = - — = - -
5. 0m wg/l| — — - - — - - — - - - -
6. om wg/l | - | -] - -] -] -] -] = =7 =] =1 =
JET mg/1 — — - — — — — — - - — —
ARHPHEE KE | Lux - — — — — — - - - - - -
K Lux — — — — — — = - - - - —
{1, bm Lux — — — — - — — — - — - =
1. 0m Lux — — - — — — - — — — — —
2. 0m J.ux - — — — - — — - — - = —
3.0m Lux — — — - — = - - - - - -
4.0m Lux - - — — - — — — -~ - — —
b. 0m Lux — — — — - — — — - - - =
6. 0m Lux — — — — — - — — — — - -
JETE lax | — - — - - - - — - - — -
FEmLORP m¥ — - - - - - - - - - - —

Wi

+ DORDOFHC L BHIEHME




KEER D - k- (FoD
RS Nk ES ¥ FRLI] T4 R SERRLG4E (20044F)
it BOL B | 1/6 ) 2/6 | 3/2 | 4/23 | B/18 | 6/15 | T/6 | 8/3 | 9/14 | 10719 | 11/8 | 12/9 [k fi /it | S
KB IG5 i 4 & & i & £ At 4 i E2S
Tk sy | 7:59 | 8:02 | 8:31 | 8:04 | 7:28 | 8:11 | 8:11 | 7:43 | 7:45 | 8:04 7:28 | 7:41
ki m 454 | 414 | 4.47 | 410 [ 4,12 [ 4.37 | 4.34 | 4.50 | 4.62 | 4.53 | 4.41 | 4,34
Bokk g S m 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50
AR C 4.8 | 1.8 | 4.6 [ 12.8 ] 23.9 | 210 27.1 | 32.5] 270 16.0] 14.5 | 10.2 ‘
KB T | 6.3 [ 6.2 ) 82 [19.2]18.2[23.020.3[29.3]26.917.116.9]11.51 29.3| 6.2 | 17.5
7 8 FiEH | REE | REE | R0B | Rens | soams | e | wes | sows | e | sees | e
K& (BR) MERL | B | MEB seum| B | dest | e | dest | ges | s | feny| dEn
pegilig em | 174 | 11,8 18.0 | 14.8 | 18.0 | 138.5 | 16,5 ] 26.0 | 26.5 | 13.0 [ 20.5 | 13.0
P HE m 0.48 |1 0,37 | 0,37 | 0.54 | 0.42 | 0.37 | 0.48 | 0.65 | 0.66 | 0.39 | 0.64 | 0.27 | 0.66 | 0.27 | 0.45
K 18 19 18 18 18 14 18 18 17 18 18 11
pH 817 18,28 | 8.41 | 8.00 | 8.11 | 7.91 | 8.24 [ 8.10 | 8.32 | 8.08 | 8.36 | 8.82 | 8.82 | 7.91 | 8.23
DO ng/l [12.48 13,07 |11.78)10,66/) 9.29 |11.77] 8.63 | 9.45 | 9.00 | 9.62 | 11.55 [ 11.46]13.07] 8.63 | 10.72
BOD ng/) | 2.82 | 3.72 | 4.22 | 3.45 | 3.05 | 3.84 | 2.42 | 2.20 | 1.30 | 2.39 | 2.4 | 3.15 ] 4. 22 [ 1.30 | 2.89
CODyy mg/t | 6.90 | 7.32 | 8.17 | 8.78 | 7.70 | 8.04 | 7.27 | 6.55 | 6.99 | 6.89 | 6,45 | 7.40 | 8. 73 [ 6.45 | 7.37
D - CQDy, %) — — — - — - — — - — — - — — —
'P - CODy, ng/1 —~ - - — — — — — — — — — — — —
CODg¢, ne/1 — — - — — — — — - — — - — - —
D CODg, ng/| — — — — — — - — | - - — - — - -
$s mg/l | 22,0 | 27,9 |'82.5 [ 24.7 | 89.3 [ 26.5 [ 17.0| 8.5 | 12.5|37.0 | 158 | 19.2[39.3 ] 85 | 23.6
RIBWTER ¥N/10051 | 3. 3E+L| 4. 9B+ | 4. 9B+1| 3. 5E+2| 1. 3B+2[3. 3B+2|4. 0B+2| 2. 2B+3| 4. 9B+3| 7. 0B+2| 3. 30+3| 7. oR+2] 4. 9R+3 ] 3. 36+1] 1. 1643
RUTEARBRIR | w00al )3, 0B+0) 7. 0E+0| 5. OB+0| 1, 4B+1) 2, 2B+1] 2, 4E+2|5. 0B+1]4, 3E+2]2. 5E+2] 3. 3E+2| 7. 4E+2] 8. 2B+1| 7. 4E+2| 3. 0B +D ] 1. 8E+2
B8R () A/l 10,92 [ 1,07 [0.98 0,98 0.8 | 1.05]0.70 | 0.90 | 0,71 [ 0.8 | 1.18| (.19] 1,19 ] 0.70 | 0.95
Y (1) ng/l [0.069 0,091 |0.095]0.098 | 0.080[0.092]0.08t[0.086|0.076[0.114]0.063[0.091]0.114[0.063 0,086
) (1) /] — — — — — — — — — — — — — — —
TURDABESER (NN | wg/l | 0,01 | 004 [ 041 [ 0.02 [ 0,02 | 0.05 | 0.05 | 0.06 | 0.05 | 0.03.| 0.03 | 0.03] 0.14 | 0.01 | 0.05
FERIRIBESG0:-0 | ng/1 10,004 | 0,004 | 0,000 |0.002]0.003]0.003|0.004]0.016|0.004 |0.005|0.010(0.011[0.016|0.000]0.006
TR (N0 - 1) ng/l ] 0,21 | 0.21 10,00 [0.00] 001 | 0.00/0.00]0.30]0.05]0.16/0.40]0.335(0.407]0.0010.14
s O ng/} 10,22 1035 [0.10[0,02(0.03/[0,05/0.05]0.3810,10/0.20]|0.44]0.37] 0.44 | 0.02 | 0.19
TR () ng/l | 0.64 | 0.83 | 0.83 | 0.99 | 0.89 | 1.03|0.70 | 0.49 | 0.66 | 0.71 | 0.77 | 0.87 | 1.03 | 0.49 | 0.78
FRSTRRRE O o) | ng/l — - — - — — — — — — — — -~ — —
T EipRecr o | ng/l — — — - - - — - - - - — — = -
SEREBEEO - | n/) — - - — — — - - - - — - - ~ -
BEER (T ng/t | 0.86 [ 1.18 | 0.94 [ 1,01 | 0.92 | 1,08 [ 0.75 | 0.87 [.0.76 | 0:91 | 1.21 | 1.24 ] 1.24 | 0,75 | 0.98
APNZERI PO, -P) | wg/) | 0.0183(0.010[0.004]0.014]0.021(0.029(0.027|0.050(0.025|0.030(0.0130.038]0.050 (0,004 |0.023
Bp e e po-n | ng/l | 0.000 | 0.005 | 0.000(0.002]0.004[0.007[0.008|0.046|0.018]0.0190.007|0.002]0.046 | 0.000|0.010
WREEBY -0 -1 | e/l — — — — — — — — — — — — — — —
WFHBY > Cre1) | ng/) - - - — - - - - - - - - - - -
SHSTREGR 0 o/l | 14.9 15,7 | 4.9 | 14.0 [ 161 [12.4 ] 18,1 [ 14.2 | 145 [ 12,2} 9.8 [ 101|157 ] 9.3 | 13.4
A BABEER (T00) e/l | 4.8 | 4.3 [ 84 | 7.3 6.8 | 66 (67| 61 (58 53581 65 84| 4.3 6.1
R (10 we/l 1971200 [ 23.3 23] 21,9} 19.0(19 19.8 1203 | 17.6 | 16.1 | 16.6 ] 23.3 | 15.1 | 19.5
| TR 0 00 | ng/) — — — - — — _ — — = _ = — - _
KT (7 - 00 | g/ — — - — — - — - - - - = — - -
VR ESK (D - Fe) ng/ | — — — — — — — — — — — - — — —
WA 7@ 1) | ng/l - = = - — — - - - - - — - - -
2 (Pe) ng/) — — — — — — — — — — — — — — —
< >33 (4n) g/ — — — — — - ~ — — — — — —
» M B 19,1 | 23.4 [ 30.6 [ 93.5 | 38.9 [ 30.2 | 25.9 | 12.6 | 17 36.0 | 15.9 [ 27.4 | 38.9 | 12.5 | 25.9
#ins (20C) wS/m | 417 | 41.4 | 48.2 | 53,7 [ 55.0 | 40.0 | 43.5 | 44..6 | 46.5 | 33.3 6135.5] 50.0 | 32.6 | 43.0
AN b (G g/l — — — — — — — ~ — — — — —
AL M) ng/ | — — — — — — — — — — — — — —
pHA8PAYIE | ng/) | 67.9 | 67.9 | 65.3 | 62.5 | 67.9 | 62.8 | 63,4 | 66.0 | 69.1 1 53.5 | 50.8 [ 53.2 | 69.1 | 50.8 | 62.5
P HY. OB ng/l | 4.90 [ 4.92 92 | 1,60 [ 1,10 | 2.90 | 8.02 [ 8.07 [ 7.56 | 7.56 | 7.85 28 1 8 .10 | 4.88
pHLOF AL ng/1 — — — — - — — — — — — —
A A 60,7 | ng/l — — — - - — — — - - - = - - -
Yl | mg/l | 56,0 [ 58,1 ] 72.2 | 78.1 | 87.7 | 56.0 | 63.8 | 67.2 | 63.3 | 42.1 | 38.3 | 41.6 | 87.7 | 38.3 | 60.0
1A () ng/1 — - — — — — — — — — — - — — —
AU AR ng/| - — - -~ — -~ -~ — - - - = - - —
BIUNT-Si0,) | ng/ — - — — — — — — — — — - — — -
AL ng/l — — — — — — - — — — — — — — —
yonzid-a (Chl-w) | g/ | 45.9 | 55.7 | 94,6 [110.0] 65.0 | 63.8 | 35.1 | 13.5 | 32.5 | 87.6 | 1.5 | 92.3 | 110.0 | 13.5 | 58.9
200744 (Chl-hy ne/ L) 0.9 0.6 0.0 9. 6 5.7 0.3 0.4 2.3 0.2 0.6 0.1 0.5 5.7 0.0 1.4
yoopdc Gh-¢) | pg/) | 6.9 | 89 [ 14.8 119.3 | 136 5.5 109 | 0.7 | 0.2 0.8 |86 | 45 ]19.3] 02| 7.1
DEAD LT /) 3006 ] 22,9 (695 232248 006 2.3 [ 483 L1 | 6.7 ] 656 |17.5169.6 ] 1.1 | 18.3
Kyt A RS | ) — — — — — — — — — — — — - —
% HIOFEILRR ORI L DRD =, 3. P-ON=(ON)Y—(D-ON) - 6. P~-TP=(TP)- (D-TP)
LP-COD=(COD)—(D-COD) £.D-TN= (1 N)-+(D-ON) L.TC=(1C)*+(T0OC)
2. 1 N=(NHA-N)+ (NQ2-N) + (NO3-N) 5 TN={(IN)+(ON) 8. P-OC=(TOC) - (D-QC)




REEXR U -H k- (20D
KRR MBS KEL FIRU Tfg AR SRR B4 (20044E)
iz} H BGZ | 1/6 | /6 | 3/ | 4/23 | 5/18 | 6716 | T/6 | B/3 | 9/14 [ 10719 11/9 | 12/9 |FKAE | e | Skl
2-MIB ng/ ] — — — — — — — — —_ — — — — . —
VAR el I e e e T e e e I I e T
wowangme o/l | — | - | - | — - |l -1 -1-1= - | = - - - -
pooibhEmRe | we/l | — -l -1 =-1-1= — — — — — — = - =
yuesgmmggytgsg| wg/l | — | — | — | — | = | = | = | = I [ = Z - -
¥ 7 uejaniyy g e/l | — - - — - - — — — — — — - = -
7 DERALEREHE | ne/l — — — — — — — — — — — - — _ =
EgER ) LR mg/l [ 0.92]1.07[0.98)0.98 (0.8 |1.05]0.70]0.90]0.71 |0.82 | 1.18]1.(9]1.19]0.70]0.95
R N /i g/ 1 — — — — — — — — — — — — — — —
SRR N T mg/1 | 0.92 | 1.05]0.93 [ 0.93|0.84 | 0.98|0.740.90 | 0.69 | 0.84 | 1.17 [ L.16]1.17 | 0.69 | 0.93
BY>an LG we/1 [0.069]0,091(0.095|0,098|0.080|0,092|0.081 |0.086[0.076|0.114]0.063]0,091]0.114|0.063 0,086
BY NG mg/ 1 - — - -~ — - | - — - — — - — — —
Y (R FIE pg/t | 0,071 (0.098]0.092|0.094 |0.082|0.084]0.102 | 0.087 |0,086 | 0.109 | 0.064|0.084]0.109 [ 0.064 | 0. 087
COD.LH wg/t | 6,90 7.32 | 8.17 [ 8.73 | 7.70 | 804 | 7.27 | 6.55 | 6.99 | 6.89 | 6.45 | 7.40 | 8.73 | 6.45 | 7.87
CODHE wg/| — - — —~ — - — - — — — -~ - — —
CODTFR ng/l | — ~ - — — — = - — — - - - — -
A kE T — - - - — - — — — — — —
Rl T — ~ — — - — — — — - — —
0.5m T — — — — — — — — - - — —
L. dm T — - — — - — — — — — — -
2.0m c | -1 - | << -1 =1-"1-1=-1T-=-1-1T-=-1+=
3.0m T — - - - - | = — — ] = — — =
4, hm (e — — | = — — — — — — = — =
5, 0m T T 1 =T =T =-1-1T-=-1T-1T-=-T-1=1*=
6. 0m T - - - - - - - — - — — —
Kl O I I I I I I I I
*DO  kE | mg/l — - — - - - - — - — — —
Ed ng/| — - = - - = - — — - - -
f.5m g/ — - - - - - — — — — — —
1. 0m wll - | = | - | - | - [~-1-1T~-1-1-1-1=
2.0m wg/l | — - — - — — - - — — — —
3.0m ng/1 — — — — - — — — — — — -
4.0m g/} — - - - - - - - - - - —
5. 0m mg/1 — — - - — — — - — — — —
6.0m mg/] — — — = - - -~ - - — — —
g 4] ng/1 — — - - — - — - - — - —
KWpHEEE KE | lux - - - - -~ — - — — - — —
FIE Lux — - — - - - - — — — — -
0.om Lux — - - - - ~ — - — — — —
f.0m -Lux - - - - - - — — - — - —
2. 0m Lux - = — - = — — — - - — —
3.0m Lux - - — - - - - -~ — - — —
4. 0m Lux — — — = — - - — — — — —
5, 0m Lux — - - - - - - - — — — —
5. 0m w | - | -] - =/ =-1-1=-1T-1T=-1T=-1T-1=
JSiE Lux - - - - - — - — - - — —
FEwEmiore | w | - | - | - | - | - -1 -[T-1T-1-1-1-+=

$ DOWDORHZ X B ERR




KEELR () —HEiH- CGEol
AT SR KEH FUEN il A RRFR AR L64E (20044F)
T B| B | 1/6 | 2/6 | 8/2 | 4728 | 5/18 | 6/15 | 1/6 | 8/3 | 9/14 | 10718 | 11/9 | 12/9 PR oMl | T it
K Of# I i L &t I W ¢ 4 4t 4t i S
Rk IF% Wiy | 8:18 | 8:28 | 8:49 | 8:20 | 18:22| 8:30 | 8:32 | 8:20 | 8:08 | 8:22 | 7:44 | 8:00
oy S m | 3.45 | 2.94 | 8.18 | .87 [ .21 [ 3.92 [ 4.22 | 2.80 | 4.07 | 3.81 | 4,93 | 3.42
kKT m | 0.50 | 0.50 | 0,50 [ 0.50 ] 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50
&M T 4.8 [ 2.0 | 4.7 [12.0 | 24.4 | 22.5 | 27.3 | 31.8 [ 28.0 | 17.0 | 15.6 | 10.8
HKOE T 6.8 6.1 8.2 | 18.2]20.923.2127.0]30.1]25.5|17.0116.811.7] 30.1 f.1 17,6
Vi) HAE | 0% | ReE | en | NRes | Ken | mn || SHRE | BEm || s
B & (v MEBL | AEBL | MEBL |mpo| LT | SEUL | MEEL | MEBL | gebE | Bl ) OMRDL | seun
ERE tm 19.0 | 16.0 | 13,5 | 12,0 [ 1L 6 | 10.0 | 12.0 | 18.2 | 21.0 | 14.0 | 19.0 | 15.0
HOABE m 0.50 | 0.41 | 0.37 | 0.35 ] 0.43 ] 0.30 | 0.34 | 0.43 | 0,55 | 0.41 | 0.59 | 0.46 | 0.59 | 0.30 | 0.43
K18 19 19 18 18 18 20 18 18 17 18 18 17
pH 8.06 | 8.25 | 8.33 | 7.99 | 8.13 | 8.39 [ 8.31 | 861 | 856 | 8.05 | 8.42 | 8.81 1 8.8 | 7.99 | 832
DO me/l | 12,12 )12.97 (11,28 8.95 ] 9.60 | 14,92] 9.67 |10,93] 9.74 | 9.36 [ 11.50[10.87]12.97| 8.95 | 10.7
BOD ng/) 2.07 | 4.00 | 4.57 | 3.62 | 3.63 | 3.78 | 2.68 | 2.58 | 1,91 | 2.12 [ 2.37 [ 3.03 | 4,57 | 1.91 | 3.02
CODy, ng/l | 6,38 | 711 | 7,77 | 9.54 [ 8.40 [ 7.91 | 7.91 | 7.82 | 8.00 [ 6.95[6.93 | 7.21 | 9.54 | 6.33 | 7.66
D CODy, ng/1 — — — — — — — — — — — — — — .
P - CODy; g/ — — — — — — — — — — — — — — —
CODg, ng/1 — — — — — — — — — — — — — — —
D+ CODg, g/ — — — - - — — — — - [ = — — — -
SS ag/l | 17.0 | 26.5 | 81.0 | 40.0 | 25.0 | 24.0 | 20.2 | 180 | 16,7 | 19.2 | 20.4 | 19.8 ] 40.0 | 16.7 | 23.2
KIHTER wri/w00at | 2, 3B+1 |4, 9E+1 [ 7. 9R+1[4. 6E+1[ 4. 6541 | L TB+2| 1. I+2| 4. 9E+2| 2. 3B+3| 2. 8E+3| 7. 9B+2| L. TE+2| 2. 8E+3 | 2. 3E+1 [ 5. 0B+2
FMEEKBWRE | B/00s |3, 06+0| 6. 0B+0[ 7. 0B+0| 2, AG+1 | 1. 8B+t | 1. 6E+2|6. 2B3L| L, IE+2| 1, 6B+3] 4. 9F+2] 3. 2642/ 9, 0L+ | 1. 5B+3 | 3. 0840 | 2. 3B+2
RE ) ng/) | 0.82 10,99 [0.84 (0,8 {087 |082]0.73]0.8 |0.70|0.74]1.10|1.03]1.10 0,70 | 0,87
83 > (TR ng/) [ 0.068]0.082(0.084)0,114|0,080|0,085(0.093|0,085 0,088 |0.098|0.073[0.087]0.114|0.058]0.087
TEh (1n) ng/) — — — |0.017] — 0,000 — [0.000] — [0.004] — [0.001]0.017]0.000 0,004
TACHRABEEH (RN | wg/1 | 0,00 | 0,11 | 0,04 | 0,03 | 0.02 ] 0.02]0.03]0.02]0,00]0,02]0,02/|0.03([0.11]0.00]|0,03
TERIRLABGER 010,-0) | ne/L [ 0.004 | 0.004 | 0.000]0.001 [0.003]0.003|0.003|0.057[0.002]0.004|0,011]0.014]0.057|0.000 0,009
NGB Wo.-0) | me/1 [ 0,16 ] 0,18 [ 0.00 [ 0.01 ] 0.00{0.00{0.00]0.13[0.00]0.15]0.37][0.21]0.87]0.007]0.10
BSMER CN me/l | 0.17010.29]0.0410.04(0.02]0.062710,03/(0.21]0.00/0.17]0.40/0.25]0.40]0.00 | 0.14
AR (08) we/t | 0.66 | 0.84 | 0.7 [0.90 ] 0.87 | 0.83 1 0.73 [ 0.73 [ 0.84 | 0.68 [ 0.79 | 0.83 ] 0.90 | 0.66 | 0.78
ERIERBRE O - 00 | ng/) — — — — — — — — — — — — — — —
SCTHAIRGNA (P 00 | ng/ - - - - - - - = - - - - = - -
AR EgRCo ) | ng/] - - = — - - - - — — = = - — -
#HER () mg/l | 0.83 ] 1.18[0.75[0.94]0.80 0.8 | 0.76]0.94 | 0.84 | 0.85 | 1.19 | 1,08 | 1.19 | 0,75 | 0.92
AP ReHE) 0, -P) | ng/l | 0,007 | 0,008)0.004|0.021]0.022]0.026[0.034[0,031[0.022]0.031(0,0170,034]0,034|0.004 | 0.021
pmstmso -0 | me/l | 0,000 (0,004 | 0.000[0.001.]0.004 (0,004 |0.010]0.028[0.013]0.018[0.0100.0027{0.028|0.000 | 0,008
RORIERY >0 ) | me/) — - — — — — | - — — - — — — — —
WEREgU P | myl - - — — — - = - = — — - - - =
HBBIERI0) mg/l | 16,0 | 15.0 [ 14.8 [ 14.5 | 17.0 [ 12.0 | 14.3 | 15.7 | 14.2 | 12.6 | 10,9 | 9.5 { 17.0 | 9.5 [ 13.8
ATRBEER (T00) we/l | 4.5 | 44 7.3 | 8.8 | 7.8 | 14| 63| 60| 7.4 | 53| 56| 68| 88| 4.4 6.5
BLER(TO me/l | 2005 ] 19,4 | 20,6 | 23,3 | 24,8 [ 19.4 ] 20.6 | 20.7 ) 216 [ 17.9 | 16.5 | 16.3 | 24,8 | 16,3 | 20.3
VR RBIER 0 - 00 | ng/) — — — — — — — — — — — — — — —
WFEARERRCr 00 | neg/l — -~ — — — — — — - - - — — = =
Wik + Fo) wg/1 — — — — — — — — — — — — — — —
VA »@ My | oe/) — — — — — — — — — — — — — — —
£ (Fe) pe/ — — — - — — — — — — — — — - —
< H > () wg/| — — - — — — — - —- — - — — —
w o e | U6 1 20,2 29.2 | 46,1 | 82,9 30.8 | 32.6 | 21.4 [ 21.3 [ 30.2° 22.1 | 24.9 [ 46.1 | 16.1 | 27.4
A (20C) nS/n | 44, 39.2 | 46.4 | 46.4 | 55,2 [ 39.3 | 49.8 | 57.3 | 54.4 | 34.9 | 32.8 | 39,0 | 673 | 32.8 | 44.9
10 B (Ca) g/l — — — — — — — — — — — — - — —
Y RN M) mg/} — — — — — — — — — - ~ - — —
pHA TN UHE | mg/t F70.5 | 73.2 | 70.5 | 64.0 [ 69.1 | 60,7 | 65.0 | 80.6 | 77.5 | 55.4 | 54.9 | 61.5 | 80.6 | 54.9 | 66.9
pHY, 0R i wg/d [ <2.63<2.53(<2.53 1,30 | 10 | 2,00 | 2.72 | 7.06 | 7.56 | 7.36 | 7.75 | 3.83 5| 1,10 | 4,52
pHOPNAVEE | ng/) — — — — — — - - — - — — — -
BT A (50,77 | my/) - — - - - - - — i - — — — —
HefedaA A (C1) ng/1 62.6 | 47.8 | 66.0 | 57.8 | 85.2 | 55.5 | 78.1 [ 102.2| 8L.7 | 44.6 | 4L. 7 3.2102,2] 41.7 | 64.7
3 1 U® L (Na) ng/) — — — — — — — — — — = — - - —
BIDLK) e/ — — — — - — — — - - - — - - -
BUHA-510y) | wel — = — — — — — -~ — - - — - — -
L ne/| — — — — — — — — — — — — — — —
yunbn Chl-w | e/t | 39.8 | 52,7 | 76.9 | 71.2 | 42.4 | 45.0 | 47.3 | 41.0 | 43.3 | 33.0 | 64.9 [ 79.8 [ 79.8 | 33.0 | 3.1
ymrgi-b Chi-w) | e/t | LS 0.8 ] 00 ] 60 4207 0.8 09690807 0.7 60] 00/ 15
yoph-e Cot-o) | g/l | L1 [ 9.5 107197 9.6 | 3.0 [ tr [ 0.7 [ 0.0 [ 1.0 | 61138 197)] 00 60
AT 4FY we/1 | 26.8 [ 10,7289 [ 23.8]20.5] 7.1 | 85 | 16.0] 4.3 | 2.9 |12.5 |24.2|289 ] 2.9 | 16.3
A A RS | ng/) — — — — - — - - - - = - - - =
[iES HHIOHBRRRO T L DRD L, L P-ON=(ON) - (D-ON) 6.P-TP=(TP)—(D-TP)
ILP-COD=(COD)—(D-COD) 4 D-TN=(1N)+ (D-ON) L.TC=(1CY+(TOC)
2. I N=(NH4-N) + (NO2-N) + (NOI-N) 5. TN=(IN)+(ON) 8. P-OC=(TOC)—(D-QC)




KEEE (4 -SRI - (202)
(RIS 4SS0 KAH FHEI [EHIES HPEFLEN SERE 1G4S (20044F)

IH H . | BB | 1/6 28 | 8/2 [ A/23 | 8/18 | 6/15 | /6 | 8/8 | 914 [10/19] 11/9 | 12/9 Bk TR /Nl | Y
2-MIB ng/ 1 0 0 2 49 11 )| 0 0 2 ! 2 63 63 0 11
JARI Y ng/ | 18 2 7 8 f 7 0 0 3 3 i 26 26 0 7

whmpk | wg/l |~ | — | — | — | — | - - =] =7 =7 =1 =1= - -

honahtk s il mg/1 - — - - = - - - - - - - - — —
7 U yunpyykkis| me/l |~ - — - - - — ~ - - - - - - —
v 7 eshuotd gkl me/l | — - - = - — = = - — = — - - —

7 uEhbhdEsRiE | mg/l — — — — — — — — — — — — — — —

SRR (TN) 118 mg/) | 0.8210.99 | 0.84 | 0.89 [ 0.87 | 0.82 [ 0.73[0.89[0.70[0.74 | 1.10 | 1.03 | 1.10 | 0.70 | 0.87

BRI P mg/1-| 0.82 10,99 | 0.84 [0.80 | 0.87 [ 0.83 | 0.66 | 0.81 | 0.64 | 0.70 | 1.08 | 0.98 | 1.08 0.66 | 0.84

IR TN F IR mg/t [ 0.83 | 0.94 1 0.85 | 0.79 [ 0.92]0.87 [ 0.69(1.,00]0.70]0.70] 109 104 1,09 | 0.69 | 0.87

BY > (7P) L1d me/) |0.058 (0,082 0.084.[0,114]0.090|0.085[0.093]0.095]0.088]0.098 [0.073|0.0870.114 | 0. 058 | 0. 037

) 2 (TP) g mg/1 10,059 0,081 |0.085 | 0,099 | 0.098]0.087]0.089]0.089[0.085]0.0980.069 [0.089] 0,099 | 0.059 | 0. 085

BYXODTH mg/1 ]0.069 [0.076|0.085|0.099|0.096]0.097]0.098|0.125[0.090]0.105]0,071[0.093]0.125 | 0.059¢ 0. 091
CODLIF ug/1 {6,338 | 711 | 7.97 1 9.54 [ 8.40 | 7.91 | 7.91 | 7.82 [ 8.01 [ 6.95] 693|721 | 9.54 | 6.33 | 7.66
CoDWiB we/1 ] 6.21 | 6.85 | 7.40 | 9.22 | 850 | 7.71 | 7.63 | 7.45 | 799 | 717 ] 6.49 | 7.46 [ 9.22 | 6.91 | 7.51
CODTFR mg/1 | 5.98 | 6.65 | 7.10 | 9.90 | 8.87 | 8.26 | 7.51 | 9.2¢0 | 8. 01 [ 7.37 ] 705 7.67 ] 9.90] 5.93 7.8

S e T — - — — — — - - — - - i~
] T — — — — - — — — — — — -
0.5m T — — — — — - - - = - - -

[.0m T - - - — - = — - - - = -
1.0m T — — — - — — - — - - - -
3.0m e - — — - — = — - - - - -
4. 0m T — - - = — - - - - - = -
5.0m T — — — — — — - — = — - -
6. O T — — — — - — — — — - — —
ST T — — — — - — - - — - — -
*DO  KE | pe/l — — - - - - - - - - - -
badli] ng/1 - - — - - - - - - - - -
0.5 ng/| — — — — - — - - - - - -
1. 0m ng/ | -~ — — — - - - — - - - -
2.0m ng/| — - - - - - - - - - - -
3. m ng/1 — — — - - - - - - - - -
4, m “mg/l — — — - - - — - - - - -
5. 0m mg/ | — — - - = - - - - —_ - —_
6. 0m mg/ | — — — — — - - = - - - -
Jdii} ng/| — - - — — - - - - - - -

ACRREEE kB | Lux - — — - - - - - - - = -
ETi] Lux — — — - - - - - - - - -
. 5m Lux — — — — - - - — - - - =
[.0m Lux — — - - = — — - - - - _
1, 0m Lux — — - — — — — — — _ _ —
3, 0m Lux - — — — - - - - - - — -
4.0m Lux - — — - - - - - - - - -
5. 0m Lux — — - - — — - - - - - -
f.0m - lLaux — - = - - - - - - - . -
Jizdi] Lux — - = - — - - - - - - -

FERHELEORP nY - - = - - - - - - - — -
e + DORDOEMT & A MlER S




WM 4 U K R e SRR SERRLREE (200448)
TH B| B[ 1/6 | 2/6 | 3/2 | 4728 | 5/13 | 6/15 | T/6 | 8/3 | 9744 [10/19] 1179 | 12/9 |IRoAhil| il e
K % B I & | | & i it & | & & Ui &
Rl Misr | 8:53 | 11:19] 9:08 |10:26 |14:03 | 8:50 | 8:56 |11:41 ] 8:25 | 8:39 | 8:02 | 9:51
kiR m | 4.82 | 4.73 [ 4.70 |4.68 [ 4.38 ] 4.87 | 4.87 | 4.91 | 4.71 | 4.84 | 5.05 | 4.66
FokokE m | 0.50]0.50 | 0.50 [0.50 ] 0.50 | 0.50 [ 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50
SO C 3.5 [ 15 | 4.8 [11.2]23.5]28.2126.0]32.6]27.2(16.8|16.2](10.2
KO jo) 6.0 | 6.8 | 84 | 18.4]|20.5 | 23.2 | 265|300 2.5 17,0167 11.9]30.0] 6.0 | 17.6
ol BANE | WS | mE | B || we | aRs | wouess | aons | s | wees | seem| :
B s MRS | JEEL | JEBL vt SEEL | ARBL | MESL | MEBL | JEEL | e [meusm| SER
B em | 24.5 | 16,5 | 16,2 | 14.5 | 17,0 | 12,4 | 14.0 | 25.0 | 28.0 | 16.0 | 18.0 | 18.5
B m | 0.68]0.43]0.47 ] 0.52 | 0.56 | 0.34 ] 0.44 | 0.49 | 0.73 | 0.48 | 0.52 | 0.64 | 0.73 | 0.34 | 0.53
K 18 19 18 18 16 20 18 17 17 18 18 18
pH 8,35 | 8,26 | 8.54 | 8.108.08|8.06 |8 20]856]|857]|804]85!1 (880188 | 804|834
DO mg/l | 12.64 12,58 11.49] 9.67 | 9.52 |12.46| 9.32 [10.52] 9.66 | 9.49 [11.20]11.29]12.64 ] 9.32 | 10.82
BOD ng/1 | 1,92 | 3.87 | 4.07 | 3.22 | 3.12 [ 4.45] 2,34 2.39 | 1.73 ] 1.92 | 2.26 | 8.01 | 4.45 | 1.78 | 2.86
CODyy we/l | 6.25 ( 7,26 | 7.65 | 8.55 | 7.31 | 8.22 | 7.47 | .66 | 7.79 | 6.85 | 6.98 | 7.42 | 8.65 | 6.25 | 7.45
D CODy, ng/l — — — — — — — — - - — — — - -
‘P CODy, ng/1 - — — - - - - - - - - — - - -
CODg, wg/l — — — - - - - - - — — - — - —
D-COD¢, ng/1 — — — - — - - - - .| - - - — - -
SS wg/) | 12.0 ] 24.5 | 21,0 | 18.2 | 18.7 | 25.5 [ 16.0 ) 12.2 | 15.2 | 17.7 ] 15.8 | 19.0 | 25.5 | 12.0 | 17.8
AMEER - | wenvtooat | 2, 0B42[ 3. 3E+2] 2. 4E+2|4. 9E+3| 3. 5E+2[ 3. 3E+2| 2. 3B+2| 7. 0B+2| 7. UE+3| 1. 4B+3| 4. 9E+3|3. 3428 7. 9B+3 | 2. 2B+2 | 1. SE+3
septkomamedc | maom |2, 18+ |2, (B+L] L 8E+1{ 1L IB+3] 1. IB+2{2, IB+2{3. OB+L| 7. 4B+1 |8, 6B+] |5, 9B+2|5. 9B+2| 8. 68+1| [, 1B+3] 1, 8B+1| 2. 4E+2
HEER () ng/l | 0.84 1 0.83(0.8310.83]0.77 0.8 |0,62]0.85 0.7 1085 | 1.08]1,05]1.0810.62]0.84
B> wg/1 |0.054(0.070[0,069]0.078|0.0730,099]0,085(0.080]0.074]0.101|0,069]0.086]0.101 |0.054|0.078
W) ng/) | - — — 0.004] — [o.00i[ — [0.002] — [0.003] — [0.001[0.004]0.001]0.002

TADMBERML-N | ng/t [ 0.01 ] 0.09 | 0.04 [ 0.02]0.01 |0.02]0.04]0.00|0.00]0.02[0.00]0.02]0.09|0.00]|0.02
HRERGR B0,-0 | ng/l [0.006]0.003|0.000(0.002]0,003|0.003|0.005[0.074]0.002|0,007|0,0110.011}0.074(0.000]0,011
RYREAREER G0 -N) mg/t | 0.14 | 0.04 | 0.00 | 0.01 | 0.00 | 6.00 | 0.00 | 0.14 | 0,04 | 0.20 | 0.33 | 0.26] 0.33 | 0.00 | 0.10
gimeesk ‘i’ mg/l | 0,16 [0,13]0.04]-0.03]0.01]0.02]0.06]0.22]0.04[0.23]0.340,29] 0,34 0.01 | 0.18
HHBWER (OR) ng/) | 0,62 | 0.740.69 (0.8 | 0,83 ]0.87|0.62|0.66 0,75 | 0,68 1|0.76]0.811]0,87]0.62|0.74
WEEATIARER (D - O | ng/) — — — — — — = — - -
REMHEATmER (W | ng/l — — — —

wmessno-m | el | = | = | — | — | — | = | — | — | — | = =] -
Baek (Y we/l | 0.78 |0.87 | 0,73 | 0.88 | 0.85 | 0.89 | 0,67 | 0.88 [ 0.80 | 0.91 | 1.10 | 1.10 | 1.10 | 0.67 | 0.87

ARHIRERY (0 P) | mg/) | 0.0040.005/0.002[0.012(0.017]0.028[0.032/0.021|0.018/0.036[0.012[0.039[0.0390.002/0.019
B0 - | ng/l 10.000]0,000]0.000]0.001 |0.003]0.005]0.013[0.018[0.010]0.021]0.007]0.001]0.021 | 0.0000.007
HEREBY 0T | e/ - - - — — — — — -~ — —
WEERY e | ng/l :

R a0 | me/l f 154 | 16.8 [ 14,8 [ 13,1 [12.8112.4 [ 14.8 | 14.2 | 15.4 [ 13.8 | 1.0 | 10.9] 6.8 | 10.9 | 13.7
ARG (T00) ng/| .4 | 45 | 89 | 7.7 | 6.7 | 6.6 | 5.8 6.9 | 6.1 | 53|64 63| 89| 4.4 6.2
BEH (10 ng/1 | 19,8 | 21,3 | 23.7 120.8 | 19.5 | 18.9 20,1 | 21.1 [ 255 | 18.6 | 16.4 [ 17.2 | 23.7 | 16.4 | 19.9

BRI B D - 00 | mg/1 - — — — _ _
SRS 00 | ng/d — — — — ‘ »
YEER (D - Fe) we/ — — - — _ _ _ — — —
WY (M) | me/l — — _ — - — — — — — —

B (Fe) e/l | — — — - - — | = — = - ~ — = — —
<> () w/l |~ — - - — - — — — — —

¥ M HE 4] 23,5 | 20.¢ 4, 24.5 ) 30.0 | 22.6 | 18. 18.7 1 27.9 | 16.9 | 25.2 | & 12.4
L (20°C) mS/m | 45.5 | 47.9 | 49.0 | 43.3 | 50.0 [ 40.6 | 47.7 | 57.9 | 4.7 f J4.9 | 38.2 | 67 34.9 | 45.¢

N4 () g/ -
<P FRIU A M) ag/1 — — — - — — — — - |
PHART VAU g/t | 67.9 ] 62.7 ) 65.3 ) 63.0) 69,5 ] 63.1 ) 64.6 | 78.7 ] 18.0 | 57.3 | 54.4 1 B
p Y. ORI ne/l | €2.58(<2.58(<2.53 1.70 | 1.80 | 2,10 | 2.82 | 7.56 | 8.06 | 7.76 | 7.15 | 4.
PHAL OV K ng/l — — — — — — — — — - | - —
Bl A2 (50,27 | o/l — — — —
itk A (0 7) we/l | 66.2 | 70.4 | 72.8 | 6.2 | 72.4 | 59.9 | 70.4 ] 99.4 | 82,2 | 46,5 | 43.1 | 50.9 { 99.4 | 43,1 | 65.5
FRUD AW mg/ — — — — - — — - - -

58.5 ] 78.7 ) 54.4 | 65.2
1.70 | 4.178

EREING) ng/1 - - — — — - — — — — - — —
RBIVUAT-$i0,) | ng/l — — — — - — — - — — — - — — —
2L g/l — — — — -~ — -1 - — — — — — — -
youzak-a ©Chl-w) | pee/1 | 41.8 [ 65.2 | 70.4 | 61.9 | 42.4 ] 68.4 | 35.3 | 35.8 | 36.5 | 38.7 | 70.1 | 82.1 | 82.1 | 35.83 | 53.2
wazig-b Chi-y) | g/t | L1 2.0 ] 0.0 | 5.5 [ 42 0.0 | 0.8 ] 0.8 02| 1,1.]02]07]55]00]14
yoppaf-c Chi~) | pg/L | 6.6 | 50,1 | 11,0 [ 15.8] 9.6 [ 5.3 [ 0.2 | 0.2 [ 01 ] 0.2 [59] 301581 0.1 ] 5.7
Tk T AT pt |52 o2.09s0.8 1892|103 8.5 [ 1.6 ] 4.4 | 6.8 [ 11.9]2.1 30,8 3.5 | 168
Rt A eyt | ome) | — — — — — — — — — — - — — - —
fii#% sHIQ RO I L 05k, 3 P-ON=(ON)—(D-ON) 6. P-TP=(TP)—(D-TP)
. P-COD=(COD)—(D-COD) £, D-TN=(IN)+(D-ON) LTC=(1C)+(TOC)

2. I N=(NH-N)+ (NO2-N) + (NO3-N) 5, TN=(1 N)+(ON) 8. P-0C=(r0C)-(D-0C)




KEgE 5 -/ Bi- (0D

T % H KRE BN IS BRI SRR 64F (Z0044E)

T B B | 1/6 | 2/6 | 8/2 | 4728 | 5/18 | 6/16 | /6 | 8/3 | 9/14 L10/19 | 11/9 | 12/9 |SRck | S| SEs g
2-MIB ng/ 1 0 0 4 62 20 i 0 2 3 2 1 20 62 0 10
PAARY ng/ 1 10 4 7 14 10 4 0 0 2 3 5 f 14 ] ]

FEMIAAY A RS g/ 1 — - — ~ - — — — — — — — — — —

pomtpbntle | we/l | — | = | = | - |~ | = - -] -] -] -1 -1 — [T

vopmivgg| we/l | - | = | — | — | = | = | — | = | - | - [ ~ T -1 - 1"=7
vy uomugdigtg| we/l | = | = | = | — | = | = | = | = | - | -] ] -1 - - -

J ouEkaARERE | mg/l | — — — — — —~ — - — — = — — —

HRER N LF wg/L [ 0.84 1 0.83 [ 0.83]0.83]0.77]0.8 |0.6%2]0.8 |071°]0.85|1.08]1.05[1.08]0.62 ] 0.8

RN TN hIF me/1 ] 0.84 0,80 | 0.84 [0.74]0.73]0.68 [ 0.56 |08 |0.68|0.78[1.06][1.04|1.0610.56] 0.80
BERMTHE g/l ] 0.82 | 0,84 | 0.84 ] 0.77 | 0.82 | 0.64 | 0.61 | 0.87 | 0.72 | 0,78 | .10 | 1.03 [ 1.10 | 0.61 | 0.82
) any ki wg/1 | 0.054 {0.070[0.069|0.078]0.073 (0,009 |0.0850.080|0.074 | 0.101|0.069|0.086|0.101 |0.054|0.078
EEUMCI L] ng/l 10.053(0.068]0.071[0.074]0.076|0.088 (0,076 |0.084 |0.081{0.095|0.061|0.084[0.095]0,058]0.076

BYVODTH ng/1 |0.0530.069 (0,072 |0.077[0.078|0.085]0.079|0.110]0.092|0.099|0.070]0.088]0.110(0.05370.081
COD /g wg/l | 6.26 | 7.26 | 7.65 | 8.55 | 7.31 | 822 | 7.47 | 7.66 | 7.79 | 6.85 | 6.98 | 7.4 | 8.55 | 6.25 | 7.45
CODRE mg/] | 5.39 | 6,99 | 7.48 [ 8.62 | 7.08 | 7.23 | 7.39 | 7.45 | .77 | 6,99 | 6.56 | 7.58 | 8.62 | 5.30 | 7.21
CODTH mg/1 | 5.09 | 6.54 | 7.24 | 9.11 | 7.48 | 7.45 | 7.48 | 7.23 | 8.03 | 6.89 | 6.78 [ 7.40 | 9.11 | 5.00 [ 7.22

KR kE T - — i = — — - — - - -

Ediii] i - — — — — — - - - - — —
0. bm T — — — — = - — - - - - -
1.0m . ' OC — - - — _ '_ “ - - - _ -
2.0m cC|l-l-1l=-1]1-]l=-l=-]l=-1l=-]=1=-1=-=1=
3.0m Cl—-l-l=-1=-|l—-1—-—]-1=-1=1=1=13=
4,0m DC - - — — — — — - _ — _ _
5. 0m T — — - — — — - — — — — —
6. 0m c |l - [ -] =-T-1T-T-1T=-17T=7T-T-1T=1T=
fiid] T - — — — — — - - - — — —
*DO kb | my/l | — | — - - | - - -l -1 =] = - =
K ng/| - - - - - — — - - - - -
0.5m ng/1 — - — — — — — - - - - -
l.0m g/ | — - — - |- — - — - - - —
2.0m ng/ — — - - — - — - - - - -
3. 0m mg/ — — - - - T —- — - - - -
4.0m wg/ 1 - - il - - - - - - i
5, 0m mg/1 — — — — — —. — — - - - -
6.0m ng/| — — - - - - - - - - - -
T /L | - [ - | - [ - -1 -1 =1 =1 =-1-1-=-1-

R KE | Lux — - - - - - - - - - - -
F Lux | — - - - ~ - - - - - - -
0.5m S T = N N N R T T N
1.0m Lux - - - — — — — - - - - -
2.0m Lux — — — — — - - - - - - -
3.0m Lux - - — — = - — - - - = -
4. 0m Lux — — — - .| - - - - - - - -
5.0m Lux - — — - — — — — - - = -
6, 0m Lux - - | — - - - - - - - - -
Jiidif) Lux - = - - = - - - - - = -

BERELEORPE nY - — - - — - — — — — — —
e + DOWMDOEH X 2 llliEks#




KEAER U6 ¥ M- (FoD

[ EEs oL KAH FHRII lES HREFIR (] SRR 164 (20044E)

B | Hl BAE | 1/6 2/6 3/2 | 4723 | 5/13 | 6715 | /6 | 8/3 | 914 | 10/19 ] 1179 | 1279 |k skt A
X # i I £ |y & fii§ & | 4 & &t i s
o BRKEAL Pgr | 9:68 | 12:18 ] 9:67 | 1)1 | 11:26] 9:40 | 9:47 [13:14 | 9:15 | 9:25 | 8:51 [ 10:38
Ak m 5,42 | 5.20 [ 5.10 [ 4.93 | 5,12 | 5.12 | 4.96 | A.76 | 5.11 | 5.22 | 4.97 | 5.11
Rk m 0.50 | 0.50 | 0.50 ] 0.50 | 0.50 | 0.50 ] 0.50 ] 0.50 ] 0.50 | 0.50 | 0.50 | 0.50
Rt T 6.2 9.3 6.1 11,0 | 28.5 | 24.8 | 28.0 | 31,9 | 28.2 [ 17.1 | 16.0 | 10.2
KE C 1.2 0.5 8.5 | 18.1]19.8 | 23.5]26.71]29.8|26.1|17.83[17.2|12.0] 29.8 ) 17.6
g i B | RE% | OB | RS | S0HEE | KD | YouRm | seReE | iR | ReD | iR | s
R & wR) BERL | MRS | MESL |moim| MESL | SRR | MEBL [ MRS | SR dEBL | Jel | del
A HE cn 2002 ) 14.2 1 21,71 20.5 1 19.5 | 14,6 | 15,0 ] 24.0 ] 29.0 | 16.0 | 23.0 | 17.8
HEOHE m 0,701 0.36 | 0.58 | 0.71 | 0.45 | 0.38 | 0.45 1 0.47 | 0.79 | 0.48 } 0.74 | 0.62 | 0.79 | 0.36 | 0.56
KA 17 18 18 18 18 18 18 18 17 18 18 18
pH . 8.50 | 827 | 8.92 | 8.23 | 7.84 | 813|819 | 8.87|8.40 | 8.07 | 8.66 [ 8.80 | 892 | 7.84 | 8.4l
DO g/l [13.4312.97[12.38]10.72] 5.49 [11.93| 8.47 {12.80| 9.82 | 9.73 | [1.99|11.13]13.43| 5.49 [10.91
BQD ng/1 1.77 1 4.07 | 4,00 | 3.66 | 6,13 | 3.39 | 2.36 | 2.80 | 1.64 | 1.64 | 2.18 | 2.84 | 5. 13 | 1.64 | 2,95 }
CODyy we/l | 5.59 | 71.56 | 8.31 | 9.1 |9.03 ] 7.569 | 7.61 | 7.90 | 7.55 | 7.63 | 6.54 | 7.28 | 9.11 | 5.59 | 7.63
D+ CODy, ng/ — — — — — — - — — — — — — — L=
P« CODy, ng/) - - — - | = - — - - — — — - - -
COD¢, /1 — — — — - — - — — — - — - — —
D- CODC, rag/] —_ bl - - - — . _ _ - - — _ ’“ -
SS ng/} 105 21,0 | 14,56 19,2 | 24.8 | 19.5 ] 205 | 13.5 | 9.0 | 15.5 | 13.0 | 15,2 | 24.3 9.0 16.3

Kt weh/100si | 7, OB+ | 1, 3E+2| 2. 4B+2| 2. 2E+42| 3. 3B+2| L, {E+2| L. 1B+2| 1. TE+2|2. 3B+3| L. 4B+3(4. 9B+2|4. 9E+2| 2. 3E+3| 7. 9E+1 | 6. 1E+2
ORI | 000 | 7O0B40( 7, 0B+0| L QB+1) 3. 8B+1 |5, 0B+0| 2. TR+ |2, IB+1| L. OB+1|9. GB+2| 7. OB+ 8. OB+1| 1. 2B42] 9. 6842 5. 0B+0[ L. 1E42

8K (1) ag/l | 0.86 [ 0.85 [ 0.84 | 0.88 [ 111 |0.73 [0.71]0.93 [0.720.85 [1.10]0.98 [ 1.14[0.71 [0.88
1Y > (1p) ng/l_|0.051[0.070]0.060]0.0760.123]0.090 [0.095]0.099 [0.0820.105[0.064]0.077]0.128[0.051 | 0.083
) wl | - | - | - | - [ -1 -1 -=-1T-1T=T-1T-1-T=-T-=-—71T+=

YASHABSER (-0 | mg/l [ 0.01 | 0.10 [ 0.04 ] 0.02 ] 0.02 | 0.02 | 0.09 | 0.00 | 0,04 | 0,02 | 0.00]0.02f0.10 | 0.00 | 0.08

BRI AR (00,0 | mg/1 [ 0,008 [0.003 | 0.000|0.001|0.003|0.002[0.006[0.068|0.006[0.009]0.011|0.011]0.068 |0,000|0.011

WRBRE NN | ng/l | 0,19 [ 0.03 ] 0.00 (0,01 10.00]0.00{0021]0.08]0.0610.25({0.32]0.1410.3210.0010.09

RRABER CIN) rg/l [ 0,20 [ 0.13]0.04]0.0310.02]0.02]0.12]0,15]0.11]0.28 |0.33]0.17¢70.3310.02]0.13
0. 65

Amas o0 | mg/) | 0.66 | 0.72 | 0.66 ) 0.88 | 1,12 [ 0.82 [0.69]0.81 |0.68 | 0.65[0.79|0.84 ] .12 0.78
pEnmEmED- 0|l | — | — | — | — | — | — | = | = | = | = —

BRI -0 | ag/) - — — — - = - — JE = — _ = —
VegRtEs R -1y | e/l — — — — — — — . _ — - — - — —
e () me/t | 0.87 (0.8 0,70 [ 0,91 | 1.14 | 0.84 | 0.81 | 0,96 [ 0.79 [ 0.98 | 1.12 [ 1.O1 ] 1.14 ] 0.70 | 0.91 ‘

MBI (P0,-F) | mg/t | 0,005 |0.005]0.001 |0.0130.027[0.027|0.026]0.015]0.022]0.040]0.013]0,039]0.040 [0,00! [0.018
Yesisasazaeny o - 20,0 | mg/1 | 0,000 (0,001 [0,000(0.000/|0.004[0.020]0.005]0.010|0.016|0.023 (0,007 |0.061]0.023 |0.000]0.007
WRHEBUS @-1P) | ne/] - — - — — — — — — —

wFERY >0 ) | e/l — — — — — — - — -

REMELAER A0 me/) | 16.0 | 16.7 | 15,2 [ 126 | 17.0 | 1.7 | 14.4 | 17.7 | 165.0 [12.1 | 10.8 | 12.4 ] 17.7] 10.8 | 14.8
TR (100 mg/l | 3.7 139 | 7.8 ) 891 8.2 8 | 6.4 | 7.1 .8 | 6.8 | 556 | 62| 89| 3.7 ] 6.4
BHGR (10 ng/! | 19.7 ] 20.6 | 23.0 | 21.5 | 26,2 | 17.5 ] 20.8 | 24,8 [ 21.8 | 18.4 | 16.3 | 18,6 | 25.2 | 16.8 | 20.7
ViR RERED - 00)| ng/l — — — — — — — — - — — - —
KEPETTIREBER (o 00 | /| - - - - - ~ — — - - - — — — -
FAHEERO - Fo) ny/| - - — — — — — — — — — — — — —
Wy 0w | agl | — | — - - - = = = - — - — - _ -
#(Fo) wl | — | = | = | - | = | =1 =1 =1+ - — | = - - Z
N On) ng/1 — — — — - — — — — — — — —
B K fg ] 10.6 | 21.2 | 17,2 | 28.4 | 32.6 | 28.6 | 31.2 | 17.9 | 12 14.3 | 21.0 ] 82.6 | 10.5 | 21.6
YA QOT) n$/m | 50.4 | 49.6 |132.0) 51,9 1 93.4 | 42.1]79.0 190.4 |6 35.6 | & 132,01 35.0 | 63.8
AN b Ca) [:4) — — - — — — — — - —
wvrouatp | w) | - | = | - | = | = | =] =1 ~~1T-1="1-1- — = —
pHa sl | mg/l | 67,9 | 67.9 | 66,3 [ 64.8 | 70.5 | 63.9 | 63.4 | 83.6 [ 77.8 | 59.4 | 54.9 | 61.5 | 83.6 | 64.9 | 66.8
p HA. O me/l | <2.63[<2.58<0.53] 1.40 | 1.00 | 1.90 | 2.92 | 2.72 | 9.07 |'9.17 | 6.95 | 6,04 | 9.17 | 1.00 | 4.46
pHI 0P Ee | gl | — - - | - - | =1 = - - | =1 - - - - -
Bt A 60,270 | ng/l - — — — — — — — — — — — — — —
it A= @) | mg/l | 79.7 | 74.6 [284.0[ 74.2 [198.2 ] 66.6 | 159.6[201.1[120.2 ) 47.6 | 41.1 | 55.3 [ 284.0| 41.1 | 116.4
Jrusawe | | - | - | - | = | =~ -=-1-1-=-1~- - | - - - -
PRI wl | — | = | - | = | - [ - [ =] -1=-T-1T-1-1=-1=1=
wUHE-8iI0) | et | — - — - — — — - - — - - — - —
Hh U7 wl | = | = | = | = ~ T =T =1T-=-1-1- - | = - — -
yunsah-a (Chi-a) | 2w/ | 40.1 | 55.1 | 68.6 | 59.7 | 87.8 | 55.8 | 51.9 | 69.4 | 51.8 {43.8 | 76.4 | 78,7 | 87.8 ' 40.1 | fil.B
pomrteh @i | e/t | L0 | L2 | 0.6 445610405 1.8(091(1.67101|03]586]| 01 1.5
p007 k-6 (Chl-c) ngy/ | 6.3 7.6 [12.7114.1]13.4] 3.2 2.1 3.1 1.0 0.8 6.2 LU 141 0.8 6.1
TaATLFY A/l | 22.9 | 18.2 | 18.5 | 24.2 | 27.2 [ 414.4 [ 19.2 [ 36,8 | 6.0 | 9.7 | 17.6 | 24.6 | 36.8 | 6.0 | 19.9
A A RSN | me/] — — — - — - - - - — b . . = -
i+ sHIOERBERROIE R LD RS, 2 P-ON=(ON)— (D-ON) 6. P-TP=(TP)—(D-TP)
LP-COD=(COD)—(D-CQOD) 4, D-TN=(1N)+(D-ON) 1.TC=(1C)+(TOC)

2, I N=(NH4-N)+ (NO2-N) -+ (NO3-N) 5. TN=(IN)+{ON) 3. P-0C=(TQC)~{D-0C)




KEEER QD - - (20D

S i KR FRI IED HRRFB I SE %1 645 (20044E)

T R | BAL)1/8 ) o/6 | 8/2 | 4728 | 5/18 | 815 | /6 | 8/3 | 9714 | 10719 | 11/9 | 12/9 | Bk i SR
2-MIB ng/ 1 — — — —_ — - — — - — — — — — —
VARIY ng/ 1 — — — — - — — - — - — — — — —

KHInaty A g/ 1 — — - - — — — — — — — — —~ — —

pooibakERAE | me/l — - — = - — - — - - - — - - —

7 0%y punpdyd gl me/l | — - - — - — — — — - — = - - —
v 7 sepnusy e ke | we/l = — — - — - — = — - - — -~ - —

7" nERbALk R fE mg/ 1 — — — — — — — — — — — — — — —
SRR (T L g mg/l [ 0.86 ) 0,85 [0.84 0.8 | 1.11]0.78]0.70]093]0.72]0.8 [1.007098[L1T1]0.71]0.88

BEAOWEE | wg/l | — = | =] = | = | = =] =] =] -] =T =71 = - -
BEROO TR g/l 1 0.84 | 0.84 [ 0.8 ] 0.70 [ 1.06]0.76[0.82]0.83]0.85]0.84]1.00]0.92]71.09]0.71] 0.8

8BY » O LB mg/l [0.05] [0.070]0.0600,076(0.123[0.090]0.095|0.099[0.082]0.105[0.064]0.077]0.1231]0.051|0.083

By g ng/1 — — — — — - — — - — — — — — -
BUXaO TR g/l F0.048 | 0.068|0.057 (0,069 [0.£07]0.084 0,123 ]0.084 0,090 |0.110]0.066[0.076]0.123]0.048]0.082
COD.LB mg/l | 6.59 | 7.56 | 8.31 [9.11]|9.03|7.59] 7.60]7.90|7.55 | 768654728911 ]559]7563
CODBM mg/| — — — — — — — - — — — — — — —
CODFd mg/l | — | ~ | = = -] -] -] -] -] =T-T-1T-=-71T-1T>=

AE AKE T — — — — - — - - - - — —

Edli] C — — — - — - — — — ~ — -
1. 5 C - — — — — - - - - _ — -
L. 0m T -l -l == =] =] = =1 = -l =] -
2. 0m LN I I I I B T I I I
3.0m L I I - = T = R I I I I
4.0m T - — — — — — — — — — — —
5. 0m T — — - — — - — - - - - —
6. 0m c ]l -|l-l-|l=-|l=-l=-1=-] =) =1]=/1]=1 =
i) T - - - - - — - - - - - -

*DO KE | wg/l - - - — - — - - - - - -
i we/| — — - - — — - - - - - -
0.5m g/l | — | - | -] -] =] =] =]=]=-1=1=1=
L.0m A I T N I T T
2.0m we/l — - = - = = - — - - - -
3.0m ng/1 — - - - - — - - - - - -
4, 0m wg/1 — — — - - — - - - - - -
5.0m mg/l | — | - | - | = = =] -] =] =] =] =] -
6. 0m ng/1 — — — — - — - - - - — -
Jisdii] ng/1 — — - — — — — - — — — —

AigE JkE | Lux — — — - - — - - - - - -
EN] Lux - — = - - - - - - - - h
0. 5m w | - [ - 1T =-1T-=-1T-=-1T-1T-=-1T-=-1-=-1=-1T-=1=
1.0m Lux — - — - - — - - - - - -
2.0m Jux - - — — - - - - - - - -
3.0 Lux — - - - - - - - - - - -
4.0m b | = | - [ - - -]l=-1-1-]1-1-1=-1=
5.0m Lux — — — — — = - - - - - =
6. 0m Lux - — — - — - - - - - - -
HET Lux — - - - — - - — - - - -

EREm.LEORP uy — — - — — — — — — — — —

fiiis

¥ DOWD OFHZ & 5 R




REgER AD ~ABN- (0D

R S\ KRH FI FeHIES RERRH SR 64E (200445)
I 2] Bify 1/6 2/6 3/2 | 4723 | 5/18 | '6/15 | /6 8/3 1 9714 | 10/19 | 1179 | 12/9 | Bl | foIM i) It
X & ] % A 2 | & 5 ok 2k b3 W % s
KR Wesr | 13:05 | 14:12]13:08 [12:24 | 12:53 [ 12:32 [ 13:30 | 14:34 [12:10[12:19[11:49[11:45
LK m | 3.26)2.85]2.98([3.42]2.83|3.19]3.35| 2.68[3.29]3.0413.49]| 276
Bk m | 0.50 | 0,50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50
AW T 9.8 | 9.1 | 5.9 [12.7]25.2| 28.8|33.2|32.8[32.4]17.5]18.8]10.1
KO T 7.8 | 6.0 ) 8.6 [19.1]20.2]26.5]28.8]31.0[28.0]17.5/|18.6|11.7]31.01 6.0 | 187
2 M | g | AR | MORN | WA | BONRE | SORE | BOKNE| RRE | ROE | ROE | SRS | nees
R R ("D SEBL | SRSl | JERT | MEBL |maoor| MEGL | MEGl | dpal | eS| EEL | maosy) JERL
A cn 18.3 | 13.6 | 12.0 [ 12.2 [ 14.0 | 16.56 | 12.5 | 23.0 | 25.0 | 27.0 | 16.0 | 14.5
HEUE m 0.35 | 0.37 [ 0.35 [ 0.35 [ 0.28 | 0.48 | 0.34 | 0.46 | 0.63 | 0.75 | 0.49 [ 0.44 ] 0.75 | 0.28 | 0,44
Ko 18 18 18 18 18 17 18 18 17 18 18 18
pH 8,26 | 8.27 | 8.67 | 8.04 | 8.16 [8.37 |8.09|8.50 |85 |808)853]884]|2884]|8.04]| 8 36
DO mg/l | 12,92 (18,10 11.87] 9.93 | 9,94 [13.78] 9.32 | 9.58 [10.27]10.48[13.40[12,10]13.78.| 9.32 | 11.39
BOD mg/l | 2,60 | 4.55 | 4.87 | .46 | 3.57 | 4,78 | 2.98 | 2,29 [ 2.49 | 2.36 | 4.49 | 8.51 | 4.78 | 2,20 .| 3.45
CODy, mg/l | 5.93 | 7.83 | 8,37 19.85 | 8.24 | 812 | 783 | 7.41 | 7.97 | .39 | .26 | 7.73 ] 9.85 | 5.93 | 7.83
D CODy, ng/1 — — - — — — — — - - — — - — -
P+ CODy,, ne/t — - — — - - — — — — - — - - -
CODg, ng/) — — — — — — — — — — - — — - —
D - CODg, mg/ - - - - - - - - - - - - = - -
ss meg/l | 28,0 | 46,0 | 41,0 [ 39.2 | 34.0 | 15.0 | 21,5 | 11.2 | 11,6 | 16,7 | 18.2 | 24.6 | 46.0 | 11.2 | 25.6

KB ITE wes/t00nt | 3, 36+2| 4. 9B+ [ 7. 9B+ [ 7. OE+2 |4, YB+2| 2. 3E42|4. 06+2| 2. 3B42( 2. 3643 | 7. 9B+2| 1. B+3| 2. 8F 3| 4. 8E+3| 4. OR+1 | 8. UE42
FEOUERBIC | w00 | 1L B[ L3B4L| L6841 9. 4B+ | 1L OB+) [ 8. 2B+1 [ 1L 0B+2[ 2, TE41 |9, 4B+1| 4. 0B+2) 2. 2342) 1. 4B+ [ 4. 0B+2 | 1. OB41 | 9. [B41

BERMD mg/1 | 1,00 | 1.11 | 1.00]0.93]0.87|1.07|0.82 0.8 |0.6d]0.67]1.20)]1.23] 1.23 | 0.65 | 0.95
BU D mg/l | 0.083 0. 108]0.109 0. 106 |0.094 [0.080]0. 106 [0.107 [0.066]0.098 [0.086]0.099[0.109 |0.066 | 0.095
g (n) wil | - | " =T T -1 -1 1T -T-T-1T-T-=-—1T-1T-1=

FAAZIMBEGH (W0 | mg/l [ 0.01 | 0.13 [ 0.11 ] 0.03 | 0.02 | 0.02 | 0.03 | 0.02 | 0.00]0.02 | 0.02)0.02]0.13|0.00 ] 0.04
ERRBRR 0,0 | mg/1 0,004 0,003 |0.0000.002 |0, 003 |0.0020.004]0.007|0.002|0.007[0.012|0.010]0.012 | 0.000 ) 0.005
RIFABEER (50,9 | mg/1 ] 0,21 [0.24 10,03 | 0.01 10,01 | 0.000.02(0.23]004]0609)0.300.290.30]0.00] 0.12
SR (1N ng/l | 0.22 10.37 (014004 10,03 (002005 0.26[004]0.12]0.3370.32{0.37]0.02 | 0.16
TR () mg/l | 0.69 ] 0.87 10.75 0,94 | 0.89 | 1.06 | 0.81 | 0.63 | 0.70 | 0.6 | 0.95 | 0.98 | 1.06 | 0.61 | 0.82
WEETRERR0- o) | /) - - - -~ — - — — - = - - - - -
W (00 | my/l - - - - - - - - - - - -
PRIERER - [ ng/l - — - - - - — - - —
BRR () ng/l ] 0.91 ] 1,24 10.89 10,98 |0,92 | 1,08 |08 (08074078 )1.28]1.30]1.30])0.78 | 0.99
MRS (PO, -P) | me/) [0.010[0.015]0,000(0.022]0.0270.018]0.044|0.031]0.0140.024]0.017]0.042]0.044 | 0.000 | 0.022
WiRistiineo 200 | mg/l | 0.000 | 0.004 | 0.000 ) 0.003 | 0.005|0.008 | 0,020 )0.0280.0060.0130.007|0.002]0.028 | 0.0000.008
WAIERY > Q- TP) | mg/l — - — — - — — - — - - -
MTERY 0P -1 [ ng/l — — = —

10.3 16,2 1 9.1 | 13.0

.__
=1
1)
—
en
o
—
[
NS
—
—
=
—
“
o
—
R
<2
—

SR (D ne/ | R . LT 15,2 113.9 ] 131 ] 9.

A7 BB (T00) ng/1 3.9 7.9 8.9 7.5 6.2 6.2 h.7 6.2 .4 6.8 fi. b 8.9 3.9 6.4
B (10 ng/1 2001 | 19.4 | 21.3(20,8(20.9]18.2 1 1[7.9}121.9[20.1]19.5] 159 169] 2.9} 15.9]19.4
wRIATRSRE 0 - 00| ng/l — — — — — — — — — - — — — —
WAkt o0 | ne/l | — — - - - - - - — — — — — — —
VIR Mg (0 - Fo) wg/ — — — — — — — — — — — — — — —
AR 2D« Mn) mg/ 1 — —_ — — — — — — — — - - - — —
£ (Re) e/} — — — - — - - - — — - — — — —
I H (M) ng/1 — — — — — — — - — e — — — —

H ok Ji4 24,9 | 31,1 [ 84.4 | 415 | 36.6 | 19,9 | 33.8 | 16.1 | 13.9 | 22.5 | 19.2 [ 29.1 ] 41.5 | 13.9

AT (20T) S/m | 40,9 1 39.8 | 40.5 | 40.4 | 40.1 [ 37.6 | 40.8 | 44.8 | 44 713241 356 4 3.7

AW YN () g/l — — — | = — — — - — —

R FYAND ng/1 — — —_ — — —_ —_ — — — — — —
PHASFNA L g/ 1 62.7 | 67.9 | 65.3 | 56.7 | 56.9 | 61.0 | 65.8 | 62.6 | 77.5 | 54.4 | 50.0 | 52.8 | 77.6 | 50,0 | 61.0
p HO. 0 mg/l <€2.63 €253 (<2.53]2.00]1.80] 1,90 2.82]6.05 | 9.658 7.96 | 7.15 ] 2.82 | 9.58 [ 1.90 | 4.69 |
PHOTAAVE | ngl | — - = — - - = - = — = - .
B 50,2) | me/d — — — — — — —
Higet-r A > (€1) ng/1 50.8 [ 49,1 | 51.8 | 46.4 | 51.1 | 50.5 | 48.5 | 55.6 | 59.8 | 41.6 | 39.0 | 40.7 | 59.8 | 39.0 | 48.8
PR FN LY g/ — — — — — — — — - -

L HuYAam ug/1 — — — — - — — — — —
REUMNSI0) | wgl | — — = — — — — = - = — - — - —
fiaz)) ag/l | — — — — - - — — — - — — — — —
yomsih-a (Chi-) | g/t | 46,4 | 54.4 [102.6] 80.8 | 48.5 | 45.0 | 41.6 | 95.8 [ 31.9 | A1.6 [ 92.2 ) 92.3 1 102.6| 41.9 | 59.4
Jen7ig-b (Chi-b) g/l 1.5 0.8 0.0 7.5 6.3 0.7 | 0.7 1.4 0.4 0.7 0.9 0.5 1.6 0. 1.8
yumyef-¢ (Chl-c) g/t ] 1.4 8.3 | 14.1 17,3 ] &0 | 3.1 0.6 1.0 [ 0.3 0.6 [10.3 | A.h [17.3] 0.3 6.3
TaXTAFY /1 20,8 | 23.5 ] 30.0 | 33.8 [ 30.8 [ 13.9 | 6.8 2.1 4,7 [ 105 | 6.6 ] 18.4133.8 | 2.1 | 11.7
[i&A A S ERIE N ng/ | — — — — — — — — — - - — — — —
{flrﬁ% SHIOTEE AR Ot Sz L 0 R, 3. P-ON=(ON)—(D-ON) 6. P-TP=(TP)—(D-TP)
(LP-COD=(COD)~{D-CQD) 4 D-TN=(IN)+(D-ON) .TC=(IC)+(TOC)

2 1 N=(NH4-N)+ (NOZ-N) + (NOJ-N) 5.IN=(] N)+ (ON) . P-QC=(TOC)—(D-0C)




KEER U —AGI— (2o

HRRT44 A KA FE] FItE=, BRI A% 1 64E (20044F)

o BB | 1/6 | 2/6 | 372 | /23 | 5/13 | 6/16 | T/6 | 8/3 | 9/14 [ 10719 | 11/9 | 12/ | skl SRt SEIg i
2-MIB ng/1 | — — — - — — - — — = - - - — —
IFARY ng/ 1 — — — - — — — — — — — — - — -

WhnosEse | pg/l — — — — — . — = — — — — — — —

pomapatkeskit | me/l | — - — — — — — = = — _ _ = — =

7 uEy ki) me/l | — — — — — = — - — _ = — — — -
V7 uepomiyv kg | ne/l — — — — — — — - — = - . — ” _

7 neakdERbiE | me/l — — — — — — — — - — = — — — —

B8R (N _LIE mg/) | 1.00 | 111 | 1.00]0.93 | 0.87 | 1.07 | 0.82 ] 0.85 [ 0.65 ] 0.67 ] 1.20 | 1.23 | 1.23 | 0. 65 0. 95

BER N g ng/| — — — — —_ — — — — — — — _ — —

ABEER (IN) T8 ng/l 1 0.95 | 1.10]0.99]0.98]0.900.90.| 0.68 | 0.76 | 0.80 [ 0.64 | 1.16 | 1.17 | 1.17 | 0. 64 | 0.92

Y 2 (1P) ki mg/1 |0.083 0,108 ]0.109 0. 106 |0.084|0.080(0,106|0.107]0.066 0,080,086 ]|0.099]0.109 [ 0. 065 0. 095

wyramd |wg/l | - | = | - | =] =1 -] -] -] =T -1-~=T1T-=1T72= - | -
LY T mg/1 [0.083(0.106]0.109]0.112[0.098{0.114|0.118{0.116]0.112/0.098]0.072]0.096(0.118|0.072 | 0. 103
COD LM mg/} | 5.93 | 7,83 | 8.87 | 9.85 [ 8,24 | 812 | 7.83 | 7.41 [ 7.97 | 7.9 [ 7.26 | 7.73 | 9.85 | 5.93 | 7.83
CODYE we/l | — — - - | = 1= — - — - - | = - [ = —
CODFR g/ | - — —~ - - — — - - b -~ - - - —
KR KE T | - | - | = =] = =1 =1 -1 =1 =1 <7<
By} T — — - - - - - - - — - —
0.5m T = - - - - — - — — — — —
1. Om T — — — — — — — - — — — —
2.0m (e - -1 = =71 = - - _ R =
3.0m T — — — — — — — - — — — —
4. 0m T — - — -~ — — — — — — — =
5. 0m T — — — — — — — -~ — - — —
f.0m T - = — — — — — — — — — —
Jadii] T - — — - — - - — — — — -
*DO  kE | mg/l — — — - — - - — — - — —
Fi ng/1 — — — — - — — - — — — —
0. 5m w/l | - | - T -1 =T -1 -1T-1=-1=-1T-1-1T-=
t.0m ng/) - — — — — — — — - — - —
2. 0m ng/| — — - — — — - — — — — —
3.0m ng/| - - - - - - —~ = - —- — -
4. 0m g/ — — - — — - - — — — — -
5. 0m g/ | - — — — — — - — — - — —
6.0m - ng/1 — - — — - - - - - - - -
JEw g/ — - - - — — - - — — - —

JKAEBE kb | Lux = - - - -~ = - — - - - -
2 _ Lnx — — — - - — - — — - - —
0.5m Lux - - - - - - — — - — — -
{,9m i | = | -1 -1 -]1-1T-T=1-1-T-=-T-171-=
2. 0m Lux — — — - — — — — — — — —
3. 0m Lux - — - - - - - - - - — -
4.0m wy | - -1 -T-{-1T-1T-1-1T-T-1-1T>=
5. 0m Lux — - - — — - - — - - - -
6. 0m Lux — - — -~ - - - — — — = —
JEET Lux — — — - — — - - — — - —

ERmLORP | wv | — | — [ =T =1 -1 -1 -T-="T-T-1-1T=
{ii% + DOWDOFHz X5l #




KREAER (FD1-1)  — RN - RN -
T N Y A A T A D711 YLRE164F (20044F)
, $ L4 $ $ &

I Bl g ) 16 | azen | a6 | /28 | 3/2 | 3/06 | 4713 | 4723 | 5/13 | 5725 | 6/15 | 6725 | /6 | 1/20
Ko i 4 i i 2 i 4 4 W Wi I o o i
RIS 5 Wiy Losae [ 9:3n [ a:as T oot | 9:24 (10026 10:39 ] 9:37 [ utzno] 10:00 ] 9:95 | 9:20 | 9:55 | 10:09
Ak m_ | 3.78 | 3.78 | 3.65 | 3.76 | 3.66 [ 3.80 [ 3.82 [ 3.54 | 3.51 | 3.98 | 3.79 [ .73 | 3.62 | 3.77 |
Rk m_ | 0.50 | 0.50 | 0.50 [ 0.50 | 0.50 [ 0.50 | 0.50 | 0.50 | 0.50 | 0.50 [ 0.50 | 0.50 | 0.50 | 0.50 |
4 M C 55 | &7 L 46 [ | 72 Lz [ s [ 230 {atol 286 26,81 31,6 | 34.0
A& (@ 6.9 | 3.4 [ 5.2 ] 9.0 ] 7o [ 108 149 17,4 ] 204 [ 19.8] 23.0] 26.6 ] 25.7] 29.9
) WA | BORHNS | XD | QURRE | KN | BAENA | RGH | KReE | BRE | BRNE | RE Wik VEAE | AW

) st | ment | ROL | met | ggbnt] ment | ment | ment | ment | oment (Wit mest | ROU [wimaut
B em | 16.8 ] 12.3 12,6 7.8 [12.0] 85 | 6.5 | 15.4 | 6.5 [ 12.0 ] 1.0 12.6 | 1.4 | 1.4
SIS m | 0.38 | 0,31 | 0.34 | 0.27 [ 0.33 ] 0.25 [ 0.24 [ 0.37 | 0.30] 0.29 [ 0.38 | 0.31 | 0.32 | 0.24
kA 18 19 18 20 17 19 19 18 19 19 18 18 17 19

pll 7.67 | 7.67 | .78 | 7.74 | 7.81 ] 7.86 | 8.44 | 8.86 | 7.99 | 7.74 [ 7.92 | 8.26 [ 7.73 | 7.88
e me/l [ 10.65] — [11.89] — [10.48] — — [to.os]|10.37] — [roa7] — [ 7.8 —
BOD o/l | 168 ] — [ 1.8 — [ 1.18] - — [3.a7] 331 479 — Jass | -
CODy, me/] | 6.42 | 6.27 | 6.86 | 6.93 | 7.09 | 7.25 | 9.35 | 7.72 | 8.03 | .04 | 7.59 | 7.27 | 7.94 | .77
D * CODyy we/) | 3.82 | 4.0d | 4.77 | 4.19 | 3.52 | 4.39 | 4.560 | .28 | 4. 01 [ 3.88 | 4.70 | 4.26 | 4.93 | 4.80

P CODy, me/t | 2.60 | 2.23 | 2.09 74 | 3.57 | 2.86 | 4.84 | 3.44 | 3.12 [ 3.26 | 2.89 | 3.01 | 3.01 [ 1.97

CODe, ng/) — — — — — — —_ — — — — — — —_
D CODe, ng/1 — - — — — - — - - — —_ — — —_
5SS wa/l | 95.6 | 28.5 | 26.5 | 41.0 | 37.0 | 39.0 [ 91,0 | 26.5 | 42.0 | 33.5 | 25.5 [ 25.0 | 48.5 | 2L.5
x| |wsooe] 33pe2] — (o] — [4o0m2] - — l4a.era| ezl — Tase3] — [roemn| —
vekmsn | evaoat | 300840 — [ 2.0E+0] - 4 — —~ 4 [aoerol — Jaomko| — [4.08t0] -
BEAAY me/l | 1,24 | 1,09 | 109 | 121 ] 1.05 ] 0.96 [ 1,16 ] 0.94 [ 0.89 ]0.97 | .14 [ 0.75 | 0.8 | 0.91
i an) a7t 10,072 (0. 17 {o.tr7 o 124 (0. 120 1 6. 1871 0. 171 (0.09710,127]0.122 (0,104 | 0.09210,11910.128
R0 ) ng/| — — - — — - — |0.003] — — o007 — - —

TR R OIL-Y | og/l | 0.02 | 0.02 | 0.02 [ 0.02] 0,03 ] 0.0/ | 0.02]0.02] 0.03]005] 004 0.02]0.03 | 0.02

TR (0,9 | wg/l | 0,012 | 0.007 | 0,009 [ 0.007 [ 0.006 [ 0.008 [ 0.007 | 0.007 [ 0.009 | 0,021 [ 0.058 (0,015 (0,004 (0.005

im0, | me/1 | 0.65 | 0.51 | 0.46 | 0.60 | 0.41 | 0.30 [ 0.14 [ 0.08 | 0.06 | 0.09 | 0.27 [ 0.09 | 0.18 | 0.40

we/t | 0.68 | 0.54 | 0.49 | 0.63 ] 0.45 ] 0.32 [ 0,47 ] 0.1/ | 0.10] 0.6 0.837 | 0,13 | 0.21 | 0.43

: we/1 | 0.57 ] 0.54 | 0.61 | 0.58 | .0.61 | 0.63 ] 0.99 | 0.82 | 0.80 | 0.80 | 0.77 [ 0.62 | 0.62 | 0.49
FMTEn B A M| me/l | 0.30 | 0.32 [ 0.35 | 0.33 [ 0.31 ] 0.36 ] 0,32 | 0.31 | 0.28 | 0.36 | 0.36 | 0.33 | 0.36 | 0.35
M thEE s - o] e/l | 0.27 | 0.22 | 0.26 | 0.25 | 0:30 [ 0.27 | 0.67 | 0.51 | 0.52 | 0.44 | 0.41 ] 0.29 | 0.26 | 0.4
vttt Cn -1y | nesl | 0.98 | 0.86 | 0.84 | 0.96 | 0.76 | 0.68 | 0.49 | 0.42 | 0.38 | 0.52 | 0.73 | 0.46 [ 0.57 | 0.78
Eh 1y we/1 | 1.25 | 1.08 | 1.10 | £.2t | 1.06 | 0.95 | 1.6 ] 0.93 | 0.90 | 0.96 | 1.14 | 0.75 | 0.83 | 0.92
mimiEyyeo,-» | me/t [0.063] — [0.082[ - ]0.086| - — Jo.059]0.082] — o011 — Jo.106] -

A RE G 0,1 wg/l | 0,010 | 0.008 | 0.012 ] 0.010[ 0.013 ] 0.008 | 0.003 [ 0.003 | 0.008 | 0.005 | 0.006 | 0.002 [ 0.026 | 0.030

WRAERD > (-1 | me/) | 0.019 | 0.033) 0.025 | 0.030 | 0.037 ] 6.027 | 0.020 | 0.019 ] 0.025 | 0.030 | 0.026 | 0.013 | 0,040 | 0.054

KTy > (Cp- 1) | me/t | 0.053 | 0,084 | 0.0920.094 [0.092 [ 0.4100.151]0.078|0.102]0.092 | 0.078 | 0,079 | 0.079 | 0,071

SERIELAE 0 w/t | 1.8 — [ 139 - |43 - — | i3o 134 - [ 155 = 150 | —

1T RIBEGE (00 w1 511 551 6551 55| 5.7 ] 59| 86 | 5.1 | 497 49 ) 6.0 ] 59 | 6.1 | 8.5
(10 m/) | 17,9 — [19.4] — [2.0] — — o3l - [as5] — [ -

wmaEnRe- 0| ogt | 3.3 | 8.5 | 3.9 | .2 | 3.1 | 3.5 [ 4.9 [ 31 ] 31| 3.4 40 ] 33| 39| 37
et amer on| o/t | 1.8 | 2.0 | 1.6 | 2.3 | 2.6 | 2.4 | 3.7 | 20 | 1.8 | +.5 [ 2.0 [ 2.6 [ 2.2 | (.8 |

FERESL (D - Fo) w014 — Jo12] - Jo2]| — “ oo ] - o] — o] —

iRtECE s -y | ag/t | 0.0l - [on - loo]| - — o009 0.010] — o005] — Jo.0056] —
(Fe) we/l | .04 | — | Loo | — [nad]| — “loess | a2l — 16 — L -
<2 O wg/l | 0,03 | — (o004 | — [0.05] — — J0.055]0.077] — Jo.059] — [0.053] -
W e | a3 - (7] - [3as8| — — l26.3]382] — [2.7] — |3n1] —

U (201) wm | 27,2 | — [ 286 — | 29.5] - — |7 29.7] — |2 — [30.6][] —

T I (Ca) we/l | 19.1 — 2.6 - [20.8] — — e W] - 43 - 12| -~

uwronte | mt [ 7192 - [.06] — | 8271 | — — |67 | 757 - [n3a]| — |80 —

pHLSZAAVE | w1 | 411 — |30 - |85 — — | s2.0[53.6] — [53.9] — |538] —
p 119, 0ty m/l | 6,73 ] — |41 — |59 | ~— — |s60[56.56] — ]9804 — | 7.92] -

p LI 07U E ng/| — - — — — — — - — — _ - — _

R A~ 00,7 | e/l | 34.3 | — [ 35.8] — | 86.8| — 3.8 881 | — [364] — |31.0] -

HkaA> @) | me/t | 303 — [ 36.6] — |39.56| — — 1'35.5 | 36.1 | — [3834] — 1362 —

F 1A G w/l | 25,3 — [23.2] — |21 | - — g9 e | — 2| - [32| -
NI AR m/l | 5.32 [ — [ 4.91 - 499 ] - ~ [9a8]53 | — [505] — |60 —

woATesioy | e/t [ 308 ] — (227] — |3.8) - — T3] s0t] — las7] — [ 285] —
e m/l | 1901 — 1.4 — |16.53] ~— ez 013 ~ [18.00] — [ H.78] —

Jo07th-a €nt-a) | e/t | 33.9 | 10.4 | 31.1 | 33,5 | 30.5 | 70.3 [ 106.1 | 106.8( 83.3 | 62.1 | 26.8 | 60.7 | 42.0 | 1.5

oot @iy | w1 | 2.7 1 0.6 1 1.9 [ 1.0 5.0 | 69 (n,8]t6] 827|540 06l 7t]451 063

Tw7ihe i | nes1 | 6.4 | 0.4 | 6.4 | 0.2 | 3.8 | 9.5 [ 9.9 | 10.4 | 6.3 | 6.5 | 4.1 | 16,4 ] 6.6 | 1.0

Sed747> | aa/1 ] 6.1 | 3.8 | 3.6 | 4.8 | 3.6 | 12.8 [ 150 5.9 | 2. |12.06| 1.2 | 2,91 10.5] 0.3

ver A oyt | e/t 10,01 — o002 — (o002 [ — — 1 0.02 [ 0.0 - (o0l | = Too01 | —
2-MI1B “ng/l 0 0 0 i 0 0 | 3 [} 3 0 [ 0 0
YARI Y ng/\ | | 0 0 0 0 0 0 1 2 0 ] 0 0

P P g/ | — — - ] - - = - - - - — = el T

i #5 TEIDE TR & D Red i, 3. P-ON=(ON)~(D-ON) 6 P-TP=(TP)—{D-TP)

I.P-COD=(COD)—(D-COD)

2. 1 N=(NH4-N) + (NO2-N) + (NO3-N)

4. D-TN=(IN)+(D-ON)

5 TN=(IN)+(ON)

TL.TC=(1C)+(TOC)
§. P-0C=(TOC)~(1-0C)




KEER (ZD-D

— W + eI -

L [hmap ]  Ape | PN T & | f@eam | P B4E (2004452)
a4 ¢ 4 ¢ $ $ ad
i il Wiy | 16 | 1721 2/6 | 2/26 | 3/2 | 3/16 | 4/13 | 4/23 | 5/13 | 5/25 | 6/15 | 6/25 | /6 | 1/20
FERATN) ik ng/ | 120 [ 1,09 | 1.09 ] 1.21 1,056 [ 0,96 | .16 | 0.94 | 0.89 [ 6.97 [ 114 ] 0.75 | 0.84 | 0.01
N AN R mg/1 | 1.23 — 1. 10 - .07 — — 0.91 | 0.86 — 0. 85 — 0.87 —
RN PR mg/ | 1.19 — 1.09 — 1.02 — ~ 0.91 | 0.88 — 0.8 — 0.94 —
1 () LR me/l [ 0.072 0. 017 [ 0. 117 [0.124 [ 0.129]0.037]0.171]0.087]0.127[0.122]0.164[0.092[0.119]0.125
21 2 (1) ekt mg/l | 0.066 - 0.103 - 0,131 - - 0.09910.133 — 0,094 = 10.123 =
U M mg/1 | 0,066 - 0. 103 - 0. 136 — - 0.103{0.131 — 0.04 — 0.123 —
COon ki mg/l | 6.42 | 6.27 [ 6.86 | 6.93 | 7.09 | 7.26 [ 9.35 | 7.72 [ 8.03 | 7.4 | .59 | .27 | .04 | 6.77
COMki me/l ] 6,12 - 6. 90 - 7.0l - — 7.13 | 7.26 — 6. 652 —~ 8. 17 —
CODTFR mg/l | 5.60 — 7.21 — 6. 34 — — .17 | 7.42 — 7.38 — 7.48 —
Kild k|l T - - — - - — - - - - — — — —
£ii| C 7.0 3.3 5.2 9.1 7.9 11.1 14.9 [ 174 [ 19.6 ] 20,7 ) 23.1 | 26.6 | 25.8 | 31.1
0.5m| C 6.9 3.4 5.2 9.0 1.9 10.3 | 14.9 | (7.4 ] 19.6 | 19.8 | 23.0 | 26.6 | 25.7 | 29.9
.om[ T 6.7 3.4 5.2 9.0 7.8 9.9 | 14.9 | 17.4 ] 19.6 | 18.5 | 22.8 | 26.6 [ 25.7 | 29.2
2.0m| C 6.6 3.4 5.2 9.0 7.1 9.5 1.9 | 17.4 ] 19.6 | 18.0 [ 22,6 | 26.6 | 25.6 [ 28.9
3.0m| C 6.6 3.4 5.2 9,0 1.1 9.5 14.9 [ 17.4 | 19.7 ] 18.0 | 22.5 | 26.5 | 25.6 | 28.6
4. 0m DC - - - —_ — — - — - _ _ — —
50m| C - - - - - - — = - = — - — —
6.0m| T — — — - - — — — - - - - - -
JEEi|  C 6.6 3.4 5.2 9,0 .1 9.4 14.8 | 17.4 | 19.7 | 18.0 | 22.3 [ 26.3 | 25.6 | 28.4
*DO  JKEk| me/l — — - — - = - = - - — -
Liti| mg/1 11. 12.5 | 10.6 | 10.9 | 1.1 . 1.0 9.6 9.4 9.6 7.8 7.9 8. |
0.5m| mg/l | 1L 12,5 [ 10.6 [ 10.9 ] 11,2 | (1.8 [ 11,0 9.6 9.4 10 9.6 1.8 1.9 1.1
Lom| mg/t | 11 12.5 | 10.6 | 10.8 [ 1.1 | 11.6 | 11.0 9.6 9.5 10. 8.9 7.8 1.1 7.2
2.0m| mg/l | 11 f2.4 | 10.4 | 10.8 | 10.9 | 11.5 9.5 9.5 10. 8.6 1.1 7.5 6.8
3.0m| mg/! 12.5 | 10.4 | 11.1 10.9 | 11.5 9.4 9.6 10. 1 8.5 7.5 1.5 5.1
4.0m| wmg/l — — — - — — — — — - — - -
5.0m| mg/l — — — - - - — — - - - - - -
6.0m| mg/l — — — - - - - - - - - — - —
Jemi| mg/t | 11| 12,4 | 10.6 [ 11,4 ] 10.6 | 11.5 [ 10.9 9.1 9.6 9.8 8.4 6.2 7.4 5.2
Aapliis Ak L] Lux | 54600 | 14510 | 74300 [ 57200 | 23440 | 68800 | 21240 | 23830 | 63400 [115400( 91300 | 15620 | 32500 | 84900
2| Lux | 26700 | 10500 | 39900 | 32000 | 14580 | 43200 | 11710 | 10710 | 26700 | 82800 | 58400 | 7710 | 19010 | 62100
0.5m| Lux 5600 | 1633 | 5470 | 2560 | 1333 [ 5690 282 1995 | 3870 | 12890 | 8850 | 1550 | 1368 | 6110
1.0m| Lux 672 156 705 111 76 428 g 231 682 921 872 129 140 454
2.0m| Lux 18 ] 5 0 0 3 0 2 23 8 10 7 | 3
3.0m| Lux | ] 0 — - 0 - 0 | 0 0 0 0 1]
4.0m| Lux — - - - — — - - - - - - - —
5.0m LU,\’ - - - - - - - "' — — — - — —
6. 0m LU.\' - - - — — — _ - — — — '" — —
Jsii|  Lux - - - - - - — - - - — - - -
JERIGLOR P nV 172 210 180 163 140 157 153 139 185 173 198 160 106 138
e t DOWDOFHZ LB MRS




KEELR (201-2)

~ R - PR -

HiliAr 4 Bmap ] skt [ PURIT [ wish [ Wram | SERE 1645 (2004 4E)
¢ a4 $ $ '
J5 H Wi | 8/3 | 817 | 9/14 | 9727 | 10719 | £0/26 | 11/9 | 11716 | 12/9 | 12721 | gk diti| o it | S ¥
P g it at i 4 /N L} i EL '
RN % Wiay | 8:34 | 10:04 | 9:02 | 9:53 | 9:20 | 9:34 | 9:39 [ 9:47 | 9:10 | 10:48
K m 3.38 | 3.79 [ 3.64 | 3.86 | 3.72 | 3.88 | 3.79 | 3.79 [ 4.55 [ 3.96
ARk m 0.50 | 0.56 | 0.50 [ 0.50 | 0.50 | 0.50 | 0.50 | 0.50 [ 0.50 | 0.50
(R C 31,6 | 28.2 | 27.5 | 20.8 | 17.8 | 18.0 | 18.6 [ 18.0 | 1.2 | 14.8
Al T 28,3 | 27.6 | 25.5 | 23.1 17.3 1 16.9 [ 17.0 | 15.3 | 10.7 9.8 29.9 3.4 17.2
gk WS | MR | RO | BUAGE | SN | NS | AN | A | BEGE | K
B4 (&0 HEVL Oy BeUU | OdENL | meBy ML [mAaaRsy BENE | MESL | SRR
i cin 10,1 [ 18.5 | 15.5 | 16.0 | 19.4 | 16.4 | 24.5 | 18.0 | 1d.4 | 13.5
I m 0.27 | 0.37 | 0.64 | 0.58 [ 0.52 | 0.45 [ 0.49 [ 0.39 | 0.40 [ 0.40 ] 0.64 | 0.24 | 0.37
K4 18 18 18 17 16 17 17 17 17 18
pli 7.45 | 8.01 | 8.10 | 8.36 | 7.54 | 7.33 | 7.63 | 8.01 [ 7.70 | 8.07 | 8.86 | 7.33 | 7.90
Do wg/l | .15 — | 1L.80] — 8.7 — [ 10.54 = [10.52] — |11.80| 7.15]9.99
BOD ng/) | .85 — 2.21 - 1.10 — | 2.04 ~ 2.93 - 4.79 | 110 | 2.42
CODy, n/| 7.42 | 6.58 | 8.15 | 7.58 | 6.27 | 6.08 | 5.81 [ 5.75 | 4.72 | 5.82 | 9.35 | 4.72 ] 6.95
D+ CODya wg/l | 5.68 | 4.94. 6.09 | 5.23 | 4.97 [ 3,75 | 3.54 | 3.86 | 3.38 | 3.54 | 6.09 | 3.38 | 4.42
‘P CODy, me/t | 174 | 1.64 [ 2,06 | 2.35 | 1.30 ) 2.33 | 2.27 | 1.89 | 1.34 [ 2.28 | 4.84 [ 1.30 | 2.53
COD., g/ — — - - | - — — — ~ — — — —
D-CODg, g/ — — — - — — — — - — — - —
58 mg/l | 46.0 | 19.0 [ 27.0 | 24.0 | 19.0 | 23.5 | 19.5 | 20.5 [ 25.0 [ 23.5 | 91.0 [ 19.0 | 31.4
PN 344 ¥rN/300ad | 1, 3643 — 4, 96+2 — 1. TE+] — 1. 90+2 — 2. 3E+3 — 3.3E43 | 1. TE42 1. 0E+3
P N34 pi/100al | 1. 1B+1 — 8. 011 7. 0E+0 — 6. 0E+0 = 5. 0E40 — 8. 0E+I <1 I, 0G+]
RN mg/l | 100 | 107 [ 0.81 [ 0.66 | 110 | 1.58 | 1.79 | 1.61 [ 1.63 | 1.56 ] 1.79 | .0.66 | 1.13
20> me/l | 0.127(0.100]0.103 ] 0.111]0.085] 0.101 ] 0.077 083 | 0.083 | 0.076]0.171 ] 0.072 0,108
TN () ng/l ] 0.007 | — — - |[0.017] - — — 10.007] — 0.017]0.003]0.008
TAEOMBRA MY [ we/t | 0.06 | 0.07 | 0.02 | 0.00 | 0.04 [ 0.06 | 0.01 | 0.00 | 0.02 | 0.02 | 0.07 [ 0.00 | 0.03
WREEAR N0, | wg/) | 0.006 | 0.014]0.002 | 0.002 ) 0.020 | 0.045 [ 0,030 | 0.022 | 0.016 | 0.013]0.058 | 0.002 | 0.014
BB 00,9 | mg/) | 0.53 | 0.34 | 0.00 | 0.01 | 0.66 [ 1.00 | 1.46 | 1.20 [ .14 ] 1.00 ] 1.46 | 0.00 | 0.48
Hiamak W mg/} | 0.60 | 0.42 ] 0.02 | 0.00 | 0.72 | 1.41 ] 1.50 | 1,23 | 1.18 | 1.03 ] 1.50 | 0.01 | 0.53
ATHRIBASH (ON) mg/l | 0,44 |- 0.65 ) 0.78 | 0,65 ) 0.40 | 0.49 | 0.29 | 0.39 | 0.45 | 0.53 | 6.99 | 0.29 | 0.61
nsEsE R a0 0| g/l | 0,34 | 0.34 | 0,52 | 0.41 ) 0.39 | 0.30 [ 0.25 | 0.30 | 0.26 | 0.29 | 0.52 | 0.256 | 0.34
W fssece o] me/t | 0,10 | 0.30 | 0.26 | 0.24 | 0.00 | 0.19 ] 0.04 | 0.09 [ 0.19 | 0.24 | 0.67 [ 0.001 | 0,27
Vitibkiaass e ™o | me/l | 0.94 | 0,76 [ 0.54 | 0.42 | 110 [ 141 ) 1,75 ] 163 | 44 | 132 ] 1.75 | 0.38 | 0.86
RN T ng/1 1.04 | 1.07 ] 0.80 | 0.66 | 1.12 ] 1.60 | 1.79 | 1.62 | 1.63 | i.56 | 1.79 | 0.66 | 1.13
AN 0, | we/l [ 00113 — | 0.051 — 0064 — JO.044| — [0.066[ — ]0.113]0.0440.074
stttz o-men| wg/) 0,048 | 0.040 | 0.008 | 0.018 ] 0,025 ] 0.025 | 0.005 [ 0.005 | 0.0056 | 0.003 | 0,048 | 0.002 [ 0.014
Wiktttizy >0+ | me/1 | 0.050 [0.068 [ 0.019 | 0.042 ) 0.033 [ 0.046 ] 0.021 [ 0.019]0.016] 0.009 ] 0.068 [ 0.009 | 0.030
ety e | we/t 10.077]0.032(0.084 [ 0.069 | 0.052 | 0,055 0.056 | 0,064 | 0,067 [ 0.067 ] 0,151 (0.032 | 0.078
FERESA(IO w/t | 149 ] — | 1331 — |13 — [39] — 1ol — 15 ]12.8]13.9)
{7 IIRDEN (Tor) ng/| 5.7 | 5.4 6.3 5.8 5.1 58 | 4.5 5.1 4.2 5.2 8.6 4,1 5.6
25U C10) mg/t | 20.6 - 19.6 — 18.2 — 18.4 - 17.1 = 21,5 | 171 [ 19.3
HERREE(TIRELGE M - 00 | me/) 4.3 3.5 4.9 4.5 4.0 | 4.5 2.8 3.4 3.0 3.3 4.9 2.8 3.1
B HETIRBICECP - 00| og/l 1.4 1.9 4 1.3 1.1 1.3 1.7 1.7 1.2 .9 3.7 [ 11 1.9 ]
FAESK (O - Fe) ng/l | 0.17 - 0.09 = 0.05 - 0.18 — 0.0 | — 0.26 | 0.04 ] 0.42
wippter -0 | me/ 0004 — {0,003 — 0005 — |0,003] — 10.004| — 0.01 | 0.00 | 0.01
$ (ko) ng/t | 1,40 - 0.32 — 0.61 - 0.56 — 1.18 - 1.54 | 0.32 [ 1.03
< >N O we/l 1 0.062] — [0.030] — 10,033 — |0.034] — 10043 -— 0.08 | 0.03 | 0.05
wo it} 38.2 — 18.3 - 16.9 - 17.9 - 26.2 - 38.2 | 16.9 | 27.2
S (20C) ws/n | 27.6 - 29.9 = 25.3 — 18.6 — 22.2 = 30.6 [ (8.6 | 27,2
) we/l | 19.2 - 19.% — 19. 6 - 14.9 — 15.4 — 24.7 | 14.83 [ 18,5
U FL AN my/l | 8.08 - 7.13 - 6.49 — 4,20 = 6.00 = 8,27 | 4,20 | .1
P ST NI I ng/l | 54.9 - 62.3 — 17.9 - 18.3 — 48.3 — 62.3 | 41.1 | 51.9
p S, O mg/l | 9.92 - 7.06 - 8.42 - 7.83 — 6. 82 — 9,92 [ 4.7 | .13
pUSOTRANE | o/ - — — - - — - — - - - — -
it A 604% ) | me/l | 37.3 -~ 34.6 — 30. 1 — 24.2 - 27,9 - 38.1 | 24.2 | M.
Hifkgr 24> (1) ng/| 37.3 — 44. 6 — 29.9 - 15.9 — 21.9 — 44,6 | 16.9 | 32.9
1)1 B (N wg/l | 32.5 — 34.9 — 23.2 - 1.5 — 17.5 - 34.9 | 115 | 26.1
YIRS ng/1 | 6.19 - 6.27 = 4. 82 — 3.80 — 4,36 - 9.48 | 3.80 | 5.55
#BoUNT N0, | we/t | 30,2 — 16. 06 - 13.1 — 22,2 - 24.8 = 34.8 | 13.1 [ 24,7
Lt e/l | 17,71 — 3.41 - 6.04 - 1282 — [i042] -~ 19.41 | 3.41 [12.92
g -0 | pa/ | 20,3 | t5.5 | 88.4 | 48.3 [ 19.3 [ 9.8 | 35.4 [ 38.7 | 74.1 | 51.6 | 106.8| 9.8 | 46.4
mnzph-b (ch-w) | ng/1 | 4.3 1.8 9.4 3.0 1.9 2.0 3.0 2.3 7.2 8.9 | 1.8 ] 6.0 4.4
pmyp-e (Chi-0) | pg/) | 4.0 2.6 | 30.1 ) 18.6 | 7.3 1.4 7.4 4.6 | 27,0 | 1.4 ] 30.1 | 0.2 8.4
Tad T ATy pg/1 | 174 | 8.5 | 16.8 [ 2.3 5.5 3.8 8.0 83 | 170 | 13,4 2.9 [ 6.3 9.1
5 A Y | me/) ] 0,02 — 0.02 - 0.02 — 0,02 — 0.0! — 0,02 | 0.01 | 0.02
2-MIB ng/| 24 13 4 2 0 0 0 0 3 9 24 0 3
IARAIY ng/| | 0 10 0 1 2 1 0 5 3 10 0 1
[ ma/| — — — — — — — — — — — — —
[ SEIOHITTRAGL ORI & DR, 3. P-ON={ON) - (D-ON)
1LP-COD=(COD)-(D-COD) AD-TN=(1N) +(D-ON)
2.1 N=(N14-N) + (NOZ-N) + (NO3-N) 5 TN=(1N)+(ON)




KUER (F02-2) - TS +

FEAINE —

AR T 2 01 T 71 7 A 7 | JEpE1 64 (20044F)
¢ & $ ¢ ¢ .
I Bl | WAL | 83| 8/17 | 904 | 9727 | 10719 | 10726 | 1179 | 11/16 | 12/9 SRR | deoMitt ) S i
LALLM Lk g/l L Lob Doz et lo66 [ Lt s8] 19l t6r | (.63 Lo [oes ] 113
RN PR me/t [ 098] - (088 ] — 111 - L] - .67 1.77 | 0.85 | 1.1l
BERAY FH we/l | 0096 — o099 — 15| = [ 11| — [ 169 1,77 [ 0.84 | 1,12
B > an) Lk me/1 | 0,127 [0.100 ] 0.703 [ 0. 111 ] 0.085 [ 0.101]0.077] 0.083] 0.083 0.171 [ 0.072 ] 0. 108
18U > (A i mg/l 0927 — Jo.1e5] — Je.00] — Jo.085] — J0.102 0.133 | 0.066]0.106
@ > () K h1 weg/l J0.127| — o3| — [oo0s] — |o0.089] — [0.09 0.136 [ 0.066 | 0. 107
COD.Ih we/l | 7.42 | 6.58 ] 8.45 [ 7.58 | 6.27 [ 6.08 | 5.81 [ 5.75 | 4.72 9.35 | 4.72 [ 6.95
CODH we/) | 756 | - | 819 ] — 1592] — | 48] — |69 8.19 | 4.81 ] 6.92
CODTFH4 mg/1 | 7,01 — 8. 35 — 6. 61 — 5.07 — 6. 28 8.35 | 6,07 [ 6.83
AL AKRE T — — — - — - -~ — —
Ll C legsl 250966 23.¢ ] 17.3] 16,9 17.6 [16.3 | 10.7 \
o.5m| C [ 283 2.6 ] 25.5 | 23. 0 [ 1.3 ] 16.0 [ (7.0 | 15.83 | 10.7
lLom| C | 282 27.6 [ 25.4 ] 23.1 [ 17.3 [ 16.9 | 16.8 | 152 | 10.7
2.0m| C | 281 | 216 25.3 [ 230 [ 1.3 16.9 [ 16.7 [ 15.1 [ 10.7
3.0m| C | 281 | 215 2.3 | 0 [ s t6.9 [ 167 | 151 ] 10.7
4.0m{ C — — - — — — -~ — —
5.0m| C - — — — — — - - —
ﬁ.OIﬂ (C — — - - _ - —_ — —
weiti] ¢ | 281 | 275 [ 25,3 23.0 | 17.3 [ 16,9 | 16.7 | 16.1 | 10.7
*DO  AL| mg/l - - - - — - - — —
| mg/1 | 7.0 | 1.0 [11.6] 6.4 | 89 | 85 | 10.6 | 88 | 10,9
0.6m| mg/t | 6.9 | 7.1 [ 1.6 ] 6.4 | 89 | 85 | 10.3] 88 | 10.8
l.om| me/1 | 6.9 | 7.0 [ to.7 [ 6.4 [ 8.9 | 85 [ 10.1 ] 87 [ 10.8
9.0m| mg/1 | 6.9 | 7.0 | 10.5 [ 6.4 | 8.9 | 85 [10.0 ] 84 | 10
3.0m| meg/1 | 6.9 | 6.9 [ 10.5] 6.3 | 8.8 [ 85 | 9.9 | 8.2
1.0m| mg/1 - - - - - - — -
5. 0m mg/l — — - — — — - — -
6.0m| mg/l - - - — = - - - —
icimi| mg/1 | 6.8 | 6.8 [ 10.4] 6.3 | 87 | 85 | 9.9 | 80 | 10.5
AP K L| Lux | 68100 | 20910 | 58500 | 7388 [ 8550 | 12920 | 78900 | 39300 | 11520
Fini| Lux | 56100 | 15070 | 43700 | 4821 | 4560 [ 8920 | 38800 | 28300 | 7250
0.5m| Lux | 3070 | 2710 | 9780 [ 652 | 880 [ 1597 | 10810 4570 | 559
1.0m| Lux 75 523 | 993 | 102 | 258 | 170 | 2032 [ 648 | 143
2,0m| Lux 1 31 62 3 13 1 101 19 5
3.0m| Lux 0 0 3 1] | 0 [} | 2
4,0m| Lux - - - — — - - - -
5.0m| Lux - - - - - - - - -
G, 0m| Lux - - - - - - - - =
KR Lux - = - - = — - - -
Feifgii LOR P ' 196 | 188 | 142 | 207 | J9r | 183 ] 131 | 220 | 243

+ DOIEDOFHZ LB MR




REIER (EDL-1)

— JEMME -

TEINE -

it finate ] &Y T I T 2 el | SENET641E (2004 4)
€ $ & $ $ $ $
i) El Mgy | 176 | 1/21 | 8/6 | 2726 | 872 | 3/16 | 4/13 | 4/23 | 5/13°| 5/25°| 67145 | 6/25 | /6 | 7720
KB I i Wi i i I ] i iy ' I il 48 '}
IRAKNEA MEge | 1123 | 10:47 | 12:00 [ 10:37 ] 10:06 ] 11:37] 12:20 ve:20 | 1405 [ 11:20 ] 1tz00] 1020 vi:50 | 1125
ki m 4.10 | 3.83 |-3.65 [ 3.63 | 3.99 [ 3.72 | 3.90 | 3.45 | 4.04 | 3.98 [ 4.01 | 3.77 | 3.85 | 3.7¢
PSR m 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0.50 | 0,50 | 0.50 | 0.50 | 0.50 | 0.50 [ 0.50 | 0.50
Wi T 8.1 1.6 7.0 | 13.2] 8.6 | 13.5 | 13.0 [ 15.0 | 22.1 | 23.1 | 29,9 [ 24.0 | 29,1 | 30.8
A T 6.8 3.6 5.8 9.2 8.4 | 113 | 15.2 | 185 [ 20.8 [ 21,1 ] 25.1 | 27.2 | 26.8 | 31.1
2 PG | s | xem | R | xie | deren| s | nes | ses | ot | e | nes | sy | aoces
B () Rest | byt | ome | omes [apbntl osegt Uoept | oment | oment |odmnt Uowes | omen Uomon Temon)
B o 30.3 ] 21.5 ] 13.4 6.0 11.6 | 11.5 8.5 1.4 1.6 12.4 [ 20,0 ] 13.0 ] 1.6 | 12.2
Bk m 0.60 [ 0.53 | 0.35 | 0.24 | 0.36 | 0.27 ] 0.35 | 0.32 ] 0.33 [ 0.29 | 0.66 | 0.32] 0.32] 0.27
K 19 19 18 19 11 18 19 19 18 19 19 18 18 B
pll 7.60 | 7.98 | 7.87 | 7.78 | 7.83 [ 8.05 | 8.98 | 8.63 | 8.60 | 8.73 | 8.63 | 8.57 | 8.06 | 7.81
Do v/l | 10,62 - 12.62 — 11.23 — — 10.10] 11.69 — 14. 64 — 9.10 —
BOD ng/| 2,76 - 4,12 — 4,30 - - 5.14 | 7.16 — 4, 38 - 5. 46 -
CODy, mg/l | 5.04 | 6.44 | 8.04 | 9.565 [ 9.65 [ 8.85 | 10,50 9.51 [ 13.43[ 9.06 | 10.45| 8.18 [ 10.92] 7.95
D CODy, ng/ 1 3.01 03,63 | 4.14 | 4.25 | 5,20 | 4.47 | 4.40 | 4,49 ] 4,72 | 4.04 | 5.63 | 4.54 [ 4.57 | 5.64
P CODy, ng/1 | 2.03 | 2.81 | 3.90 | 5.30 | 4,45 [ 4.38 | 6.10 | 5.02 | 8.71 [ 5,02 [ 4.82 | 3.64 [ 6.35 | 2.31
CODe, /1 — — — — — - - — — — — — — —
D+ CODe, ng/| — = — ~ — - - - - — - - — -
Ss mg/l | 12,0 | 15.0 | 22.5 [ 62,5 | 44.5 | 34.0 | 66,0 | 43.5 | 82.0 | 33.5 [ 20.0 | 29.5 [ 39.5 | 29.5
PN aeN/10el| 1, 3E+3 — 4, 9E+2 — 1, 36+3 — — 3. 3043 | 1. 043 — 3. 3E+2 — 1. 3643 —
WAL TEABSISAERC | #d/to0ml | 6, OLH0 — 2, 3E+] — 3. 0640 - - 2.0640( <l - 8. 0E40 — 2. 0E10 —
{BRB(TN) g/l | 2,63 | 155 | 2.03 | LA | t42f foi1 ) 195 | 1,65 | .44 [ 0.99 | 1.31 | 0.83 | 1.38] .28
8> mg/1 | 0.072(0.097]0.104]0.198[0.205]0.220(0.201)0.168]0.297[0.159]0.135]0.122[0.169]0,166
lllim(‘/n) ng/l — — = — — — — — — - — — —
ug/| 0.00 | 0.02 [ 0.02] 0.02 [ 0.01 [ 0.02] 0.001]0.00] 0.04]0.02]0.02] 0,03]0.05| 0.09
; ng/1 | 4.020[0.011]0.018]0,006(0.009]0.007]0.015)0.01%]0.010{0,023]0.034]0.002(0.017]0.,025
R %.",%.(\m N | me/t ] 206 [ 0,95 | 1.26 ] 0.47 | 0.55 [ 0.32 ) 0.72 [ 0.55 | 0.06 | 0.09 [ 0.27 [ 0.09 | 0.05 | 0.35
B O ng/l | 2.18 ] 0,98 | 1.29 | 0.50 [ 0.87 ] 0.35 | 0.75 [ 0.57 | 0.11 [ 0.13 ] 0.82 [ 0.12 ] 0,12 | 0.47
{RIBYH (09 ng/1 | 0.44 | 0.56 | 0,75 | 0.83 | 0.84 [ 0.76 | 1.21 | 1.09 | 1.32 [ 0.84 | 0.98 | 0.69 | 1.28 | 0.79
dptt a0 | m/t | 0.28 1 0,29 ] 0,39 0.35 ] 0,40 ] 0.35 ] 0.36 | 0.38 ) 0.29 | 0.30 ] 0.53 ] 0.36 | 0.39 | 0.41
it cr con| oe/l | 0016 ] 0,27 | 0.36 | 0.48 [ 0.44 | 0.41 ] 685 | 0.71 | 1.03 | 0.54 | 0.45 | 0.33 ] 0.89 | 0.38
Wittty | e/l | 2,046 ) 1,27 | 1.68 | 0.85 | 0.97 [ 0.70 | 1.11 | 0.95 ] 0.40 | 0.43 [ 0.85 | 0.48 | 0.51 [ 0.88
Bk O me/l | 2.62 | 4.54 | 2,04 [ 1,33 ) LAl [ 1 11 ] 1,96 ) 1.66 | 1.43 ] 0.97 [ 1.30 | 0.81 [ 1.40 [ 1.26
AR Pe,-1 | we/l [0.037] —~ [ 0L053] — [0.070] — — [0.085] 0,174 — [0.051 — |0.093] -—
shensisy om0 o/l ] 0,006 0.002(0.007]0.0106]0.010] 0,008 0.008 | 0.005] 0.003]0.002| 0.008] 0.003]0.010) 0.030
iRtk ™ | wg/t [ 0.019]0.020(0.025(0,032] 0.034(0,036] 0,0§0] 0.018] 0.024 ] 0.025( 0.040 | 0.029 | 0.035 [ 0. 069
Wby > Cp ety | mg/t 0.05310.077] 0,089 (0,166 0.171[0.184]0.191]0.150]0.273[0.134(0.095]0.093 0,134 [ 0.097
FURIBLE (10 mg/t | 4.0 - 13.3 - 13.9 — — 12.8 [ 16.3 — 4.2 — 14,2 -
{1 B (T00) g/ | 4.8 5.6 6.4 1.1 7.8 7.3 9.0 6.1 5.2 5.2 .3 6.6 8.5 6.1
e (10 ng/l | 18.8 - 19.7 — 21.17 — - 18.9 | 21.5 - 22,5 - 22,1 —
BRI ISR 0 - 00 | 0g/) 2.7 3.4 3.7 3.5 4.0 3.6 4.3 2.9 3.1 3.1 4.4 3.6 .8 | 4.4
st st ee oo o/l 201 2.2 2.7 4.2 3.8 3.7 4.1 3.2 2.1 1.5 3.9 3.0 4.7 1.7
AL D - Fo) og/t | 0. 10 — 0. 10 - 0.13 — - 0.04 | 0.10 — 0.1 — 0.04 -
g -9 | ag/t | 0,003 — 0.0l - 0.01 - — | 0.013[0.01t - 0,004 = 10.006] —
8% (Fe) ng/t | 0.33 - 0.53 — 1.38 - - 1.01 [ 2.27 - 0.55 — 1. 14 -
> > dn) wg/l | 0.02 — 0,05 - 0.09 - — | 0.096]0.135| — [0.050|] — [0.095( ~—
W i3 11.9 — 20. 7 — [.33.% — — 37.9 | 61.2 - 22.1 - 11.2 -
R 20°0) uS/n | 21.6 - 23.5 — 25.0 - — 23.2 | 24.9 — 23.1 = 26,0 -
N9 K () ng/1 | 15.9 — 17.0 — 14. 2 - — 13.1 ] 23.6 — 19.6 = 17.0 =
ECES IR we/l | 6,19 = 5.21 - 5.43 -~ — 3.34 | 6.23 - 6.28 - 6.51 -
pl sz | we/l [ 4.6 — [ 465 [ — | 0LLO| - — | 46.2 [ 46.2 | — T 49.1 - 46,4 -
p H9. b wg/l | 5.94 — 2.97 — 4. 96 — ~ 4.40 | 4.76 — 3.29 - 7.72 -
p L 07D E me/| — - — - - - — — — — — — — —
g A s0,2) | g/l | 21,9 — 3.4 — 33.6 - - 31.0 | 33.1 — 28.8 — 30,9 —
Hifedn142€1 ) mg/l 18.7 = 23.8 — 30.17 — — 26,1 | 21.3 — 32,0 — 27,1 -
& B 1) 1) A (Na) w/t | 17,1 — 18.0 - 22.8 — — 20,6 | 23.4 — 21.7 - 24.8 —
DL FN (Y] ng/t | 3.86 - 3.75 = 3.03 - - 5.86 | 4.62 - 3.97 - 4,90 -
BMIUAT-Si0w | oe1 | 22,9 - 21,17 — 24,2 - — 15.6 | 28.6 — 17.9 - 26. 6 —
Lz N ne/l |'20.16] — 18.32] — 1270 — — | 10.44 9.50 — | 10.6] — |12.8] -—
ymo7et-a Chl-a) | pe/) | 43,3 [ 51,8 | 67.1 | 84.5 [ 120.4 ] 154.6| 166.1 [ 190.0] 208.8)112.9| 83.4 | 50.4 | 140.1] 31.0
yozed—h (Cmi-b) | pg/) | 2.9 3.4 3.8 4.4 9.1 | 181 [ 14.8 ] 15.4 [ 13,4 112 ] 7.6 4.6 | 4.7 2.7
nouzed-¢ (Chl-¢) el 1 3.4 7.0 7.0 1.2 [ 14.4 ] 20,61 35.83 | 18.8] 20.1 10.6 | 18.1 10.5 | 18.6 3.2
TaAT AT [X7A 1.5 13.0 2.0 11.2 ] 12.9 9.1 17.9 2.8 44.3 1 10.7 | 20.3 ] 16,1 | 21.7 9.2
Fr st gkt | ome/) | 0,02 — 0. 02 — 0,02 — — 0.02 | 0.02 — 0,01 — 0,02 —
2-Mt8 | ng/l 0 0 1 0 0 2 8§ -| 32 20 6 [ 1 0 0 0
TAAT Y ng/! 2 2 3 ] 0 0 0 0 0 0 0 0 0 0
BRI ng/| — — — — — - - - - - - — _ =
il LY (FR e SINOT S PANEND B ST 4 3. P-ON=(ON)—(D-ON) 6. P-TP=(P) - (D-TP)

I.P-COD=(COD)—(D-COD)

2, I N=(NHA-N) + (NO-N) +(NO3-N)

4. D-TN=(IN)+(D-ON)

5. TN=(IN)+(ON)

L.TC=(1C)H(TOC)
8, P-QC=(TOL)-(D-0OC)




; KEIEE (D21 ~ @lWE + iEmE -

TR A ) I < 2 1T I I 711 > VT SERE 1641 (20044)
¢ $ ¢ ® $ $ ¢
i} ELo( Wfr | 1/6 | 1/27 | 2/6 | 2/26 | 3/2 | 3/16 | 4/13 | 4/23 | 5/13 | 5/25 | 6/15 | 6/25 | 1/6 | 1/20

BRHEAN LW mg/t | 2,63 | 1,55 | 2,03 ) 130 | 142 | 1,00 1.95 | 1.66 [ 1.44 ] 0,99 | 1.31 ] 0.83 [ 1.38 | 1.28

| mg/l | — - - = z - - - - = Z = _ N

RRLA(TN) TR mg/l | 2.63 - .98 — 1.39 - - 1.69 | 1.40 - .10 - 1.07 -

81 1 1k mg/1 [ 0.072)0.097]0.114]0.198]0.205[0.220] 0.201 | 0.168[0.297]0.159]0.135]0.122[0.169[0.166

80 > () g ng/1 - - - - - - - -

— — [0.176]0.264| — 0101 — 0,158 —

213210 Fhd mg/1 | 0.084 — 0. 131 — 0.195

COD.IK mg/l | 6.04 ] 6.44 | 8.04 | 9.55 | 9.65 | 8.85 | 10.60( 9.51 | 13.43] 9.06 | 10.45( 8.18 | 10,92] 7.95
CODiH ng/| — - — — — — -~ — — - — — — —
COD'VE me/| — — — — — — — — — - — — — —
Al KL C - - - — — - - — - — —
L) C 6.8 | 3.7 | 5.8 | 9.3 [ 8.4 [ I3, 15.2 | 18.5 | 20,2 | 22.2 | 25.3 | 27 26.9 | 31.1

0.5m| C 6.8 3.6 5.8 9.2 8.4 11. 15.2 | 18.5 0.2 ] 21,1 ] 25.1 ] 27 26.8 | 31.1
Lom| C 6.8 3.6 5.8 9.2 8.3 10.8 | 16.2 | 18.5 ] 20.2 | 19.4 | 22.8 26.7 | 30.8

2.0m| C 6.7 3.5 5.8 9.2 | 8.3 10.4 ] 15.2 | 18.5 | 20.2 | 18.4 | 22.6 . 26.3 | 29.3

3.0m| C 6.6 3.5 5.9 9.2 | 8.2 10.3 ] 15.2 | 18.6 | 20,3 | 18.3 | 22.4 | 27.1 ] 26.2 | 28.9

£.0m|l C - - - - - - - — 20.3 — 21.17 — - —

5.0m ‘C — — — — — _ _ - - _ — _ — -

_6.om| C — — = - — = — — - - - - — —

Jeiti| C 6.7 3.6 5.9 9.3 8.1 10.3 ] 15,2 18.4 ] 20.3 | (8.2 | 21.7 | 27.0 | 26.1 | 28.9

*DO__ AL ng/l e = - - =T =1T-1T>=
Aeinf] mg/1 ] 10,9 13.8 [ 10.1 ] 10.9 ] 1.6 | 13, 10.7 10.7] 9.2 4.8 8.5 8.6 10, 1

0.5m| mg/1 | 10.9 ] 13.8 ] 10.1 ] 1.1 1.5 | 14, 10.7 L0 1007 9.1 14.2 8.4 8.4 10.0

1.0m| mg/1 ] 10.9 ) 13.6 [ 10,0 ] 11,2 ] 11,5 ] 13.7 [ t0.6 | 9.9 0.7] 9.0 8.9 8.4 8.1 9.1

2.0m| mg/) | 10.9 | 13.5 ] 10,2 1.3 11,4 ] 12.8 ] 10.6 | 9.7 | 10.8] 9.0 | 8.3 | 8.4 6.7 | 6.2

3.0m| mg/l 13,6 | 10.2 ] 1.4 [ 11.4 10.5] 9.5 | 10.8] 89| 7.5 | 83 | 6.6 | 5.6

1.0m| mg/| - = - - - = - 10. 8 - 4,5 - — —

5.0m| mg/| — - = - - - - - - - - - -

6.0m| wg/l - ~ - - = - — - = - - — - -

i we/1 [ 10,7 [ 18.3 | 100 [ 0.6 10,0 | 12,6 ] 10.5 ] 8.1 [ 10.8] 8.9 | 4.5 7.8 6.6 5.3

Aciddiy ok E| Lux | 42100 | 23670 | 68800 | 74000 | 22840 | 94300 | 34290 | 16830 | 28200 | 112900]100100{ 10710 | 42700 | 95300

#iiii] Lux | 35400 | 17030 | 51400 | 25000 | 19390 | 70200 | 15900 | 7470 | 8730 [ 80700 | 59800 [ 8060 | 22330 | 75400

0.5m| Lux | 27900 [ 5590 | 12330 [ 2900 | 1600 | 13160 | 1050 | 1255 | 497 | 17600 | 12870 | 2407 | 2075 | 10120

1.0m| Lux | 7200 | 1994 [ 3340 H8 70 1332 39 86 3 3030 [ 1994 | 340 161 [ 1046

2.0m| Lux | 1064 | 187 210 1 1 29 |0 2 — 18 170 30 1 25
3.0m| Lux | 136 19 15 0 0 | - 0 - 2 15 3 0 0
4.0m| Lux 13 - -~ — - - - - - - 0 - - —

5.0m| Lux - - - = — - -

6. 0m| Lux - - — - = - =

JSifi|  Lux - - — -~ = - _ = —

JHEN LOR P my 146 193 171 148 174 | 189 141 129 151 144 166 58 68 142

{ift#% + DOWD ORI & Bl




KEEE (2D1-2)

— WA - R

W% sagerr] KEn 1 A ]
$ ®

1.P-COD=(COD)—(D-COD)

2. I N=(N1I4-N) +(NOZ-N)+ (NO3-N)

L D-"TN=(IN)+(D-ON)

5 TN=({N)+(ON)

“iﬂ“ll-fﬁ | "p‘i/fﬁli | SERR 1 G4E (20044F)
JH El Hify, 878 | 8/17 | 9704 | 9727 | 10719 10726 | 11/9 | 10/46 | 12/9 | 12/21 | fRe A M| fitesIvfitt| Y225
A h % 4 oMo W iy it B i
3£/kll\?i21] Wgsy | 01:32 | 11:23 [ L0:24 [ 10:25) 10:08] 10:39] 12:04 ] 10:68] 10:51 | 12:23
AR m 3.86 | 3.91 | 8.91 | 3.88 ) 3.98 | 3.98 | 4.21 | 3.84 | 3.80 | 3.87
RO m 0.50 | 0.50 | 0.50 [ 0.50 ] 0.50 | 0.50 | 0.50 [ 0,50 | 0.50 | 0.50
S T 32.2 1 25.6 | 31.5 | 25,0 [ 19.1 ] 15.8 | 21.9 | 16.1 | 10.9 | i4.8
K C 2.2 | 27.8 | 26.7 | 23.2 | 17.4 | 16.8 [ 180 | 15.1 | 10.4 ]| 10,3 [ 31.1 3.6 17.1
b RS | RGeS | ks | reen | sonma | s | doseas | s | vem | mees
BOGGR&D BEGL |mamoisy) BENL | OBENL SRRy BeBL | mosy deRl | s [ gnt
A cn 20,0 | 20.0 ) 18.1 | 15.5 | 30.2 ] 20.0 ] 22,0 [ 25.0 | 19.2 | 21.0
g m 0.51 [ 0.42 | 0.68 | 0.57 | 0.88 ] 0.63 [ 0.49 | 0.59 | 0.52 | 0.60 ] 0.88 | 0.24 | 0.46
K8 17 18 17 17 16 17 17 17 17 18
pll 8.03 | 8.42 | 8.17 | 8.44 | 7.29 | 7.40 | 7.39 [ 8.62 | 8.06 | 8.39 ] 8.98 | 7.29 | 8. 14
Do g/t | 7.62 — 13.11 - 9.20 — 11,07 — 11,46 - t4. 64 7.62 | 11.04
BOD g/t | 3,61 - 3. 86 - 2.39 - 4.91 - 4,56 - 9.38 | 2.39 | 4.81
CODyn mg/l | 9.31 | 8.18 | 10.37| 8.16 | 5.76 | 571 | 7.03 | 6.69 [ 6.28 | 6.38 | 13.43] 5.04 | 8.39
D CODy, mg/l | 6.67 [ 5.85 [ 6.13 | 5.61 | 3.84 | 4,45 | 3.38 | 3.64 | 3.23 [ 4.08 ] 6.67 | 3.01 | 4.55"
' CODy, mg/1 | 2.64 | 2.33 | 4.24 | 2,66 | 1.92 | 1.56 | 3.65 [ 3.05 | 3.05 [ 2.30 | 8.71 | 1.56 | 3.84
CODg, ng/| — — — — — — — — — — - - -
D CODg, g/ — — — — — p — — — — = = =
58S mg/l | 19,0 | 19.5 | 22.5 [ 30.0 | 10.0 | 15.5 | 19.0 [ 18.6 | 20.0 | 15.5 | 82.0 | 10.0 [ 30.1
KIS Nps/100s1| 1, SE+H4 — 1LTEH | — |4 9843] — 17643 — | 3.3B43] — |.TE4+4 | 3. 3642 | 4. IB43
R AR | e9/100m0 | 6, 040 — <1 — 2. 6042 — 4. 06+0 — | 5.0840] — |2.6642] <1 2.4
EREEJ¢] wg/| 1.07 | 0.88 | 1.04 | 0.88 | 3.30 [ 1.99 | 3.33 | 2.39 ) 3.01 | 2.48] 3.33 | 0.83 [ 1.72
FUR) mg/l | 0.129]0.142[0.130(0.168]0.080[0.121 0. 113[0.098)0.117[06.088]0.297|0.072]0.146
i) (7n) g/ — — — — — — — — — — — — —
FrEONERAENL,-D | me/1 ] 0.02 | 0,03 | 0.02 | 0.05  0.06 ] 0.02 ] 0.00 [ 0.00 | 0,01 | 0.01] 0.09 ] 0.00 [.0.02
AT SGHE (%0.-%) | w1 | 0.020(0.011]0.009 | 0.004 ] 0.033]0.083].0.048) 0.051]0.0340.0317]0.083]0.002]0.023
TRUB AL (N0, -N) mg/) | 013 0,12 ] 0.05 [ 0.04 [ 2,72 .58 [ 2,91 | 1,74 2.50 ) 1.87 ] 2.91 [ 0.04 | 0.89
it E IR b)) ng/l | 017 0.16 ] 0.08 [ 0.09 | 2.81 [ 1.61 [ 2.96 | 1.79 | 2.64 | 1.91 ] 2.96 [ 0.08 | 0.94
FARIBAH (0N mg/Y | 0.90 [ 0.72 ] 0,96 [ 0,79 | 0.47 ] 0.39 [ 0.36 | 0.59 | 0.47 | 0.57 ] 1.32 [ 0.36 | 0.78
A wirare oo | me/t | 0.52 ) 0.39 ) 0.54 | 0.44 ) 0.3) ] 0.33 ] 0.25 ] 0.29 ] 0.26 ) 0.33 ] 0.54 | 0.25 | 0.36
etk cron| g/t 1 0,38 0,33 0,42 ] 0,35 [ 0,16 ] 0.06 [ 0.11 ] 0.30 [ 0.21 ] 0.24 | 1.03 [ 0.06 ) 0.41
wikdtpaaep Ty | me/t | 0.69 | 0.55 [ 0.62 ] 0.53 | 3.12 [ 1.94 [ 3.21 | 2.08 | 2.80 [ 2,24 | 3.21 | 0.40 | 1.3}
(Rt ng/) 1,07 | 0.88 ] 1.04 | 0.88 | 3.28 | 2.00 | 3,32 ] 2.38 [ 3.00 | 2,48 ] 3.32 | 0.81 | 1.72
TMREN 0,1 | wg/) | 0,004 = 0.05) — 0.039 - 0. 036 — 0.039 — | 0.174]0.036] 0,065
semtcatRsen o ro,-n | mg/l | 0.028 ] 0.047]0.006] 0.041 [ 0.018) 0.033]0.003] 0.003(0.006]0.002]0.047(0.002]0.012
w2y > - | omg/) | 0,038 0.074]0.019]0.061 (0,038 0.048(0.029] 0.012(0.022]0.011]0.074[0.010] 0,032
Ve et | og/1 [ 0.091]0.088 (0,111 (0.107]0.042 (0,073 0,084 [0.086) 0,095[0.077]0.2730.042]0.114
BB (1) ng/| 14.2 - 11.2 — 10.7 — 11,1 - 12.2 — 16,3 | 10.7 | 13.2
{7 DI (T0C) wg/1 7.6 6.8 8.9 6.4 4,0 6.4 5.9 5.4 5.5 5.2 9.0 4.6 6.6
BIACTO ng/\ 21.1 — 20,1 - 15.3 - 17.0 - 17.1 - 22.7 ] 16.3 | 18.8
Wit BUG A - 00) | me/) 5.2 4,2 5.1 4.b 3.4 4.5 2.7 3.3 3.2 3.4 5.2 2.7 3.8
f HERERECr 00| ng/l 2.3 2.6 3.8 1.9 1.2 1.9 3.2 2.1 2.3 {.8 4,7 1.2 2.8
WHAE D - Fe) g/l | 0.08 — 0.12 - 0.05 — 0.11 - 0.09 — | 0.13 [ 0.04 | 0.09
N v M) | we/t | 0,004 - 0. 004 — 0. 002 — 0.002 — 0. 004 - 0,00 | 0.60 | 0.0}
X () ng/l | 0.40 — 0.30 - 0.22 — 0.28 - 0.62 — 2,271 0,22 ] 0,175
729y ) wg/1 | 0,056 - 0.044 - 0.030 — 0.033 — 0.045 — 0.14 | 0,02 [ 0.06
# e 16.7 — 17.9 - 9.3 - 18.17 — 19.3 — 61,2 ] 9.3 | 2.9
MR (0°C) nS/m | 24.1 — 24. 6 = 16.7 — 16.9 — 18.4 — 26.6 | 16.7 [ 22.4
A B (T mg/1 | 16.1 — 19.7 - 16.5 — 12.9 — 12. 7 - 23.5 | 12.7 | 16.4
RN ) ng/l | 7.19 — 6.85 - 4. 36 — 3.96 — 5.12 — 7.19 | 3.34 | 5.56
pUART MU | me/l | 59,3 — 58. 1 — 31.5 - 3.1 - 40.0 — 59.3 | 31.5 [ 46.4
P 9. O mg/t | 9. 14 - 5.10 — 6, 81 - 7.22 - 6.62 — 9.4 | 2.97 [ 5.1
pllg o7 bnvi | my/t | - — - — — — - — - — — — -
Bt b 50,27y | omg/l | 3101 = 29.5 - 21.6 - 19,6 — 22.5 - 33.7] 19.6 | 28,0
et 1A > €t ) mg/t | 33.1 - 32.5 — 12.3 - 12.4 - 14,2 — 38,1 12,3 ] 24.2
B0 A (Nn) mg/| 27.2 - 25.9 - 15.5 - 8. 07 — 15. 4 — 27,2 | 8.07 ] 20.)
PULEN(S) g/l | 5.16 = 5.16 - 2.97 - 3.31 - 2,83 — 5,86 | 2.83 | 4.12
W Uha- sy v/l 23.1 - 15.2 - 22.9 — 24.2 - 23.1 — 28.6 | 15.2 [ 23.2
AP s/t | 11,37 - 1.81 — 15.97 — 14,10 - 15,90 — 20,15 1.81 [ 12.89
200714 -a {Chi-a) na/1 | 69.6 ] 58.0 [137.9] 80.8 | 24.2 [ 25.2 [ 70.7 | 80.0 | 64.4 | 53.0 [ 208.8( 24.2 | 90.3
J007¢k-b (Chi-h) neg/1 | 4.5 1.0 7.0 7.0 3.6 1.5 4.3 4.1 4.2 6. | 18. | 1.0 | .7.1
A07¢k-¢ (Chl-¢) ng/l | 6.7 7.7 2] 22,2 [ 12,7 0.8 12.9 ] 15.3 ] 10.8 | 17.8 ] 35.3 | 0.8 13.6
T 74 F e/} 8.7 10.9 | 10.9 | 20.1 6.1 4,5 4,8 9.2 1.2 [ 17,9 ] 44.3 2.0 12,5
Bt oA S pkiniiseA | ome/1 | 0,04 — 0, 04 — 0. 0 — 0. 04 — 0.03 - 0.04 | 0.01 ] 0.03
2-MIB ng/1 | 6 14 2 | 0 2 3 10 53 53 0 1
SARI Y ng/| 0 2 0 2 | 2 2 5 1 1 0 1
2k | mg/| — — — - — — — — — - — — -
[k HIOFE K AON I & D k7=, 3. P-ON=(ON)-(D-ON)
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SERR 164 (2004 48)

] B aig | osz3 | s/17 | i | 9/21 | 10219 [ 10726 | 1129 | 11206 | 1279 | 1e/20 [HRoA ] it TR
SAAIN) bt mg/ | 107 ] 0.88 ] L.04 ] 0.88 | 3.30 ] 1.99 ] 3.83 ] 2.39 ) 3.00 | 2,48 ] 3.33 | 0.83 [ 1.72
FBREE (T 1k ng/l | — — - | = — — — — - — — — -
FBERAN Fr mg/l | 0.93 - 1.17 - 3.55 - 3.19 — 3. 04 — 3.656 1 0.93 ] 1.92
8By 20 LK mg/l 1 0.129) 0,142 [ 0.130]0.168(0,0800.121[0.113)0.098[0.117]0.088]0.297]0.072]0.146
1) 2 (DK mg/ | - - - - - - — — — — — — —
(UG RE] mg/l [ 0.125 — 0.130 — 0.071 — 0. 087 — 0.110 - 0.26410.071(0.136

COD I me/l | 9.31°) 8,18 [ 10,37) 8. 16 [ 5.76 | 5.71 | 7.03 | 6.69 | 6.28 [ 6.38 | 13.43| 5.04 | 8.39
CODK ng/ | = — — - — - - — — — — — —
COD Pkt ng/ | — — — — — — — — — — — — —
A Al T — — — — — — - — —
Lii| T 2903 | 27.7 | 26.7 ] 23.2 | 17.4 [ 6.8 | (8.1 [ 15,0 ] 10.4 ] 10.3
0.5m| T 2.2 [ 27,8 | 26.7 [ 23.2 | 17.4 [ 16.8 [ 18.0 [ 15.1 | 10.4 | 10.8
I.0m| C 29.0 | 27.8 ] 26.7 | 23,1 [ 17.4 ] 16.8 | 17 15.0 | 10.4 ] 10,2
2.0m| C 20,0 | 27.8 ] 26,5 ) 23.1 [ 17.2 ] 16.8 | 17 14.9 1 10,4 ] 10.2
3.0m| T 28.5 | 27.6 | 26,1 [ 23.1 | 17,0 ] 16.8 | 18. 14.8 [ 10.4 ] 0.1
4.0m| C - - - - - 16. — — —
52.0m ‘C — — - — - - —_ _ _
6.0m| T - - — - — — - - - -
i C 28,3 | 27.5 ] 26,0 | 23.1 | 16.9 | 16.8 | 16,9 [ 14.8 ] 10,8 | 10.1
*DO K1 mg/l - - - - - - - — - -
Lii| mg/l 9,1 1.8 12.8 | 6.1 9.0 8.2 | 13.6 | 8.7 11,6 | 12.3
0.56m| mg/l 9.6 1.8 12. 7 6. | 8.9 8.1 13.5 9.6 1.6 ] 12,3
|.0m| mg/| 9.0 8.0 12.7 ] 6.1 8.8 8.1 13.1 9.4 1.6 ] 12.3
2.0m| mg/| 8.0 7.6 11:7] 6.0 8.0 8.1 12.5 | 9.4 1.6 | 12,3
3.0m| mg/l 7.8 6.1 10.2 | 6.0 8.1 8.0 11.9 ] 9.4 11.6 ] 12.2
1.0m| mg/l — - - — — — 11.4 - — —
5.0m| mg/! - - - — — — - - - —
6.0m| mg/| - - = - — - - - - -
Wéiii| mg/| 6.8 5.7 9.8 6.0 7.1 7.8 1.1 9.4 1.5 ] 12,2
Al Akl Lux 107800 9900 | 28300 [ 6240 | 11840 9180 | 80500 ) 22500 | 3800 | 52500
i Lux | 51200 | 7510 | §6720 | 3990 | 7770 | 5750 | 47500 [ 15460 | 6680 | 42100
0.5m| Lux | 13990 | 1912 | 3650 [ 703 [ 3810 | 1711 | 13460 [ 3780 | 2275 | 21230
1.0m| Lux | 3240 | 325 657 136 1911 520 | 4130 | 909 536 | 4870
2.0m| Lux | 280 15 39 T 396 46 188 115 418 614
3.0m|  fux 22 0 3 0 92 4 79 16 3 124
4.0m| Lux — - - — — — 15 — — —
5.0m| Lux — - - — — = - - = —
6. 0m Lux — — — — - - — — — —
FeIi| Lux - - - — - - — — — -
IE#RM LOR P mY 174 180 130 191 207 133 144 147 204 201

[TES3
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KHER (£D1-1)

— GENMAE 4+ S -

Wi Tk | K | #n [ wong | el | SERS 164 (20044F)
¢ $ $ 4 &
I N Ny 1/6 ‘ 2/6 2/26 3/2 3/16 | 4/13 | 4723 | 5/13 | 5/25 | 6/15 | 6/25 /6 7@
B I 43 i 1 4 [ s F 4 Ly % i it M
b W55 | 8:05 | 8:56 | 8:19 | 8:34 | 8:22 | 9:2) [ 9:29 | $:44 | 9:d1 [ 9:08 | 8:12 | 8:40 [ 8:30 | 9:20
AR m 6.15 | 5.98 | 5.98 | 6.09 | 5.98 | 5.98 | 6.07 | 6.05 | 5.82 | 6.20 [ 5.96 | 65.76 | 5.79 | 5.80
ARk m 0.50 | 0.50 4 0.50 ) 0.50 | 0.50 | 0.50 | 0.50 | 0.50 ) 0.50 | 0.50 ) 0.50 | 0.50 | 0.50 | 0.50
WM T 5.0 N 4.2 6.1 8.2 12.1 10,4 ] 14.0 | 22.4 | 26.0 | 26.0 | 26.5 | 28.4 | 30.0
KO T 6.3 .5 1.8 8.3 1.8 9.6 4.1 170 [ 19.0 [ 19.2 [ 20.7 ) 25.4 | 25.3 | 29.4
7N HEMEGE | AW | ARG | DAGE | BRSNS | MRER | KGN | e | KRR | RS | R | RGE | S | ke
W () B AT RV A A AR AR VA VA A Rt
EBUE cn 23.3 0] 19.6 6.5 18.0 | 1.5 9.0 17.6 | 13,1 [ 16.3 | 22.6 | 22.06 [ 17.6 | 1856
YN m 0.53 0.45 | 0.25 | 0.40 | 0.27 | 0.35 | 0.43 ] 0.43 | 0.39 | 0.65 | 0.59 | 0.45 | 0.45
A (A 18 18 20 17 18 18 18 19 |18 18 18 18 19
pll .U 7.8 7.3l 1.8 | 846 1 876 | 7.96 ) 8.26 | 8.18 | 7.93 | 7.81 | 7.89
DO wg/1 | 10,74 12.48 - 10. 60 — = 9.71 | 8.92 - 9.93 — 6. 79 —
BOD v/ 1.51 2.21 — 1.80 - - 3.66 | 3.0 - 2.81 — 2,46 -
CODya wg/l | 6.08 .04 ] 7,79 ] 7.67 ) 7.95 ) 8.38 | 7.43 ) 6.67 | 8.62 | 6.96 ) 5.89 ) 7.44 | 5.92
D+ CODya og/l | 4.30 4,93 | 4.63 | 4.56 | 4.43 ) 4,501 | 4,08 | 4.89 | 3.90 | 4.40 | 4.28 | 5.55 | 4.80
P CODy, wg/| 1.78 2.21 | 3.16 | 8.11 | .3.12 L87 ] 3,36 | 178 ] 4.72 | 2.56 | 1.61 | 1.59 | 1. 12
CODe, w/l | — - - - |1 = - - - - - - - -
D COD¢, /1 — — — — - — - - - - — - -]
58S ug/1 15.0 1.5 | 51.5 | 27.0 | 34.5 | 50.5 | 272.5 | 24.0 [ 27.5 | 14.0 [ 11.5 | 19.0 | 13.0
KRR we/100al | 7, 9842 L7642 — [2.3E+2) ~ — | 1.3E42] 2. 3642 — 40642 — [ 17843 —
Vetuie Ay | g | <L - < - <l — I.0EH0| I — 2.4 — 4 -
FRA TN we/t {0,950 0,99 [ 0.8 1 0,950 0.,971 0.8 16,990,731 0.76]0.92] 0.60] 0.60 | 0.8 | 0.8
B (1P me/t 0,075 (0. 110 [0.088|0.160[0.140]0.141]0,143)0.105]0.116]0.151 | 0.068 0,087 [0.111]0.131
g (In) ne/| — — —~ — — — — 0. 003 — — | 0.015 — — —
TOEOMEREOI-N | me/l | 0,02 | 0,03 | 0,02 ] 0.04 ) 0.04 | 0.02 ) 0.01 | 0,00 | 0.02 | 0.02 ) 0.01 | 0.02 | 0.09 | 0.04
MERAERA O02-Y | me/1 | 0.005 | 0.005 | 0.006 [ 0,005 | 0.005| 0.006 | 0.006 | 0.002 | 0,002 | 0.002 | 0.002 | 0.005 | 0.008 | 0.005
RIFUBREA (N0, -N) me/t | 0.40 [ 0.38 | 0.24 | 0.23 [ 0.25 ] 0.13 | 0.06 | 0.00 [ 0.02 [ 0.01 | 0.09 | 0.07 | 0.19 | 0.32
sigmans ¢ me/l | 0.43 ] 0.42 | 0.27 ] 0.28 ] 0.30 | 0.16 | 0.08 ] 0.01 | 0.04 [ 0.03 | 0.10 [ 0.10 | 0.29 | 0.37
SRR (ON) we/t | 0.54 | 0.57 ] 0.61 | 0.67 | 0.67 | 0.66 ] 0.91 | 0.71 [ 0.71 | 0.83 | 0.50 | 0.51 | 0.56 [ 0.45
wehrECmackm- | o/t | 0.35 1 0.32 1 0.39 | 0.36 ( 0.37 | 0.36 | 0.33 [ 0.28 | 0.32 [ 0.30 [ 0.42 | 0.37 | 0.35 ( 0.34
wteatsgeer-on| e/t [ 0.19 10,25 | 0.22 ] 0.31 ] 0.30 [-0.30 | 0.58 | 0.43 | 0.39 ] 0.59 | 0.08 | 0.14 | 0.21 | 0.11
vtz | e/t | 0,78 [ 0.74 [ 0.66 [ 0.64 [ 0.67 | 0.52 | 0.41 | 0.29 | 0.36 | 0.83 | 0.52 | 0.47 | 0.64 | 0.71
B N we/t ) 0,970 0,99 ] 0.88 ] 0.95 ) 0.97 ] 0.82 ) 0.99 ] 0.72 ) 0.75 ] 0.92 | 0.60 ) 0.61 ) 0.85 | 0.82
A eo,-m | we/l 0044 — (0,046 — ]0.060| -— — [0.057[0.060] — ]0.034] -— ]0.088| -—
a0, g/l | 0,008 | 0,010 | 0.007 | 0.010 | 0.010 | 0.008 [ 0.003 7 0.003 [0.005 | 0.003 | 0.005 | 0.013 ] 0.043 | 0,051 ]
WRATIEY 0T | me/l | 0.019]0.039]0.020 ] 0.044 | 0,032 0.029]0,022 | 0,016 ]0.021]0.032]0.017 | 0.032 | 0.062 | 0.080
KTtz S Cpem | me/l [0.056 [ 0.072[0.068] 0,117 0,108 [ 0.112[0.121]0.089)0.095]0.119]0.051 | 0.055 | 0.049 ) 0. 051
BB U0 ng/l | 14.5 - 14.1 — 14.9 — - 14.1 | 13.4 - 14,9 — 5.3 | —
0 ORELH (T00) me/t | 5.1 5.6 6.4 6.4 6.2 6.0 7.1 53 | 4.8 | 5.2 6.1 4.7 58 [ 4.7
RN ng/| 19. 8 - 20.5 — 2.1 - — 19.4 | 18.2 — 21.0 — 201 —
FOMELTRIBBGE W - 00| mg/l 3.9 3.9 3.6 3.4 3.4 1.6 3.2 3.0 3.5 3.9 3.2 4.4 3.8
MR CE 00| v/l 1.2 2.5 2.8 2.8 2.6 2.5 2.1 1.8 1.7 2.2 1.5 1.4 0.9
AL (D » Fo) wg/l | 0,08 0.21 = 0.22 - - 0.07 [ 0.10 — 0.06 — 0. 06 -
RiswEOY so- | mg/) ] 0,005 0, 01 — 0, 01 — — 10.0089]0.012 — | 0.004 — ] 0.006 —
8 (o) me/t | 0.29 0. 56 — 1.18 - - 0.43 | 0.60 — 0.34 - 0.89 -
> () vg/l | 0.03 0.03 - 0. 05 - - 0.068 | 0.060 — 0,053 — 0. 039 -
o I 13.9 14. 8 — 22.6 - - 1.1 20. 8 - 14,8 — 21,3 —
ML (20C) nS/n | 28.06 30,7 - 29.7 - = 30.2 | 30.4 - 30,6 - 3.4 —
H g L(Ca) ng/ | 17.3 19,7 - 16,3 - = 156.6 | 18.1 - 14,2 = 17.2 —
S IR wg/1 7.55 7.25 — 7.68 — — 6.67 ] 7.74 - 7.49 - 8. 14 -
BRER Y %/ DY /| 5. 1 50,5 — 54.5 - ~— 53.2 | 52.2 — 54. 1 — 57.5 —
n HL9, OFRUE g/l | 8.7 4. 96 — 5.95 — - 6.00 | 5.56 - 5,34 — 8.32 —
p 0T A ) I ng/| — — — - - — — = - — — — —
giter A2 60,27 | e/t | 316 36.7 - 36. 4 — - 37.0 | 38.2 — 38.4 — 37.2 —
Wik 1A > @) og/l | 35.6 38.6 — 42.3 — — 40.6 | 37.5 - 38. 9 — 42.0 —
F U AN ng/l | 30.9 26.9 - 29. 17 — - 32.8 [ 3.3 - 31.8 — 32.8 —
UL ng/ 5.02 5.36 — 4,25 - — 8.50 [ 6,10 — 4, 86 — 5. 80 —
ByUyhT-siny) | og/1 | 22.8 27.0 - 3.4 — - 18.0 | 25.6 - 18.6 - 26.9 -
Wk og/l | 18.88 18.20 - 15, 54 — — 9.81 | 9.40 — 12,01 — 14.98 ~
200704 (Chi-a) uyg/ 1| 3.1 | 42.1 1 45.8 [ 38.3 | 80.5 | 86.4 | 90.7 [ 59.2 | 144.0] 32.0 | 28.9 | 17.0 | 15.4
4a0714-b_ (Chl-b) g/ i 1.8 3.2 0,2 3.1 5.1 7.4 9.4 1.0 13.4 0.17 1.8 3.8 2.4
#o07¢kc (Chl-r) g/ | 4,2 [ 2.0 0.1 8.4 12.5 7.8 1.7 6,4 3.2 3.4 9.1 3.9
PaATAT Y A 5.5 .6 2.1 6.8 9.2 1. 8.5 8.3 5.9 3.9 6.8 9.1 1.3
A iEib | e/l | 0,01 .02 — 0, 02 — —~ | 0.02 | 0.0] — 0. 01 — 0. 01 -
2-MI1B ng/| 0 0 0 0 0 0 2 q 3 0 0 0 0
UAALY ng/\ 0 0 0 0 0 [i 0 0 { 0 0 0 0
ook | me/l | = — - - - - - - = - - -
e HEIOEEHER OIS K DR 2, 3. P-ON={(ON)—(D-ON) B, P-TP=(TP)—(D-TP)

1, P-COD=(CODP)—(D-COD) ‘
2.1 N=(NII-N) + (NO2-N) + (NO3I-N)

£ D-TN=(IN)+(D-ON)

5. TN=(IN)+(ON)

LTC=(1O+HTol)
8. P-0C=(TOC)—~(D-0C)




KEES (Fo2-1)

- RN R BRI -

Wipcr T WG [ Jked 1 BRI T w4 T aem | TERR LB (2004 6E)
¢ ¢ ¢ $ ad .
| H Hidfy l/(i_ 1721 2/6 2/26 3/ 3/16 | 4713 | 4728 | 5/13 | 5725 | 6/15 | 6/25 /6 /20
BNHN 15 mg/l | 0.95 ( 0.99 | 0.88 [ 0.95 | 0.97 ] 0.82 | 0.99 | 0.73 | 0.76 | 0.92 ] 0.60 | 0.60 | 0.8 | 0.8l
pdray s | mg/l [ 098 [ - [0.88] -~ [0.99[ — - Joenm o] — Tess| = o —
A N TH mg/l | 0,98 - 0.9l - 0.97 - - 0.7 ] 0.75 - [.0.70 — 0.72 -
U HRR mg/t 10,076 (0,001 ]0.0880.161]0.140]0.141[0.143]0.105]0.116] 0,151 ]0.068]0.087[0.1410.13!
2V ikt mg/1 | 0.075 — 0.093 — 0. 138 — — 0.103 ] 0.148 — 0.077 — 0.115 —
wu ot | me/l 0073 = Joo093] - Jo 3] - — Joaes]erzt] = Jo.087] = [o.1s| —
COD 4t mg/l | 6,08 | 6.48 | T.04 | 779 ] 7.67 | 7.65 | 8.38 | 7.43 | 6.67 | 8.62 | 6.96 | 6.89 | 7.04 | 5.92
CODIRE mg/t | 6.26 — 6. 86 — 7.75 - — 7.41 | 6.91 - 6.32 — 6. 34 —
COD T ng/l | 6.26 — 6. 96 — 7.5] — — 7.29 | 6.77 — 6. 94 — 6. 34 —
Ktk kB C — — — - — — — — - — — — — —
il C 6.3 3.5 4.u 8.4 7.8 | 1.1 14.1 17.0 [ 18.0 | 20.4 | 21.7 | 26.4 | 25.3 | 29.6
0.5m| C 6.3 3.5 4.8 8.3 7.8 9.6 14,1 170 ) 18,0 | 19.2 | 21,7 ) 25.4 | 25.3 | 29.4
l.om| C 6.3 3.5 4.8 8.3 7.8 9.4 4. | 170 [ 18.0 | 18.0 [ 21.6 | 25.4 | 25.2 | 28.8
2.0m| T 6.3 3.5 4.8 8.2 7.8 9.3 14, 1 17.0 | 18,0 | 17.1 | 21.4 | 25.4 | 2.2 | 28.4
3.0m| T 6.3 3.5 q. 8§ 8.2 7.8 9.3 I, 1 [ 17.0 | 18.0 | 17.6 | 21.3 | 25.4 | 26.1 | 28.4
tom| C | 6.3 | 35 | 4.8 | 82 | 7.8 | 9.3 | I4.1 | 16.9 | 18.0 | 17.6 | 21.3 | 26.4 | 25.1 | 28.1 |
5.0m) C 6.3 3.5 4,8 8.2 7.8 9.3 P40 ) 16,8 - 17.9 ) 17.6 ) 21.3 | 25.4 | 25.1 | 28.3 \
6.0om| C — - - 8.2 — - 14.1 | 16.8 — 17.2 — — - -]
K| C 6.3 3.5 4,8 8.2 7.8 9.3 4.1 | 16.8 | 17.9 | 17.2 ( 21.2 | 25.4 ( 26.1 | 28.2
#DO kL] mg/l — — -~ - — = - — - — - - - -
ani] mg/Y L 107130 11,2 ] 10,7 ] 10.8 ) 11O | 1.0 ] 9.6 3.6 8.9 9.4 7.1 7.3 8.2
0.5m| mg/1 | 11,6 | 13,1 [ 1.2 | 1.7 [ 1O ] 1.3 [ 11.0 9.6 9.6 8.7 9.4 7.1 7.2 8.2
om| me/t | 1.6 ] 1.0 10,2 ] 10,6 (1.0 (L3 tLLO( 9.6 9.7 8.1 9.1 6.9 7.2 1.9
2.0m| mg/t | 11,6 | 13.1 1.1 10.5 | 11,0 ] 1.1 [ 11.0 ] 9.6 9.8 8.6 8.7 6.9 7.2 1.2
3.0m| mg/l | 105 | 13.0 ) 12.0 | 10.6 | 10.9 | 111 ] 11.0 9.3 9.7 8.5 8.4 6.8 7.1 7.1
4.0m| mg/l | 1.5 | 13.0 | 11,0 | 10.6 | 10.8 | 1.0 | 1L.O | 9.2 9.8 8.5 8.3 6.7 7.1 7.1
5.0m| mg/l | 0.4 [ 12.9 ) 11,0 ] 10.5 | 10.8 [ 10.9 | 10.9 9.1 9.6 8.4 8.3 6.5 7.1 6.4
6.0m| mg/l - - - 10.3 - - 10.9 | 8.9 - 8.4 - — — —
it me/t | 10,2 ] 12.9 | 1.6 ( 10.3 ] 10.5 | 10.8 | 10.9 8.9 9.6 8.4 6.2 6.5 6.8 6. |
KMOE  7K.12| Lux | 34200 | 11960 [ 52400 | 62100 | 50100 | 70100 | 32900 | 17440 | 89500 | 98500 | 56200 | 26020 | 46000 | 96300
xmi| tux | 22000 9820 | 29610 | 29200 | 37500 | 53600 [ 17010 | 12660 | 47800 | 62600 | 46600 | 17150 | 30100 69100
0.56m| Lux 5150 | 2156 | 2300 | 3030 | 3890 [ 9170 | 1114 | 2600 ] 9670 | 18340 | 22110 | 7000 | 7480 ) 15780
[.0m] Lux 1400 241 1488 139 452 933 146 568 2003 | 4200 | 7680 | 3060 | 1521 | 2620
2.0m| Lux 267 7 133 0 8 11 | 26 319 283 185 168 12 153
3.0m]| Lux 3 0 5 0 0 0 0 | 12 18 159 16 3 8
4.0m| Lux 6 — 1] 0 — 0 — 0 2 2 23 15 0 0
5.0m| Lux 0 - - 0 - 0 — - — 0 4 2 0 —
6.0m| Lux = - - 0 - - — — - — - - - -
il Lex | = - - -l -t -l =l =1 =-%1=1= - - -
JERH L.ORP [ a¥ 159 213 199 | 182 180 182 124 121 182 167 164 184 206 142
[7E3 $+ DORDOMITX BIMER




CRHIER (ZD1-2)

—~ w4

iRl -

1.P-COD= (CQD)*(D”COD)
2, I N=(N114-N)+ (NO2-N) +(NO3-N)

4.D-TN=(1N)+(D-ON)

5. TN=(IN)+(ON)

Mgt T Mo ] ke& 1 PN Wi | @ SRR 1641 (20044F)
¢ $ $ $ $
s Fl BUGL [ 8/3 | 81T | 9714 | 9727 | 10719 | 10726 | 11/9 | 11/06 | 1279 | 12720 | sk dii| | i
P i it B i A AN W I t i
Rk 5 Wi | 7:04 | 9:05 | 7:56 | 9:08 | 8:07 | 8:50 | 7:50 | 9:00 | 8:00 | 9:28
kiR m | 5.65 | 598 | 5.79 | 6.04 [ 6.29 ] 6.35] 6.01 | 6.15 | 6.01 | 6.13
SRR m_| 0.50 | 0.50 | 0.50 | 0.50 [ 0.50 | 0.50 | 0.50 [ 0.50 | 0.50 | 0.50
T T 1283|270 | 26.5 | 20.8 | 180 [ tr.27| 45 [ 184 | 10,1 | 14.5
Al C | 282 214263 | 3.4 1.6 100 {162 15,815 10.10] 29.4( 35 | 16.8
s RS | N | W | dei | peaim | ey | s | s | s | siaim
B4 ED BESL | st | st | B [mpot| mest [meoon|mavot| sent ] sen
Bl en | 28,0 ) 26,5 | 19.2 | 14.5 | 17.0 | 19.4 | 26.5 [ 25.0 [ 12.8 [ 15.0
T w | 0.55 | 0.56 | 0.76 | 0.55 | 0.48 | 0.58 | 0.58 | 0.60 | 0.40 | 0.48 [ 0.76 | 0.25 | 0.48
Ko(a 16 18 17 18 16 16 17 17 17 18 ‘
bl 7.60 | 8.09 | 8.00 | 8.12 [ 7.56 | 7.66 | 7.45 | 8.49 | 7.81 | 8.24 | 8.76 | 7.45 | 7.95
DO o/l | 759 [ — J10.02] -~ |[o.41| — 1024 — [o9.98] — |12.48] 6.79 [ 9.70
BOD mg/t | 1.64 | — .73 | — .64 | — 1.91 — |27 = ['3.66] 1.5/ 226
CODy, mg/) | 6.55 | 6.38 | 7.22 | 6.69 | 8.562 ['8.39 ] 6.33 | 6.31 [ 7.59 [ 6.38 | 8.62 | 5.89 | 7.09
D« CODyy mg/) | 5,14 | 5.30 | 6.27 | 5.37 | 5.31 | 4.60 | 4.22 | 4.20 | 4.04 | 4. 08 ] 6.27 | 3.90 | 4.67
P CODy, me/t | 141 | 1,08 [ 0.95 | 132 | 3.2 [ 3792t ]2 ] 346 2.20] 4.72 | 0.95 | 2.42
CODe, me/1 — — — bad — — - — - — — — —
D+ COD¢, g/ —_ — — - —_ — — — — - — — —
5s mg/) | 11,5 | 14.0 | 16,0 | 26.5 | 28.5 | 20.5 | 18.5 | 5.6 | 44.5 | 20.0 | 51.5 | 11.5 | 23.8
AR wyroosl [ 17643~ [4.0B48| — |2.3043] — [7.omt2a| — (4 oB+2| — [4.0m43] 1. 3042 1. 2643
otk Amm | oot | 4 0B40]  ~  |2.0643] — | 3.0Et0| — 4 - <4 — Jooes3] < [rE4z
BRI mg/l | 1,02 0.78 ] 0.80 | 0.69 ] 0.95 | .34 [ .00 | .08 | 1.2 | L.y ] .34 ] 0.60 | 0.91
BYan mg/l | 0.103]0.122]0.097]0.1200.104 [0,103[0.095[0.077]0.154]0.093]0.161[0.068]0.112
i3 (Zn) ug/t | 0.008 | — — — (0,014 — — — 10,0056] — [o0.015]0.003]0.009
FADMBSHOH,-Y | wg/l | 0.06 | 0.05 [ 0.02 | 0.02 ] 0.02 | 0.02 [ 0.01 | 0.00 [ 0,03 ] 0.01 ] 0.09 [ 0.01 [ 0.03
HBIHENAL 0D | we/1 | 0.004 | 0.025 | 0.004 | 0.002 ] 0.026 [ 0.015 0,002 | 0.004 [ 0.006 | 0,004 | 0.026 | 0.002 | 0.007
RIBIBRAO0,-D | mg/) | 0.32] 010 | 0.05 ] 0.00 | 0.31 | 0.63 [ 0.49 [ 0,43 | 0.50 | 0.44 | 0.63 | 0.00 | 0.24
SR 1N mg/t | 0.38 [ 0.18]0.07 ] 0.02 [ 0.36] 0.67] 0,50 ] 0.44 ] 0.54 | 0.45 | 0.67 | 0.01 | 0.27
(7 IR A (0N mg/) | 0.64 [ 0.61 | 0.72 ] 0.66 | 0.60 | 0.68 | 0.50 | 0,56 | 0.73 ] 0.66 | 0.91 | 0.45 | 0.64
WIS ® -0 | wp/) | 0,40 | 0.30 [ 0.53 ] 0.43 ] 0.39 [ 0.35 [ 0.31 [ 0,34 [ 0.33 ] 0.33] 0.53 [ 0.28 | 0.36
Tk fratmadece - on| we/t | 0.24 | 0,31 ] 0.19 [ 0.23 [ 0.21 ].0.33 ] 0.19 ] 0.22 ] 0.40 | 0.33 | 0.59 | 0.08 | 0.28
winttksagot Cn- | we/1 | 0,78 | 0.48 | 0.60 | 0.45 | 0.75 | 1.02 ] 0.8 | 0.78 | 0.87 [ 0.78 | 1.02 ] 0.29 [ 0.63
Bk O og/l | 1,02 [ 0.79 ] 0.79 [ 0.68 | 0.96 | 1.35 ] 1.00 | 1,00 | 0.27 { 1,11 ]| 1.35 [ 0.60 | 0.91
MR o, | we/1 [0.074] — 10.048] — [o0.077]  — 0.032] — ]0.083| — [o0.0887]0.08270.059
st me -0 | mg/t [ 0,056 [ 0,056 | 0.019 | 0.024 [ 0,025 ]0.019]0.005]0.003 | 0.006 | 0.002 [ 0.056 | 0.002 [ 0.016
| w00~ | we/l [0.058]0.078 [ 0.035]0.042]0.036 [ 0.041 [ 0.017 | 0.008]0.016]06.005] 0.080 | 0.005 | 0.033
Rty > - | mg/1 ] 0,045 ] 0.044 | 0.062 | 0.078 | 0.068 | 0.062 | 0.078 | 0.069 ] 0.138 [ 0.088 ] 0.138 1 0.044 [ 0.079
B mg/t | 16.1:] — 13.3 — 130 — ]y — 1136 - 16.1 ] 12.9 [ 14.2
AV IRIEL (T00) wg/l | 5.9 [ 5.0 | 6.8 | 5.7 | 6.6 | 5.7 | 5.1 | 5.6 ] 6.5 | 5.3 7.t [ 477 5.7
B (1O mg/l | 22,0 | — 19.6 | — | 19.6| - 18. - | 20.1 — | 22,0 180 20.0
TMEETIRBIA D 00 | mg/] 4.4 3.3 5.1 4.3 4.3 1.3 3.3 3.3 3.5 3.3 5.1 3.0 3.8
wrtktimgpscroo] og) | LS [ L7 L2 L4 [ 23 04 L8] 23] 80 20 3.0 0.9 2.0
HIRTER 0 « Fo) mg/l [ 0,08 = [0.10] — | 0.0 - Jo14] — 13| — Joz2]005]o0n
iRy v | mg/t 0,006 — (0,003 — [6.005] — Jo.004] — Jo.004] — Jo.01]0.001 001
5% (Fe) mg/l | 0.45 | — | 0.24 — (o043 — o8| —~ [ 010 — [ 18] o018 0.56
~ 291 () mg/l [0.028] — [0.023] — [0.058] — [0.087] — Jo0.063] — loo7]0.02] 004
Bl e 9.9 — 12,1 — 21,9 — | 186 — [0 — [34.0] 9.9 1187
HADE (20C) wsm [ 30,2 — [ 206 — [ 29.1 — 1 2.9 — |20 — | 31.4] 24.01 29.2
921 4 (Cn) ug/l | 14,9 - [ 20.2 — 16,8 — [ 137 — [135] — J2.2[135]165
AT we/l | 7.83] — [7.58] — [6.54 — 544 — [58] — |81 |54 114
prd sy | v/t | 60,3 | — | 60,1 — | 531 ~ | 497 — [46.0] — | 60.3] 6.0 54.2
P HY. DRI mg/t | 798 [ — [ 647 — [ 8.81 — [6.02] — |6.62] — |87 ]396] 648
pUSOT N2 IIE mg/| - - — — — — it - - _ - — —
gimrA 0,2 | mg/1 | 380 — | 3.9 — |35 — [ 285 — |4 — | 3842047 34.7
st | ment [ 406 — [48.8] — | 38.1 — | 321 — | 289 ] — [48.8] 289 [ 38.8
3 1) A (¥a) ng/t | 34.4 — |31 — [26.8] — | a1 — (a4 — [|se.7] 217300
PIEINS) mg/t | 6,03 — | 646 — [ 506 — | 478 — |62 — | 8569 4.25[5.53
BEVIT-510) | we/l | 274 | — 1.7 — (29| — |20.6]| — 18.9 | — | 304 ] 1377 227
16319 w/l 17,31 — | 6.2 — (216 — |28 — |48 — [1888] 2.16 |10.85
sunaei-a (chl-a) | g/ 0 | 10.0 | 30.2 | 66.9 | 38.4 [ 24.0 [ 20.8 | 40.2 | 52.6 | 62.5 | 59.2 [ 144.0] 10.0 | 47.2
a7y @i-w | pe/) | 0.7 | 0.1 L7l Jos [ 20]o9] s s o134 ] 00] 27
poortiee (ehl-o [ pe/0 | 0.6 | 3.3 | 5.7 | 9.0 ] 2.4 ] 29 [ 39| 2 40| Lrl12s5] 0.0 ] 4.5
Fxd T AT ne/1 [ 6.2 ] 3.2 [ 85 | 4.5 | 6.1 2.8 [ 49 [ 2 [ 120 o 120 1.3 1 5.8
Rr o yhmngtial | we/t 1 0002 ] — [ 002 ] — | 0.0 — 1 0.01 — [ 0.01 — 6ozl ool]on
2-MIB ng/| 0 1 3 1 0 0 0 2 3 il 11 0 2
BT ng/1 0 0 0 0 0 0 0 0 2 2 2 0 0
ML AR ng/t — - - - - = = - - — - ~ =
i SHOY(| HEAR ORIz L DR, 3. P-ON=(ON)—(D-ON)




KAFSHR (ZD2-2)

— ellsa + Prllame -

e Lo T ke | #T T winlg T gisw | - IR 64 (200441)
$® ¢ ¢ ¢ ¢
xj Bl ouisn | 873 | 8717 | 9714 | 9727 | 10719 | 10726 | 1179 | L1716 | 12/9 | 12721 | {RoA fi) /i | S M4
R b | me/0 ] 1,02 [ 0,78 170.80 ] 0.69 | 0.95 ) 1.34 ] Lol | 1.0 1,26 ] L1l | 1.34 | 0.60 | 0.9
avwkt | mg/1 | 0.80 | — o2 | — |09 | — | 100 — [ t29| — [ 1.29]0.58 ] 0.9
avrk | mg/t o080 = oo | ~= Jos | — 1| = [13| — [n.3i]070] 0.9
29>k | mg/l | 0.103 ] 0.12210.097 | 0.120 ] 0.104 | 0.103 | 6.095 | 0.077 | 0.154 | 0.093 | 0. 161 | 0.068 | 0. 112
goandst | wg/l [0.005] — (o005 — Jo.us| — Jo.082] — Jo.r135] — [0.148]0.075 ] 0.108
wusan i [ we/U 0007 — Jo.07] = Joa27] — o105 = Jo4z| — [o.143]0.073]0.110]
COD LK mg/1 | 6.55 | 6.38 | 7.22 | 6.69 | 8,52 | 8.39 | 6,33 | 6.31 | 7.59 | 6.38 | 8.62 | 5.89 | 7.09 |
cobik mg/1 | 5.99 — [788] — [7.8 | — [607| — 720 — [7.8]599] 6.8 |
cOD K ng/l | 6.43 — 7.99 — 7.89 — 6. 83 — 7.57 — 7.99 | 6.26 | 7,07 |
AW kR T - - - - —~ - - - — — \
i) ¢ 282 ] 2.4 ] 25.3 ] 234 17.5 [ 17.1 ] 16.2 | 15.3 | 1.5 | 10.2 ]
0.5m|] T | 28.2 | 27.4 | 2.3 ] 234 17.5 [ 17.1 | 16.2 | 15.3 [ 11,5 | 10.1 ]
om| C (282 [ 27,4 [ 253 1 234 175 [ar | 6.2 ] 15,3 | 115 | 0.1
2.0m| C | 28,2 [ 275 | 25.8 [ 233 [ 7.5 | 1m0 [ 16,2 | 15.3 | 1.5 [ 10.1
3.0m| € | 282 21.5 [ 2.3 288 [ 115 [ 0] 16.2 [ 15.3 ] 11,5 ] 10.1
tom| C | 28227502531 283 .5 | 170 ] 16.2 | 15.3 | 11.6 | 10.1
5.0m| -C | 282 27.5 [ 25.3 | 983 [ 17.5 [ 170 [ 16.2 [ 153 | 11.6 | 10.1
6.0m| T — - — |3 ne 10162 [ 15.2 | 1L7 | 10.1
peil) C (282 2r5 [ 253 1 @33 a6 Jar. 0 ] 6.2 ] 15.2 ) 1.7 ] 10,1
#DQ K| mg/l — — — - - — — - - -
il me/V ] 7.8 1 6.9 | 9.7 1 661 88 ] ot [10.3] 9,2 ] 9.6 (118
0.6m| mg/1 | 7.7 | 6.9 | 9.8 | 6.5 | 88 | 9.1 | 10.3] 9.2 [ 9.5 [ 11.8
fom| mg/t | 7.7 | 6.9 | 9.7 | 6.6 | 88 | 9.1 [ 10.3] 9.2 | 9.5 | 1.8
7.0m| mg/t | 7.7 | 6.9 | 9.7 | 6.6 | 8.8 | 9.1 [ 10.1 ] 9.2 | 9.5 | 11.7
3.0m| mg/l | 7.7 | 6.9 | 9.5 | 6.6 | 8.8 | 9.0 | 10.1] 9.1 | 85 [ 1.7
Aom| mg/l | 7.7 | 6.6 | 9.4 | 6.6 | 8.8 | 9.0 [10.0] 8.0 | 9.4 | 117
5.0m| me/l | 7.6 | 6.6 | 9.4 | 6.6 | 8.8 | 9.0 | 9.6 | 9.0 | 9.3 | 11.6
6.0m| mg/1 | — - —~ |65 ] 87 ] 9.0 98 [ 89 ] 9.3 [116
werii| me/l | 7.8 | 6.6 | 9.4 | 6.5 | 8.7 | 89 | 9.8 | 8.9 [ 8.3 [ IL.6
A k1| Lux | 67400 | 47400 | 29410 | 8050 | 6560 [ 9730 | 30400 | 67500 [ 6440 | 68400
Ziti] Lux | 49500 | 41400 | 15970 | 5200 | 3930 | 4900 | 26250 | 40800 | 3550 | 54700
0.5m| Lux | 16860 | 13550 | 2000 | 1699 | 1264 [ 1201 | 8540 | 14380 | 267 | 13140
1.om| Lux | 4840 | 4990 | 1122 | 288 | 150 [ 345 | 3530 | 4370 | 57 [ 2759
2.0m| Lux | 505 | 406 | 160 | 34 10 18 | 494 | 768 2 220
3.0m| lux | 53 38 23 3 { 2 105 | 140 0 16
1.0m| Lux 6 0 4 0 [ 0 0 20 27 — 0
5.0m| Lux | — 0 0 - 0 3 6 - - ]
6.0m| Lux - - — 0 - 0 0 0 - — ]
Jéifi]  Lux - — - — - - - — — —
welei LORP | my | 128 | 204 [ 106 | 207 [ 77 | 186 | 89 [ 213 | 284 | 221
i * DOWRDOF Ik 5l kis




HABRERRRK (£01)

REHRL - EBH ‘
v v v v v v v v v v v v
min IR '

16 | 127 | 2/6 | 226 | 32 | 3/16 | 4113 | 423 | SM3 | S5/25 | /15 | 6/25 | 7/6 | 7/20 | 8/3 | 8M7 | 914 | 9/28 | 10718 | 10726 | 11/ | 1116 | 129 | 12721 | B | He/ M| S84 FRAE | s M| 51
5B L2178 ES N i
pH —| 7 | 788 | 778 | 804 | 801 | 809 | 866 | 807 | B21 | 807 | 825 | 807 | 834 | 820 | 825 | 898 | 777 | 7s1 | 812 | 7 | 847 | 872 | 864 | 8s2 | s34 | 747 | s pH — | 920 | 787 | 845
con mell| 595 | 642 | 646 | 663 | 740 | 711 | 820 | 936 | 7.29 | 689 | 626 | B26 [1291 1026 | 1406 (1234 | 921 | 805 | 741 | 665 | 7.01 | 668 | 642 | 645 | 1406 | &35 | 820 COD | mefl [1234 | 642 | 7.9t
TAtECOD mel| 383 | 429 | 467 | 445 | 497 | 484 | 391 | 497 | 445 | 383 | 460 | 466 | 540 | 708 | 741 | BOO | 763 | 675 | 593 | 519 | 643 | 491 | 452 | 465 | €00 | 383 | £33 smncos| med | 8.00 | 3.83 [ £21
L FHECOD * men| 202 | 213 | 179 | 218 | 243 | 227 | 429 | 430 | 284 | 306 [ 368 | 360 | 751 | 318 | 665 | 43¢ | 158 | 230 [ 148 | 148 | 0ma | 177 | 150 | 1.0 | 761 | oms | 287 wincoss| mpfl | 434 | 446 | 270
ES] mgh|105 (105 |110 |115 [150 |150 |215 [247 |127 |120 |124 |136 |26 | 90 |25 (180 [122 |25 (105 |80 |66 |76 |88 |82 [247 | e |n7 ss mell (216 | 76 [130
AHLIRRR mgh| 44 [ 53 | 40 [ 44 | 69 |69 [ 76 |83 |66 | 56 71 76 |120 | 87 |25 [105 [ 90 | 82 | &1 50 | 66 | 58 | s1 51 |12 | 40 | 74 s | med | 106 | 44 | &7
RIS (me | 30 | 38 | 31 37 | 45 | 46 |42 |43 | 41 41 36 |45 | 45 |55 |55 |70 |40 [30 |48 |45 |50 |32 | 31 36 |70 | 30 | 42 b rmuzr [ mgn | 7.0 30 | 43
R FHEATRIBIR TR * | mg | 1.4 14 08 07 24 23 34 40 25 15 3s a1 75 az 70 as 50 52 12 04 16 26 20 15 785 0.4 28 e marmse megl | 62 0.4 24
e mgl| 061 | 063 | 059 | 0.67 | 067 | 062 | 081 | 088 | 072 | 0.84 | 110 | 148 | 235 | 152 | 207 | 162 | 165 | 202 | 1.65 | 1.82 | 178 | 154 | 158 | 161 | 236 | 0.63 [ 1.29 WAZEFE| men | 202 | 062 | 127
AR R mgh| 038 | 032 | 031 028 | 029 | 038 | 034 | 032 | 027 | 039 | 056 | 039 | 053 | 098 | 059 | 0.7% 160 | 145 147 | 166 |.157 | 136 | 144 | 149 | 186 027 | o080 fameza= | mgd | 1.6 028 0.81
ATHRIRRTA mgA| 057 | 058 | 052 | 067 | 082 | 056 | 090 | 0.68 | 078 | 084 | 196 | 1R | 235 | 134 | 198 | 162 114 | 073 | 070 | 0S80 | 068 081 | 236 | o6z | 088 o | med | 162 | 0.68 [ 0.96
[ ARMEATHE AR |me| 038 | 030 | 030 | 028 | 035 | 038 | 022 | 030 | 027 | 038 | 055 | 036 | 051 | 064 | 045 | 065 | 077 | 056 | 050 | 047 | 067 | 045 | 047 | 041 | 077 | 027 | 048 focomcse | men | 068 | 028 | 043
TR ERSE A % [med| 019 | 028 | 022 | 039 | 026 | 02D | 056 | 058 | 052 | 046 | 061 1.16 184 [ 070 | 153 | 087 [ 012 | 058 | 023 | 023 | 023 | 022 | 016 | 040 | 184 | 0.12 | 0.8 fosimsnss [ mpa | 145 | 0.20 0.61
7 E= G AIERERE [men| 000 | 002 | 001 | 000 | 003 | 000 | 002 | 001 [ 000 | 001 | 001 | 003 | 002 | 034 | 006 | 005 | 016 | 010 | 062 | 005 | 002 | 004 | 002 | 002 | 034 | 000 | 004 - - | mgd | 034 | 0.00 | 0.08
ERTIRAE R mgl| D.00| OO00| 0.000| 0.000) 0.000| 0000| DOCO| DODOR| 0003 | O.003| 0.001| 000 | 0003 | D.OO2| 0.002| 0001| 0.018| 0024 | 0.016| 0031| 0.035| 0032| 0.033| 0030| 0.036 | 0.000 | 0.010 osme=x | mgd | 0.032| 0.000| 0.010
RSERTREEAE megfl| 000 | 0.00 | 000 | 0.00 | 000 | 000 | 00O | 0.01 0.00 | 0.00 | 000 | 0.00 | 00O | 00O | 008 | 0.00 | 065 [ 078 | 083 | 1.1 084 | 083 | 092 | 103 | 111 0.00 0,30 masek | mgd | 111 0.00 031
MEBEIBEEE mgl| 000 | 002 | 001 | 000 | 003 [ 000 | 002 | 002 | 000 | 001 [ 001 [ 003 | 002 | 034 | 094 | 006 | 083 | 090 [ 097 | 149 | 080 | 050 | 087 | 108 | 143 | 000 | 036 aeses | mea | 119 | 0.00 | 038
[N mgA| 00S3| 0.051| 0.048| 0052| Q050 | Q.061| 0.085| 0.088| 0079 0078 [ Q.081| 0.104| 0214| 0212| 0.422| 0477 | 0291 | 0482| 040s| 0.086| 0.071| 0.058| 0.059| 0055| 0477 | o0.045 [ 0.128 Y | men | 0477| 0.081| 0.426
AR mgh| 0011| 0011 | 0007| 0.00S| 0.005| 0010 0015| 0019| 0020| 0017 | 0.025| 0019 | 0.040| 0.156| 0292 | 0373 | 0253| 04125| 0.062| 0044| 0.019| 0.017| 0025| 0.014| 0379 0.006 | 0.085 amoass | med | 0379 | 0.008 | 0.068
HLFAEREY L mgl| 0042 0.040| 0041 0043| 0.055| 0051 | 0.071| 0.069| 0.0S3| 0.061| 0056| 0.085| 0.174| 0.0S6| 0.130| 0.083 | 0.088| 0057 | 0044 | 0.042| 0052 0042 0.034| 0041| 0.474| 0034 | 0.052 areens| mgl | 0.098| 0.040| 0.067
[t ALY BA8)> | mgh | 0,000 | 0.000| 0000 0.000| 0000| 0.000| 0O002| 0003 | 0.007| 0003 0003| 0004| 0033| 0421 | 0266 0336 0212| 0.109| 0043| 0.031| 0004| 0.007| 0002| 0003 | 0336 0.000| 0,050 e | mga | 0336 | 0.000 [ 0,051
T4 A wehl240 |350 |26 (303 |414 (288 |551 l|ese (335 [sse |eos |48z (2s23 |45 losse (1334 (z8 (524 (415 (a1 [ss4 |s514 |48 453 823|218 |ses ooz pgh 1482 | 283 |81
sa074/h ugl| 07 |06 | 03 |00 |04 [00 |49 |45 |26 |04 | 06 | 01 03 |00 |25 |o7 |13 |03 |05 [00 (08 (07 |09 |04 | as 0.0 1.0 ooz | ugl | 49 00 | o7
ot e ugh| 34 |52 | 23 | 76 [ 72 |46 [154 |1589 |90 |10 |27 (68 |18 |08 | 11 32 | 01 48 07 | 01 29 | 04 |07 |48 |48 01 | 47 poaroe| ugn | 164 | 04 54
Tt T4 FV ugh|218 | 31 | 117 |185 (256 13 |28 |23 |10 |23 | 47 118 |167 | 69 |192 (284  [166 (188 |154 |146 (178 (202 |28 |76 [284 | 13 [41e5 arrers | ngh |284 | 13 [ 160
HELEDORER* |mgl| 057 | 0.0 | 053 | 067 | 065 | 058 | 092 | 090 | 078 | 085 | 147 | 155 | 237 | 168 | 212 [ 168 | 172 | 204 | 170 | .89 | 180 |- 156 | 160 | 189 | 297 | 0.& | 138 rarsess | mea | 204 | 068 | 133
2—MIB ngh| 6.000( 7.000| 7.000 | 13.000 | 18.000 | 23.000 | 73.000 (130,000 | 21.000 | 10.000 | 45.000 | 33,000 | 12000 | 6.000 [ 4.000| 7.000| 0.000 | 3.000| 4000| 2000| 5000 7.000 | 66.000 |140.000 [140.000 | 0.000 | 26,876 2—MB| ng/l [160.000 | 2.000 | 27.006
AR ng/l | 32000 | 16,000 | 22.000 | 21.000 | 25.000 | 21,000 | 80.000 | 52.000 | 43.000 | 16.000 | 11.000 | 28.000 | 12.000 | 11.000 | 20600 | 21.600 | 11.000 | 2000 | 5000 | 3,000 | 16,000 [ 23,000 | 30.000 | 65,000 | 80.000 | 2.000 | 23,708 orxzs| ng/) | 80.000 | .2.000 | 26.583

1) VEIOWIER (W TR L SR,

T2) * ENOFLR (IR0 T L) R,
FFHECOD (P-COD) = (COD) — (D+COD)
BFREATHIRLGE (P-TOC) = (TOC) ~ (D-0C)
BRI (D-T—N) =(D-0O—N) + (I—N)

BTFHEATHIBEER (P-O—N) = (T-0—N) — (D-0O—N)

TERMIRIETE (1—N) = (NH,—N) + (NO,—N) + (NO;—N)
HIFHEREY (PT—P) = (T—F) — (D-T—P)
HF LOREFH (T—N) = (I—N) + (0—N)

TERX165(20045F)




PEHRAL BB

A

PRE AR RAR (£ D2)

SRR 164E(20044F)

v v - v v v v v v v v v v
WA
16 127 2/ 226 32 316 | 413 | 423 513 S5 615 625 76 7120 &R 817 9/14 | 9/28 | 10/19 | 10726 | 11/9 | 11116 | 1219 | 12721
A AL
ERK RS i34 IRIRL] 14:42 9:41 12:03 112 14:38 15:24 9:02 8:30 14:09 10:58 1310 11:14 12:54 9:46 12:46 10:28 12:50 10:38 11:53 10:00 1415 8:42 13:40
g - B 2 % Wt & & = 2 i i w 2 ] £ & =3 k) ] m m & 2 2
=S¢ m 6.54 6.38 524 635 638 649 6.56 6.48 621 6.56 6.71 624 638 630 828 648 6.74 6.48 6.44 6.45 6.48 6.62 6.28 6.62
Eiwi m 0.50 0.50 0.50 0.50 0.50 0.50 0.50 0.50 0.50 0.50 0.50 0.50 0.50 0.50 050 050 0.50 0.50 0.50 050 0.50 050 050 050
SRR T 84 7.5 6.0 153 59 14.1 9.9 121 246 208 285 24.8 355 438 3.2 215 3.8 205 175 152 19.3 188 109 125
FERA B m 085 | 085 0.79 0.59 .57 0.59 0.52 0.50 051 0.56 052 0.56 0.46 091 038 0.55 0.50 057 0.73 0.34 0.99 0.89 078 081
Rl - 7 19 18 17 18 17 18 18 18 18 17 17 17 bt} 18 17 18 17 18 16 17 17 17 16
] . - | el | RAE | RO | RAX | KO (| R | FRAR | FRAR BROE [ TRAR | #RAT | IRJ0D | PRET | KRLED | FROF N MPals| BRI | TR | TR St S | PR
L -1 =ER iz 2 223 R R p: 2N pi2=3 R R R AR | bR OAORSL) PTG AU R WU R R \WHTR] BR | WHATR| BR
EEXMORP (mv| 28 184 149 136 153 145 166 121 ) 128 160 15 135 | -316 76 112 218 165 198 | 122 21 133 201 18
EREE cm | 200 205 265 20,4 21.0 20.5 152 16.0 210 216 18.0 210 15.0 34.0 15.0 22 155 2.5 358 35 w2 30.5 27,0
il | T 7.1 45 53 9.4 8.0 103 145 7.1 18.6 19.6 25.0 256 22 30.7 2.1 29| 267 22.9 179 17.1 1.6 16.2 123 100
0.5m| T 71 45 53 9.4 8.0 103 s 1 18.6 19.5 248 256 26.1 07 29.1 28.0 267 229 179 17.1 1.6 162 123 100
1.0m| T 71 14 5.2 9.4 80 103 145 1 186 193 236 256 259 292 20.0 28.0 26.4 2.9 179 1.1 175 161 123 9.
2.0m| T 71 14 52 89 80 103 145 7.0 18.2 184 219 256 255 28.5 2.8 219 26.1 X 179 17.1 175 161 123 9.6
X A |2om| € 7 14 52 88 8.0 103 145 17.0 182 7.8 216 253 25.4 28.1 287 217 259 229 1.8 179 7.4 16.0 123 9.6
4.0m| T 70 44 52 8.7 79 10.2 148 169 17.8 i 215 25.0 253 28.1 28.7 25.7 29 17.8 pEAY 7.2 16.0 12.3 9.5
5.0m| T 7.0 44 52 8.7 7.9 10,1 145 16.7 17.8 171 209 2x7 25.3 273 28.7 216 256 229 1.7 171 7.2 15.9 123 9.5
6.0m |'C 7.0 44 5.2 87 7.9 9.8 145 16.6 178 173 208 243 252 265 28.6 276 255 229 1.7 17.1 172 16.0 12.3 9.4
G| T 7.0 44 5.2 87 79 9.8 145 16.6 178 171 208 243 252 265 2.6 206 25.5 2.9 .7 1.1 17.2 16.0 12.3 9.4
£ |mgd| 112 13, .2 124 i.4 12,0 10.4 10,0 10.0 116 121 10.6 5 10.1 1y 10.5 19 59 4.0 84 1 109 114 10y
0.5m|mg| 111 12.9 83 124 115 123 10.5 100 100 L5 12.2 10.6 11 10.1 1.7 106 19 5.9 9.0 84 116 108 114 109
1.0m|mgh| 110 129 83 123 115 122 105 9.9 100 a7 10.6 .9 a5 114 102 1.7 59 9.0 8.3 115 108 114 109
2.0m|mgd| 111 128 83 123 114 122 104 9.9 9.9 1L4 8.4 10.5 87 56 9.0 87 44 59 89 83 1.3 10.5 105 10.8
DO |3.0m|mgd| 111 128 83 121 1.z 123 105 9.8 9.9 114 76 9.5 83 34 7.8 5.6 4§ 5.9 86 83 12 103 105 108
(DO? |4.0m|mgl]| 110 2.7 8.0 1.3 1.1 12.1 104 9.9 9.9 1.4 6.0 7.5 7.8 28 7.3 4.1 4.6 58 85 83 K 10.1 10.6 107
iTh3) |5.0m|mgl| 108 126 79 108 111 1.9 103 9.6 9.8 1.3 23 5.7 7.3 0.0 7.0 35 47 58 85 B2 111 9.7 10.6 10.6
6.0m|mga| 105 [F3 7.8 103 e | e 0.2 a1 a8 ua X} 46 LATRIN ¥ 63 | 38 15 | 58 8.4 2 108 X 0.8 10.5
IS [mgh]| 103 124 7.6 103 10.9 119 102 88 98 113 1.2 46 5.9 0.0 5.3 2.8 45 58 84 7.9 108 96 10.6 105
G |Tux| 28900 | 10300 | 3,360 | 62,800 | 6510 39,800 [ 10,360 | 4,020 ,210 | 61,300 [ 15R40| 4870 3,670 [ 68,900 780 | 7,200 | 27,410 | 4,820 1400 | 4,180 [ 27,900 | 8020 2018 4045
0.5m|Lux| 17,900 | 6030| 1080 | 32,200 2,630 21,830 | 5250 1582 5080 33500 | 2130 1,331 471| 38,700 564 | 1497 | 6,600 1,051 386 | 2218 10,920 | 4030 L,001| 1,842
1.0m|Lux| 4290 | 3.420| 1210| 23340 m| 1210| 2160 983 [ 1Ll131| 17,140 218 341 16| 14,050 111 362 811 201 s2| Lus| epl0| 172 220 842
2.0m|Lux| 1802) 1,135 455] 6520 %3] 3220 38 21 24| 5310 21 27 0| 2425 2 §7 67 2 n 221 674 549 50 304
7k th fRAE| 3.0m [ Lux 584 ‘404 | 2,194 63 1,002 52 26 103 1,354 3 1|~ 484 0 17 § 2 2 52 159 170 pH 182
4.0m| Lux 173 181 15 606 2 269 Il 0 40 383 0 0 13 |- 0 0 0l- 14 52 50 1 H
5.0m| Lux| 71 ™ 3 181 ] % 0 3 |- - 55 |- - - 3 15 14 0 5
6.0m| Lux 29 # 7 |- 22 - 28 - 0 2 -
JE | Lux

)
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TEREIR B AERERE

(FD1)
ERLIELAGH  HHE
WO % B |G| EE (S|SB R B B e | e | g | JRE ) REE ) EEE ) EEE |
, FUAR I | FUAR U | FURR) ] | FUFR 1
B4 H BT AR M A TR R | S D) sou | BRAEDH R R SR R E R ks | B BT WA
HE BAr | 9/ 2/6 2/6 2/6 2/6 2/6 | 2/6 2/6 2/6 2/6 2/6 | 2/6 | 2/6 2/6 2/6 2/6
ARITLCD | meg/1 §40.001] — — — 1<0.001<0.001] — 1<0.001] — 1<0.001]<0.001] — [<0.001/<0.001] ~— —
227 2 (CN) mg/l 1<0.01] — — — 1€0.01/<0.01] — [<£0.01] — 1<0.01]<0.01, — ]<0.01/<0.01] — —
 (Ph) mg/l |<0,001] - — — [€0.001/<0.001] — [<£0.001] — [<0.002[<0.002] — [<0.002/<0.002] — ~
FES0L(Cr (VD)) mg/l 1<0.01] — — — 1<0.01]<0,011 — 1<£0.01F — 1<0.01,<€0.010 = 1<0.011<0.01 — —
3% (As) mg/l §€0.001] — — — 1€0.001/<€0.001] — ]£0.001] — [<0.001]0.001 — [£0.001]<0.001] — —
#87K 88 (T-He) mg/1 {<0.0005] — — — |<0.0005[<0.0005| — ]<0.0005] — [<0.0005|<0.0005f — |<0.0005|<0.0005| ~— —
PCB ng/1 f<o.0005] — — —  1<€0.0005|<0.0005] — [<0.0005] — 1<0.0005)<0.0005] — |<0.0005]<0.0005| — -
M yooIFly mg/l V<o 0002 — - —  1<0.00021<0.0002) ‘— 1<0.0002] — 1<0.0005|<0.0005F —  1<0.0005]<0.0005| — -
7 h3yonxfhy mg/l f¢o.0002] - - ~ 1€0.0002/<0.0003] — |<0.0002] — |<0.0005]<0.0005] — |<0.0005|<0.0005 — -
Mk R mg/l f<o.0002] — — — 1<€0.0002[<0.0002] — |<0.0002)] — [<0.0002|<0.0002] — [<0.0002|<0.0002] — -
' juniyy mg/l |<o.0002| — - — 1<0.0002<0.0002]  — [<0.0002f — ]<0.0002[<0.0003] — |<0.0002|<0.0002] — -
1, 2-¥ puoryy mg/l 1<p.0002] — - —  1¢0.0002]<0.0002] — 1<0.0002] — 1<0.0002<0.0002) — ]<0.0002)<0.0002] — -
1,1, 1-Myooxyy | mg/l j<.o002| — - — 1<0.0002]<0.0002] — |<0.0002) — ]<0.0005|<0.0005] — |<0.0005]<0.0005| — -
1.1.2-Myonxsyy ng/t <p.0002] — — — 1€0.0002(<0.0002] — [<0.0002] — 1<0.0002/<0.0002] — |<0.0002]<0.0002] ~— -
1, 1-¥ J00Ifhy ng/l 1<p.0002 — - —  1€0.0002]<0.0002] — 1<0.0002] — ]<0.0002]<0.0002] — |<0.0002]<0.0002] ~— -
YA-1,2-y hmorfly | me/l §<o.o002| — - —  140.0002]<0.0002] — 140.0002] — ]<0.0002]<0.0002] — 1<0.0002]<0.0002] — -
1,3-¥ 907707 7 | me/l <000 — - — 1<0.0002]<0.0002] — <0.0002] — |<0.0002<0.0002] — |<0.0002]<0.0002] — -
FUI L ng/l f<0.0005] — - — 1<0.0005]<0.0005| — [<0.0005] — |<0.0005]<0.0005] — 1<0.0005/<0.0005, — -
IR ng/l f<o.0002] — - — [<0.0002)<0.0002] — [<0.00020 ~ |<0.0005<0.0005] — 1<0.0003 <0.0005| — —
N UHVT ng/l h¢p.o002)  — - —  140.0002]<0.0002] — 1<0.0002f) — 1<0.0005]<0.0005] — |<0.0005/<0.0005] — —
> ng/l f¢o.0002| — - — 1<0.0002/<0.0002] — [<0.0002] — [<0.0002]<0.0002] — [<0.0002]<0.0003] — -
> ng/l 1<0.001] — — — 1€0.001]<0.001] — 1<€0.001) — |<0.001]<0.001] — [<0.001]<0.001] — -
(NO2+NO3) -N mg/1 10.469(0.387(0.326/1.268]0.476]0.246]0.275/0.14610.213/0.000]0.00000.914]0.184)0.043]0.03310.9243
K ng/1 |} 0.11 — — — 0.10 ] 0.12 — 0.12 — 0.1 0.1 — 0.1 0.1 — —
L neg/l | 0.03 — — — 0.03 | 0.03 — 0.04 — 0.05 | 0.04 — 0.03 | 0.05 - -
EPN mg/l 1<0.0005] — — — 1<0.0005/<0.0005| ~ [<0.0005] — |<0.0005]<0.0005 — |<0.0005<0.0005] — —

fia




REFERAEHRE (Z0OD
SERRIGESH3H AR

WOl % O\ T | i || Ao | o | o || KR | R R e
BRI £ 55 R MR A R S I I RS TR O moown | R A Rl R | 2 i ?ﬂ?’gﬁﬁiﬁﬁ P S N b A = VAN
EHHE BAL ) 8/3  8/3 | 8/3 | 8/3 | 8/3 | 8/3 | 8/3 | 8/3 | 8/3 | 8/3| 8/3 ) 8/3 | 8/3| 8/3| 8/3 | 8/3

ARITACD mg/l §<0.001] — — | — 1£0.001 €0.001] — |<0.001] ~— |<0.001]<0.001] — 1<0.001/<0.001 — —

227N ng/l 1<0.01] — = — 1<0.01]<0.01| — 1<0.01] — [<0.01]<0.01% — 1<0.01(<0.01| ~— —
“ & (Ph) mg/l | 0.001 ~ - — |<0.001( 0.001 - 0.001 — [£0.001/<0.001 — 0.001./<0.001] =— —
FAEIDACr (VD)) | me/l §<0.01| — — — 1€0.01]<0.01] — [<€0.010 — 1<0.01]<0.01] — [<0.01/<0.01] — —
5 (As) mg/l [<€0.001] — — —  1<0.001] 0.001 - 0.001 — 0.006 | 0.007 — 1 0.002]0.002 — —
Fa7kER (T-He) mg/1 §<0.0005| — - — |<0.0005) <0.0005] —~ [<0.0005F — |<0.0005]<0.0005] — |<0.0005]<0.0005] — —
PCB mg/l {<o.0005] — - — [<0.0005/<0.0005] — <0.0005] — [<0.0005|<0.0005§ — 1<0.0005|<0.0005] ~— -
MyooIFly ng/l |<0.0002) — - — l<0.0002{<0.0002] — |<0.0002] — [ <0.0002]<0.0002] — |<0.0002|<0.0002] - -
FhIhOoIFLy mg/1 |<o.0002, — - — [<0.00021<0.0002] — 1<0.0002) — ]<0.0002[<0.0002] — [<0.0002[<0.0002] — —
MR mg/l <o.o002] — - —  [<0.0002(<0.0002] — [<0.0002] — <0.0002]<0.0002] — ]<0.000%]<0.0002] — -
¥ ynnigy mg/l {<o.0002] — - —  <0.0002(<0.0002] — [<0.0002] — |<0.0002<0.00020 — |<0.0002)<¢0.0002] — | —

1, 2-¥ Jooxyy ng/l {<o.0002| — ~ —  1<0.0002]<0.0002] — 1<0.0002] — [<0.0002|<0.0002] — |<0.0002]<0.0002] — -
L1, 1-Myonzs’ | mg/l f<o.0002] — - —  1<0.0002[<0.0002|. — 1<0.0002] — [<0.0002]<0.0002] — [<0.0002]<0.0002] — -
1. 1. 2-M¥onzs> ng/l j<o.o0002] — - — 1<40.0002(<0.0002| — 1<0.0002] — |<0.0002[<0.0002] — |<0.0002|<0.0002] — —
1, 1= JonxFly ng/l J<o.0002] - = —  140.0002<0.0002] — ]<0.0002] — |<0.0002|<0.00021 — |<0.0002|<0.0002] — -

yA-1,2-¥ yooxfly | me/l {¢o.o002| - — — 1€0.0002/<0.0002] — 1<0.0002] — 1<0.0002[<0.0002] — [<0.0002|<0.0002] ~— —

L3-y"ymm7 oAy | me/l J<o.0002] — - —  [<0.0002|<0.0002] — [<0.0002] — |<0.0002|<0.0002] — |<0.0002|<0.0002] — -

FUZ L g/l 1<0.0005| — - — 1<0.0005[<0.0005] — 1<0.0005] — |<0.0006]<0.0006) — |<0.0006]<0.0006] — -
PRT> ng/1 J<0.0002] — - — 1<0.0002]<€0.0002| — [<0.0002{ — [<0.0003]<0.0003] — |<0.0003]<0.0003] — -
FAX ST og/l J<o.0002| — — —  1<0.0002]<0.0002] — [<0.0002] — [<0.0003|<0.0003] — |<0.0003]<0.0003] — —
oy og/l 1<o.o002| — | — —  1<0.0002)<0.0002] — |<0.0002] — [<0.0002[<0.0002] — |<0.0002]<0.0002] — -
vl ng/l 1<0. 001 - — — 1£0.001]<0.001 - 1€0.001} — [£0.001]<0.001] — 1<0.001(<0.001 - —

(NO2-+N03) -N ng/l 10.536)0.496|0.406]0.150(0.130]0.324/0.345]0.137}0.132/0.082]0.00310.316/0.187/0.2140.14810. 937
L mg/l | 0.16 — — — 0.16 | 0.18 — 0.17 — 1€0.02/<0.02, — 1<0.02/<0.02] - —
TIE mg/l | 0.04 — — — 0.04 | 0.04 — 0.05 — 0.05 | 0.07 — 0.07 | 0.07 — —
EPN ng/l 1<0.0005] — — —  1<0.0005[<0.0005] — [<0.0005) — |<0.0006|<0.0006] — |<0.0006)<0.0006] — —

fi5#
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